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1| #Ex# TR E G S 118.7417 | 34.55014 | 2.1 2 4 17 6 65 18 / -50/10 0/100 AR I 65 B AT BBU+RRU| K% FJ7 55 [4.5 2 |12H1H

2 | Exi 119.127939 | 34.503746 [ 2.16 2 8 17 6 65 30 / 9/8 0/125 b M TN (X BB PE U A 250K 35K AT RY BBU+RRU| RZK T 7 55 [4.5 = (12111

3 | #Exik 119.1498 | 34.57055 | 2.1G 2 4 17 6 65 30 / 0/10 0/130 XA IR 11165 #5250 7T AT BBU+RRU| K2 FJ7 55 [4.5 2 |12H1H

4 | &R 118.871412| 34.594028 | 2.16 2 4 17 6 65 18 / 3/3 0/150 R SRR RN iR s BBU+RRU| K4k 77 55 4.5 & 12§11

5 | #Exik S ".#M};{ZS && 118.7475 | 34.51815 | 2.1 3 4 17 6 65 102 / 20/50/40 0/0/15 JRIMGF M 523 5 B AT BBU+RRU FJ7 55 [4.5 2 |12H1H

6 | Exnil HK S PE #0145 1 R 118.759 34.54197 3.56 2 8 17 6 65 37 3 13/13 0/170 B i T A L K e #8145 e BBU+RRU 55 4.5 & 12§11

7 | ERE | BHX W5 5 5 B2 S % 119.1266 | 34.8551 | 2.1G 2 4 17 6 65 18 3 20/20 0/180 ki ) 5 BE2 S B SHT S |BBUSRRY 55 |45 g [12/11

8 | Mz | WS i RURLA R4 5 1 119.3603 | 34.10851 | 2.1G 2 4 17 6 65 54 / 20/20 0/180 i RURLA R4 SR BBU+RRU 55 [4.5 = (1211

9 | Exit | EHX L 119.115 | 34.86086 | 2.1G 2 4 17 6 65 10 / 3/3 0/180 2 T X 5 S BRI BBU+RRU 55 |4.5 2 |1201H
10 | Exl | ERX XA AR 119.1971 | 34.69032 3.56 3 8 17 6 65 37 / 6/6/6 0/100/195 Z XK Lk 225 ARH BBU+RRU 55 4.5 & 12§11
11 | x| A RHEEL I TR 118.44 34.585 2.16 3 4 17 6 65 40 / 3/5/4 0/100/195 bt ) BBU+RRU 55 |4.5] g [12/11
12 | #Ezi | EaX 119.3687 | 34.52301 | 2.1G 1 4 17 6 65 10 / 3 50 ik 1) BBU+RRU 55 [4.5 = (12111
13 | x| BiX _ 119.0383 | 34.76915 | 2.1G 3 4 17 6 65 44 / 8/9/8 0/100/220 7 BBU+RRU 55 [4.5] & [12/1H
14 | Exml | xR WEE_FEAMEE S J 119.3327 | 34.34238 2.16 3 4 17 6 65 38 / 6/6/6 0/100/255 urﬂé‘r«#rh N ZE4HAE 10K BBU+RRU 55 4.5 & 12§10
15 | &zt | #RL HEZ LR MARPSINRIEE S 119.2578 34.4395 2.16 3 4 17 6 65 40 / 9/9/11 0/100/260 [z 117 2 LL [ U A P 9 160 BBU+RRU 55 4.5 R 12H1H
16 | x| X LA PN 119.1171 | 34.85941 | 2.1 2 4 17 6 65 10 / 3/3 0/180 ez s e X T ORI Y BBU+RRU 55 [4.5 & [12A1H
17 | &=l | X Jei /N X 1651 119.1891 | 34.58509 | 2.1 2 4 17 6 65 30 3 5/5 0/180 T RN X R 165 H BBU+RRU 55 4.5 3 12H1H
18 | iz | Al FilEE RS E Bl 118.70303 | 34.60969 2.16 3 4 17 6 65 48 / 6/9/6 0/100/260 BBU+RRU 55 4.5 & 12§10
19 | iz | Al GEL AN R 118.75444 | 34.617082 | 2.16 3 4 17 6 65 43 / 5/5/6 0/100/265 Ex BBU+RRU 55 |4.5] g [12/18
20 | Exits RN e 119.2475 | 34.47803 | 2.1 2 4 17 6 65 30 3 5/5 0/180 TEANLS B BBU+RRU 55 [4.5 = [12/11H
21 | iz LB \igsig 118.831 34.388 2.16 3 4 17 6 65 47 / 4/5/5 0/105/220 gL L BT A 42 BBU+RRU 55 |4.5] g [12/18
22 | Eni [X_HiHUNASE 119.1793 | 34.44583 2.16 3 4 17 6 65 30 / 7/5/5 0/105/240 HIXHIUNEEIRM 30K BBU+RRU 55 4.5 & 12§11
23 | iz 119.2364 | 34.48302 | 2.16 2 4 17 6 65 30 3 5/5 0/180 bRl B 1SR HEE BBU+RRU 55 |4.5] g [12/11
24 | Exits | MR 119.314 34.113 2.16 3 4 17 6 65 40 / 10/10/10 0/105/285 AR E U S A L R BBU+RRU 55 [4.5 = (1211
25 | x| FRilgs 118.7406 | 34.49961 | 2.1 3 4 17 6 65 28 / 4/4/4 0/110/200 P 2 T A L 5 BRI 2 T AR LR BBU+RRU 55 [4.5 s |12H1H
26 | Exit | XX 119.36 34.68956 | 3.5G 2 64 8 25 90 30 / 5/5 0/180 ErEHERXIFRXL SRS BBU+RRU 35 7 = [12/11H
27 | i [ sn 119.203 | 34.24635 | 2.16 3 4 17 6 65 30 / 8/5/5 0/110/210 I i = LA A I g% | BBURRU 55 |4.5] g [12/18
28 | Enit | #nE 119.353 34.311 2.16 3 4 17 6 65 40 / 4/3/3 0/110/220 WRE FERE R G = BBU+RRU 55 4.5 =2 12/11H
29 | iz | Al 118.522652 | 34.500134 | 2.16 3 4 17 6 65 55 / 7/8/9 0/110/220 i g fiiNSE | BBU+RRU 55 |4.5] g [12/18
30 | iExits | dEEE 119.351 34.144 2.16 3 4 17 6 65 45 / 3/3/3 0/110/225 Gai ki BBU+RRU| ALK 7 55 [4.5 = [12/11H
31 | x|l i) 119.1594 | 34.59026 | 3.5G 2 64 8 25 90 30 / 5/5 0/180 Mm’fﬁﬂ.w%' ST V=R BBU+RRU| SEMR AL 35 7 2 |12H1H
32 | Ezmit | #WHX it um 14 5 1% 119.1599 | 34.5765 2.16 2 4 17 6 65 54 / 30/30 0/180 NI REAE 524 5 bk BBU+RRU & 55 [4.5 = (12111
33 | #xm# | ERAKX ] 119.4278 | 34.58738 | 2.16 3 4 17 6 65 43 / 3/3/3 0/110/230 V7 (X 24295 385 5 {3 A 28 LB 11 4 BBU+RRU 55 |4.5] g [12/18
34 | Exit I R A 119.556366 | 34.458702 [ 2.16 4 4 17 6 65 18 / 5/5/5/5 20/110/220/280 R PR E =4 BBU+RRU 55 [4.5 R’ [12/11H
35 | iz R AU A I8 SRR 119.3601 | 34.10899 | 2.1G 2 4 17 6 65 55 / 20/20 0/180 SEZ W R AL I8 S BBU+RRU 55 |4.5] g [12/11
36 | Exi iR FuMFr it 118.9535 | 34.571 2.16 3 4 17 6 65 30 / 5/7/10 0/110/240 i BBU+RRU 55 |4.5] & |12/01H
37 | iz R 118.5753 | 34.6428 | 2.1G 3 4 17 6 65 35 / 5/5/5 0/110/250 5 BBU+RRU 55 |4.5] g [12/11
38 | Exits mfﬁ‘w}%_fi\:WﬁI%E_ Sl AL 118.9241 | 34.99295 2.16 3 4 17 6 65 45 / 7/3/5 0/110/280 B X _ SR REE_ A BBU+RRU 55 4.5 & 12/J1H
39 | iz ARG S B 119.3604 | 34.10811 | 2.16 2 4 17 6 65 55 / 20/20 0/180 s TR AU R IR S 4% BBU+RRU 55 4.5 & [12H1H
40 | Exits T L 16 51 119.1833 | 34.60826 | 2.1G 2 4 17 6 65 17 3 5/5 0/240 13 1E 16 5 bk BBU+RRU 55 [4.5 = [12/11H
41 | Ez HEZ B & I 119.3541 | 34.43922 | 2.16 2 4 17 6 65 48 / 13/11 0/260 [z H T 5 LR TR T R 30 BBU+RRU 55 |4.5] g [12/18
42 | Eni 118.7297 | 34.55829 | 2.16 3 4 17 6 65 40 / 7/415 0/115/210 ZRiE L PALH)E (BE) % AL BBU+RRU 55 4.5 =2 12/11H
43 | i | A 118.878 34.567 2.16 3 4 17 6 65 25 / 3/3/3 0/115/250 ARiER BN 10 BBU+RRU 55 |4.5] g [12/11
44 | ER | R E 119.511709 [ 34.356717 | 2.1 3 4 17 6 65 38 / 3/3/3 0/115/250 WL PR e A BBU+RRU 55 4.5 =2 12/11H
45 | ExE | R HER L [RINH R 119.3298 | 34.42174 2.16 3 4 17 6 65 45 / 6/5/9 0/115/285 25 M T 2= D[ ML R 0 £ BBU+RRU 55 4.5 R 12H1H
46 | x| #Ems SRR MR 119.5985 34.2706 2.16 2 4 17 6 65 45 / 6/8 0/90 V36 2 T e L R B U u’uﬁx}fA BBU+RRU 55 4.5 & 12§11
47 | En AitgEL AT 119.098763 | 34.555576 | 2.1G 3 8 17 6 65 33 / 7/8/7 0/115/290 7T 2R LR BT AS AL (] A0K S BBU+RRU 55 4.5 3 12H1H
48 | Enit N X R BB 131 %% 119.1495 | 34.60869 3.56 2 8 17 6 65 35 / 8/8 100/180 N X34 Bh kBt E 131 Rsiik] BBU+RRU 55 4.5 & 12§10
49 | x| X [ X K105 AT 119.15538 | 34.61157 | 3.5G 2 8 17 6 65 6 / 3/3 100/195 [ HE TR X 3 s L0 B 1 e )] iVl BBU+RRU 55 [4.5 2 |12H1H
50 | Exits | BkiIX i 5 s 5 135 b 119.128 | 34.85477 | 2.1 4 4 17 6 65 18 3 20/20/20/20 305/70/130/240 i 5 s 5 13 5 HE HAH BBU+RRU 55 [4.5 R’ [12/11H
51 | x| ¥RKX BRI i X AT 119.5506 | 34.50879 | 3.5G 2 8 17 6 65 12 / 3/3 100/230 [ T3 2 DX R T2 WA L A 2 T AHT BBU+RRU 55 |4.5 2 |12H1H
52 | Exits X X g 5 119.235 34.6678 3.56 2 8 17 6 65 30 / 13/18 105/180 [T X R G# 2 5 3 5 L \wmw BBU+RRU 55 4.5 & 12§11
53 | #xm# | ERAKX 119.5817 | 34.54698 | 3.56 3 64 8 25 90 19 / 13/16/3 0/120/180 EIX TR lréwtﬂ BBU+RRU ;w 35 7 2 |12/1H
54 | Exit X 119.15709 | 34.61234 | 3.5 2 8 17 6 65 6 / 3/3 105/200 s HE T I X ] W BBU+RRU 55 [4.5 = [12/11H
55 | iz X 119.2076 | 34.59303 | 3.56 2 8 17 6 65 30 3 20/20 120/190 MK _ SR R A BBU+RRU 55 |45 g [12/18
56 | Exit | xR 119.707082 | 34.432144 | 2.16 3 4 17 6 65 38 / 3/3/3 0/120/200 2 s Al [ Y AOKAAE S | BBU+RRU 55 [4.5 R’ [12/11H
57 | sz [ s 119.222 | 34.30376 | 2.16 4 4 17 6 65 20 / 10/10/10/10 315/60/120/235 szttt z s AL 20 S 1 ST BBU+RRU 55 |4.5] g [12/18
58 | izt |z R hlXE_% 119.1895 | 34.32609 2.16 3 4 17 6 65 40 / 9/8/8 0/120/210 S T3 25 EL AP LR e B AR 25 I =S BBU+RRU 55 4.5 & 12§11
59 | #xm# | EAK AKX K145 119.426894 | 34.564071 | 2.16 3 4 17 6 65 40 / 3/3/3 0/120/215 [ 13 25 X 4 AR 0 490 AR 43R 4771< @45 [BBU+RRU 55 |4.5] g [12/18
60 | EZE | X X Sl R At AR 119.0367 | 34.63371 2.16 2 4 17 6 65 18 / 3/3 120/240 [ ¥ 7 i i DX g L B e ] 259K/ RGEFT | BBU+RRU 55 4.5 2 12310
61 | Ex# | HX X, 118.9846 | 34.81279 | 2.1 2 4 17 6 65 38 / 4/4 120/270 fE 7 s T A X VD SFi75450) 40KIEHL =Y | BBUFRRY 55 |4.5 2 |12H1H
62 | it | X HEPNHEH 195 1 119.1876 | 34.58794 | 2.1 2 4 17 6 65 19 3 8/8 130/220 WP 1950 U BBU+RRU 55 [4.5 & [12)11H
63 | xR | MR ez BN ST 119.216262 | 34.437957 | 2.16 2 8 17 6 65 27 / 3/5 130/260 [ 7T SN BRI AT R SOR IS [BBU+RRU 55 |4.5] g [12/18
64 | Ezi 119.1544 | 34.57863 | 2.16 4 4 17 6 65 20 / 10/10/10/10 330/60/130/210 r,ﬁ‘rmmx % %&rlmlea A ST BBU+RRU 55 |4.5] & |12/01H
65 | iz 118.464728 | 34.562441 | 2.16 3 4 17 6 65 44 / 8/8/6 0/120/215 ,mmﬁmz\ BBU+RRU 55 |4.5] g [12/11
66 | iEzit 118.70401 | 34.66271 | 2.16 3 4 17 6 65 46 / 6/6/5 0/120/220 i =tgr BBU+RRU| RZK 7 55 [4.5 = [12/11H
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67 | x| Wil B GE 119.2019 | 34.16705 | 2.1G 3 4 17 6 65 43 / 8/8/10 0/120/225 A A T L M A #it BBU+RRU| RZk I 55 [4.5 2 |12H1H
68 | HEzits | i SRR HEE 119.4345 | 34.11723 2.16 3 4 17 6 65 40 / 5/5/5 0/120/230 VLRI Zo i T g R R T = BBU+RRU| Kk 7 55 4.5 & 12§10
69 | Exit | L RN 119.593 34.455 2.16 3 4 17 6 65 45 / 3/3/3 0/120/230 [ 3% 7 1 i = LT B A 2 7 EHL N BBU+RRU| K4k F 77 55 4.5 i3 12H1H
70 | ERM | HRE TR S S 119.4928 | 34.36916 | 2.1G 3 4 17 6 65 48 / 5/8/5 0/120/230 BT BRI AN AL |BBURRU| KLk Ty 55 4.5 & |12/01H
71 | Ezd | R EL . 119.6039 | 34.23951 2.16 2 4 17 6 65 18 / 4/5 140/325 LA ER TR LR 40 25K/ RJEFF [BBU+RRU 7 55 4.5 R 12H1H
72 | EEE | #RR MEEE R KRR EEIS 119.3019 | 34.26107 2.16 2 4 17 6 65 35 / 7/8 15/160 TR BR EH/NEER 4 40Ki%H = |[BBU+RRU 55 4.5 & 12§11
73 | i s W E AR IS B 119.2555 | 34.27987 | 2.16 4 4 17 6 65 20 / 20/20/20/20 0/60/110/180 P54 ze i 25 LU 407 KR 7S B ST BBU+RRU 55 |4.5] g [12/11
74 | Exnit | R AR 75k 119.2565 | 34.27952 | 2.16 4 4 17 6 65 20 / 20/20/20/20 0/60/110/250 i mits i m B A4 ST BBU+RRU 55 [4.5 = (12111
75 | i s WEE AT 14T 119.2557 | 34.28093 | 2.1G 4 4 17 6 65 20 / 10/10/20/10 350/100/185/300 ik Zt il 2 B 407 K16 b ST BBU+RRU 55 |4.5] g [12/18
76 | Ezi | KR FibEE TR bR 118.85636 | 34.53557 2.16 3 4 17 6 65 11 / 3/3/3 0/120/240 g *zm BBU+RRU 55 4.5 & 12§10
77 | ER | W MERIK AN X 1T S HE 119.361 | 34.11118 | 2.16 2 4 17 6 65 33 3 3/3 15/200 AW BBU+RRU 55 4.5 & [12H1H
78 | Ezit | i XSS BEAE R iR 119.1249 | 34.84292 | 3.56 3 8 17 6 65 20 3 6/6/6 0/120/240 ~éumﬁﬁ%fﬁﬂ}\tﬂ5 bt b b HE BBU+RRU 55 |4.5] & |12/01H
79 | #Ex# X 2 ek X 67 S bk 119.1547 | 34.57999 | 2.1 4 4 17 6 65 21 / 10/10/10/10 330/50/130/220 |zt ilrif M X AR A JEIX 67 5 e | AHT BBU+RRU 55 |4.5 2 |12H1H
80 | iExits | dEdE RIEPNERe 119.3186 | 34.10042 | 2.16 2 4 17 6 65 45 3 5/5 15/300 W FREIB T G HEUE SR [BBU+RRY 55 [4.5 = [12/11H
81 | x| WxLl T e S 119.481551| 34.31977 | 2.1 3 4 17 6 65 23 3 0/0/0 0/120/240 EE .@er%ﬁmﬁ% HUE S REL | BBUHRRU 55 |4.5 2 |12H1H
82 | iExits | R iz ELTU 119.499452 | 34.422658 | 2.16 3 4 17 6 65 23 3 0/0/0 0/120/240 Vit s = B HEUE SR [BBU+RRY 55 [4.5 = (12111
83 | iz | AKX HERX ER K 119.3478 | 34.73999 | 3.56 2 8 17 6 65 50 3 30/30 150/210 X R KPR A BBU+RRU 55 |4.5] g [12/11
84 | Ex | HEH B EEHEbR 119.2493 34.2897 3.56 3 64 8 25 90 24 / 3/3/3 0/120/240 itz B ST BBU+RRU 35 7 & 12§11
85 | =zt | WX 5 y 119.103 35.005 2.16 3 4 17 6 65 26 / 6/6/6 0/120/240 VA et A X 1L B BRI AT IS0 A BBU+RRU 55 |4.5 2 |12H1H
86 | iExits | A | TS P 119.3218 | 34.08029 [ 3.56 4 8 17 6 65 22 / 3/3/3/3 40/120/230/320 | iz itsilitEri £ W) Atk HE T T BBU+RRU 55 [4.5 = [12/11H
87 | iz Fa 119.226373 | 34.638561 | 3.56 3 8 17 6 65 28 / 3/3/3 0/120/240 : _ i AL |BBU+RRU 55 |4.5] g [12/11
88 | izt 119.1505 | 34.57121 | 2.1 2 4 17 6 65 30 3 8/8 150/220 DOHERRER (145 Be T | U9 RZL | BBUHRRY 55 [4.5 R’ [12/11H
89 | iz | Mgl MR BIB9S 4k 119.3655 | 34.09007 | 2.1G 4 4 17 6 65 22 3 3/3/3/3 30/300/105/220 MR LA R IEI S s BBU+RRU 55 |4.5] g [12/11
90 | Exit | AKX i RHEHER 35 # 119.2013 | 34.64415 | 2.16 2 4 17 6 65 42 3 5/5 150/260 ERIEHERK 3 THE HAHE BBU+RRU 55 [4.5 = (12110
91 | x| ERK i’tx%%ﬂf%ﬂiﬁ)ls”’f'ﬁ%lré 119.543182 | 34.554872 | 3.56 3 64 8 25 90 22 / 3/3/3 40/100/160 ¢ DX AR A 55 (X5 5 1 o b RETIHAT BBU+RRU 35 7 2 |12H1H
92 | iExits | X X T 119.2149 | 34.62575 | 3.5 3 8 17 6 65 28 / 3/3/3 0/120/240 R HEHTIEM X 7T R 1L50K 3OKERITHT BBU+RRU| K4 | Ji 55 [4.5 & |12/11H
93 | x| ¥R HERIX_E 119.2183 | 34.69553 | 3.5 3 64 8 25 90 28 / 6/6/6 0/120/240 X ST BRI A B NI 6| R BBU+RRU| /A2 35 7 s |12H1H
94 | iExits | R R PR mn#’(” 119.3097 | 34.0944 3.56 3 8*50 8 17 6 65 30 3 3/3/3 0/120/240 P T EL PR SEA TR HE U S RAL [BBUHRRU| RER T 55 [4.5 = [12/11H
95 | it £tk 118.4844 | 34.50367 | 2.16 3 4*80 4 17 6 65 30 / 8/5/6 0/120/240 Az T AL AR T HE L3 I BBU+RRU FJi 55 4.5 2 12H1H
96 | iExits 119.741704 | 34.497647 | 2.16 4 4*80 4 17 6 65 23 3 5/5/5/5 70/120/260/330 R IE it i 22 EUNARIES S HERE) U R | BBUHRRU| R RIS 55 [4.5 = [12/11H
97 | #Exi# 118.7143 | 34.51264 | 2.1 3 4*80 4 17 6 65 30 3 3/3/3 0/120/240 [ HE T A 2 R TR r*lk@l’« HAE BBU+RRU| K% FJ7 55 [4.5 2 |12H1H
98 | iExits 118.873799| 35.001102 [ 2.16 3 4*80 4 17 6 65 30 / 3/3/3 0/120/240 IR BBU+RRU| RZK T 7 55 [4.5 = (1211
99 | iz 119.1816 | 34.5849 | 3.56 3 8*50 8 17 6 65 30 / 3/3/3 0/120/240 A s T X 5 M&su Ty R BBU+RRU FJi 55 |45 g [12/18
100| =it MERE ﬂhﬁ 119.2544 | 34.41887 | 2.1G 2 4*80 4 17 6 65 38 / 10/8 150/270 b i < BN R 220 40KVE LTS | BBURRU | 55 [4.5 = (12111
101| = | HX i X 2535 5 A 1585 119.1731 | 34.8373 2.16 3 4*80 4 17 6 65 32 3 3/3/3 0/120/240 7 HE TR X 3% 5 [ 1515 HEAE BBU+RRU| K% FJ7 55 [4.5 2 |12H1H
102| Ezi | X PRI S22 5 119.1641 | 34.56101 | 3.5 3 8*50 8 17 6 65 32 / 3/3/3 0/120/240 MR IRAL B 15522 5 b L R BBU+RRU| RER 7 55 [4.5 & |12/11H
103 | iz | WX XA BT (LI ) 119.1801 | 34.60838 | 3.56 3 8*50 8 17 6 65 32 / 3/3/3 0/120/240 T T DL S kT BBU+RRU Ko7 55 4.5 & [12H1H
104| &zt | XX X IR AL 119.6158 | 34.51681 | 3.5G 3 8*50 8 17 6 65 32 / 3/3/3 0/120/240 7 (X R 1 HIFE BBU+RRU| RZK 7 55 [4.5 = [12/11H
105| iz | Al ARG OEA RN 118.7534 | 34.51629 | 3.56 3 8*50 8 17 6 65 32 / 3/3/3 0/120/240 T A ELRE 2 7 SOKEUTHT | BBU+RRU| KLk F 7 55 |4.5] & [12/1H
106 | Exits BRI 119.2041 | 34.5972 3.56 3 8*50 8 17 6 65 32 / 3/3/3 0/120/240 3z T IR H (X FRIBEBE T AR BBU+RRU| ALK 7 55 [4.5 = [12/11H
107 | iz X AR R D LB 119.1711 | 34.58697 | 3.56 3 200 64 8 25 90 32 / 3/3/3 0/120/240 Ve it i X TR R L eb) A [BBU+RRU| SRR 35 7 & [12H1H
108| iEzits TERX 25K 119.262 | 34.71506 | 3.5 3 200 64 8 25 90 32 / 3/3/3 0/120/240 RN XIFRX A% T BBU+RRU| AL 35 7 = [12/11H
109| iz HERR AR 119.338487 | 34.718094 | 3.56 3 200 64 8 25 90 35 / 3/3/3 0/120/240 3 2% X T B AR PO Bl A A 3 lféwtﬂ BBU+RRU| 4k 35 7 & [12H1H
110| #E=its R PR AE S5 SR 118.7669 | 34.56531 | 2.1G 4 4*80 4 17 6 65 25 3 8/8/8/8 60/140/240/310 R BRAESEE SRR ﬁ\ BBU+RRU 3 55 [4.5 = [12/11H
111 #Ez# AR BEWER KIS 118.8036 | 34.60163 | 2.16 3 4*80 4 17 6 65 38 / 3/3/3 0/120/240 Az T A L e KR BBU+RRU 55 4.5 & [12H1H
112| Exits R LB A W 119.4054 | 34.1961 2.16 3 4*80 4 17 6 65 38 / 5/5/5 0/120/240 S T BB SR B FE A BBU+RRU 55 [4.5 = [12/11H
113| izl HRX_ il s 119.086 | 34.98849 | 2.16 3 4*80 4 17 6 65 38 / 6/6/6 0/120/240 [zt A X 610 BURHE JoA116200 BBU+RRU 55 |4.5] g [12/18
114 | Exit WRE BIA 119.4567 | 34.45024 2.16 3 4*80 4 17 6 65 38 / 5/5/5 0/120/240 ZE T BV N E AR BBU+RRU 55 4.5 & 12§11
115 iz 119.131 | 34.59806 | 3.56 1 8*50 8 17 6 65 25 / 6 100 HEZ T X AT BBU+RRU 55 |4.5] g [12/18
116| E=its 119.31279 | 34.168885 | 2.1G 2 4*80 4 17 6 65 38 / 3/3 160/20 S5 7 T i P LT R VR BBU+RRU 55 [4.5 = [12/11H
117 #Ez# B iE—4 119.4001 | 34.15841 | 2.16 3 4*80 4 17 6 65 38 / 3/3/8 0/120/240 LA 3% 25 s 1l i L 22 A mm BBU+RRU 55 4.5 & [12H1H
118 | Exits X _ gtz L 119.172813| 34.467804 | 2.16 2 8*50 8 17 6 65 33 / 9/8 160/280 [ M5 TIT H M DX UL i FE 4R 165 35/K BBU+RRU 55 4.5 & 12§11
119| iz ZE TN 119.565829 | 34.47434 | 2.16 3 4*80 4 17 6 65 38 / 4/4/3 0/120/240 Wz TR BBU+RRU 55 |4.5] g [12/11
120 #Ez# | BX X PR 118.873 34.88389 2.16 3 4*80 4 17 6 65 40 / 6/6/6 0/120/240 D 75 6 T T R T 94 200K = BBU+RRU 55 4.5 & 12§11
121 | #z# | AL Wz E 119.2052 | 34.44314 | 2.16 2 8*50 8 17 6 65 27 / 5/5 160/290 [ 3 Z T EUMPP R R 4 SOKSULIE | BBUHRRY 55 |4.5] g [12/18
122| iExits | Fi 118.6978 | 34.52466 | 2.1G 3 4*80 4 17 6 65 40 / 8/1/7 0/120/240 T A B2 LT P A SRR SS BBU+RRU 55 [4.5 = [12/11H
123| iz 118.8169 | 34.6633 | 2.1G 3 4*80 4 17 6 65 40 / 8/5/7 0/120/240 |zl 4 BBU+RRU 55 |4.5] g [12/18
124| Exits MERR R 119.3187 | 34.34261 | 2.1 3 4*80 4 17 6 65 40 / 8/5/10 0/120/240 Tz BT EHME R20K BBU+RRU 55 [4.5 = (1211
125| iz Wz B X 119.128 | 34.25834 | 2.16 3 4*80 4 17 6 65 40 / 8/5/5 0/120/240 2 3% 2= 1 5 L B P 20 BBU+RRU 55 |4.5] g [12/18
126 | Ezits | iR ZRIEHE IR R11 S H‘ 118.7467 | 34.55482 | 2.1G 4 4*80 4 17 6 65 27 3 8/8/8/8 330/60/130/220 R R LR 11T BBU+RRU 55 [4.5 = (1211
127 | iz | WX X HTHURE 6T 119.1965 | 34.448973 | 2.16 2 8*50 8 17 6 65 30 / 6/7 160/290 T DRI 452K | S0KAFIE | BBU+RRU 55 |4.5] g [12/18
128| Ez | B8 B SR A 119.092 34.33637 2.16 2 4*80 4 17 6 65 18 / 3/3 160/350 =it = B AT R B S5 25K /N AREHF | BBU+RRU 55 4.5 & 12§11
129| izt | iEngsl eI AL A ik 62 119.2714 | 34.1001 | 3.56 2 8*50 8 17 6 65 19 / 3/3 160/70 25t 1 i LS BB T 35 ST IRIHT BBU+RRU 55 |4.5] g [12/18
130 Ez# | #E8 B ESIT gl 119.447 34.348 2.16 2 4*80 4 17 6 65 45 / 12/7 165/250 T Z BB TR AL 55K7% Ml f 405 [ BBU+RRU 55 4.5 & 12§10
131 iz | i it B 118.6751 | 34.6137 | 2.1G 3 4*80 4 17 6 65 40 / 3/8/7 0/120/240 [ T AR SRR BRI DA FE ,w_pmz\ BBU+RRU 55 |4.5] g [12/18
132 x| R R Ve 119.4705 | 34.15371 2.16 3 4*80 4 17 6 65 40 / 3/3/3 0/120/240 AT R B = D/ /N 7 R BBU+RRU| Kk 77 55 4.5 2 12310
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133 EZ# | B X _Ze il & # 119.281 34.87 2.16 3 4 17 6 65 40 / 5/5/5 0/120/240 b o T A DX 7 1L L 5 S X A | BBU+RRU| K4k F 77 55 4.5 i3 12A1H
134 | Exi | HIX X5 FEPE RS ek A 118.980674 [ 35.036858 | 2.1G 3 4 17 6 65 40 / 4/4/5 0/120/240 X5 FEPE RS ek A BBU+RRU| Kk FJ7 55 4.5 =2 12/11H
135| iz | Al JRMEEL TR T RE 118.846 | 34.6658 | 2.1G 3 4 17 6 65 41 / 7/8/6 0/120/240 T AR LTS T REAT SERE RS BBU+RRU| K4 FJ7 55 4.5 & [12H1H
136 x| #ma SRR ARGk A 119.4467 | 34.05066 2.16 3 4 17 6 65 41 / 4/3/7 0/120/240 V345 2 T R e L BT it P BBU+RRU| K4k 7 55 4.5 & 12§11
137 x| X kX _ A Tl 119.189 35.047 2.16 3 4 17 6 65 41 / 6/6/6 0/120/240 s M5 T e X AT MR OU0E 4 2 F) k1 BBU+RRU 7 55 4.5 R 12H1H
138 it | HEmE SRR AR R 119.561318| 34.079273 | 2.16 3 4 17 6 65 41 / 3/3/3 0/120/240 R ERRE R BBU+RRU 55 4.5 & 12§11
139| izl ARG, B LA 118.800931 | 34.435768 | 2.1G 3 4 17 6 65 41 / 5/5/5 0/120/240 ARIEEL B3 \LipRE_ | BBU+RRU 55 |4.5] g [12/11
140 | Exit W E RN 119.097 34.2445 2.16 3 4 17 6 65 42 / 6/8/6 0/120/240 P98 2= s T 2= B B L 4750 BBU+RRU 55 4.5 & 12§11
141| iz HERIX_ BRI 119.452182 | 34.577761 | 2.16 3 4 17 6 65 43 / 6/6/6 0/120/240 [ Z AR 79 2 FR AT PR 71 55— BBU+RRU 55 |4.5] g [12/18
142 | Exi X _ Ik K 118.937 34.85437 2.16 3 4 17 6 65 43 / 6/6/6 0/120/240 3 2 M T A P P K TR P50 K BBU+RRU 55 4.5 & 12§10
143 | Ex# | X X _ 48 S s 7 118.928853 | 34.738552 | 3.5G 2 64 8 25 90 7 / 3/3 165/305 A X B SR A R BBU+RRU 35 7 R 12H1H
144 | Ezit | #EHIX L1654 119.1189 | 34.61338 | 2.1G 2 4 17 6 65 30 3 6/6 170/210 N = I 16 5 1 BBU+RRU 55 [4.5 = [12/11H
145| Ezx# | X 119.1637 | 34.61485 | 3.5G 2 8 17 6 65 7 / 3/3 170/230 XL B B AL R AP A BBU+RRU 55 |4.5 2 |12H1H
146 | Ezits | iR 118.6749 | 34.49765 | 2.1 3 4 17 6 65 43 / 8/9/8 0/120/240 (4 ik 7= T At EL A R — 41 BBU+RRU 55 [4.5 = [12/11H
147 | EZRM | MR i e BT B A 119.1438 | 34.30228 | 2.16 3 4 17 6 65 43 / 3/3/3 0/120/240 izl R BE BBU+RRU 55 4.5 & [12H1H
148| Ex | dEE R SRR R G 119.313 34.14 2.16 3 4 17 6 65 46 / 3/3/5 0/120/240 SRR R A BBU+RRU 55 4.5 2 12/1H
149 | Ex# | X kX _4h 7 119.0903 | 34.97483 2.16 3 4 17 6 65 48 / 6/6/6 0/120/240 b T A X 4 L L D BT TR S BBU+RRU 55 4.5 2 12/1H
150 Ezi | KilgH PR E] Bl 118.921 34.6801 2.16 3 4 17 6 65 51 / 3/3/3 0/120/240 PR T R R E AR S BBU+RRU| K4k 77 55 4.5 & 12§11
151 | x| #xL b P e o Nl ) 119.2947 | 34.25804 2.16 3 4 17 6 65 55 / 9/7/7 0/120/240 W LA E AR SR RS BBU+RRU| K%k F 77 55 4.5 2 12H1H
152 | Ezits | iR IR HAESEL T B 118.754 | 34.51925 | 3.5 2 8 17 6 65 37 / 8/6 170/230 IR HAESEL T B i AR BBU+RRU 55 [4.5 R’ [12/11H
153 | iz | WX R/ X 7 343/ 10 S X 4% 119.133 | 34.59446 | 3.56 2 8 17 6 65 21 3 5/5 170/250 R FH /NI 5343710 XS B | HFUS KLk |BBU+RRU 55 |4.5] g [12/18
154 | Ez# | ERKX T 119.19556 | 34.66678 | 3.56 3 8 17 6 65 32 / 3/3/3 0/120/245 PEEWETNE ZRESHEMR XS] SOKEIIE  |BBU+RRU 55 |4.5] & [12/1H
155 | x| X i X _ kAT kA 118.9956 | 34.90742 2.16 3 4 17 6 65 30 / 6/6/6 0/120/250 Vi 2 s T A DX 1L BRI A 43500 30K ERIT #F BBU+RRU 55 4.5 R 12H1H
156 | Ezis | X Bk X _ AR il 119.0686 | 34.88317 2.16 3 4 17 6 65 38 / 6/6/6 0/120/250 b A T i X i 5 B 0 A 2 A5 I = BBU+RRU 55 4.5 & 12§11
157 | #Ex# | HX X3 i A 118.979 | 34.93156 | 2.1 3 4 17 6 65 41 / 6/6/6 0/120/250 Vet A DX L BT AT A 4350 3 f i BBU+RRU 55 |4.5 2 |12H1H
158 Ezits | KilgH FRiEE_BbAR R/ 118.4875 | 34.51638 | 2.1 3 4 17 6 65 15 / 3/10/8 0/120/255 FRiE_BbAR L/ A RETTHLAT BBU+RRU 55 4.5 = 12/]1H
159 | iz | X X BB iR 119.0466 | 34.93208 | 2.1G 3 4 17 6 65 38 / 6/6/6 0/120/260 ki X WBUR B EER L /2] &3 =458 | BBU+RRU 55 4.5 & [12H1H
160 Ezis | #xE B LRk 081 gk AL 119.1998 | 34.44599 2.16 2 8 17 6 65 27 / /5 170/290 [ TS B/ EA A 22Kt BBU+RRU 55 4.5 & 12§11
161 | iz | WL EEELL BB KRIET 119.5655 | 34.21353 | 2.1G 3 4 17 6 65 38 / 10/13/13 0/120/260 W EL_TRE KO 1 sk BBU+RRU 55 |4.5] g [12/18
162| iEzits | MR R 1 119.3112 | 34.16067 | 2.16 2 4 17 6 65 37 / 3/3 180/30 HIMEAR BBU+RRU| REK 7 55 [4.5 = [12/11H
163 | iz | WX HEMX_ Tt _ 119.227 | 34.52962 | 2.16 3 4 17 6 65 40 / 10/6/6 0/120/260 i g i A BBU+RRU| K4 FJ7 55 |4.5] & [12/1H
164 | Ezi | KilgH R R IR TE 118.8554 | 34.66093 2.16 3 4 17 6 65 43 / 7/8/5 0/125/240 [ 3% 5 T Ay EL T I AR TR 49 BBU+RRU 55 4.5 & 12§11
165| iz | HiX XA B 119.145 35.063 2.16 3 4 17 6 65 45 / 7/6/7 0/125/270 XA B BBU+RRU 55 |4.5] g [12/11
166 | iEzits | dEdE BILAEES 119.37 34.073 2.16 3 4 17 6 65 40 / 9/6/9 0/130/200 S5 7 T i L T A R | BBU+RRU 55 [4.5 = (12111
167 | iz | A ity 118.76026 | 34.66129 | 2.1G 3 4 17 6 65 43 / 4177 0/130/220 AREEL ESRBRYEOIR_ BBU+RRU 55 |4.5] g [12/11
168| iExits 119.312972| 34.761036 | 3.56 3 8 17 6 65 25 / 3/3/3 0/130/230 ERHIR 3OKERITH BBU+RRU 55 [4.5 = [12/11H
169| izt 118.499659 | 34.552134 | 2.16 3 4 17 6 65 41 / 5/5/5 0/130/230 BRI = BBU+RRU 55 |4.5] g [12/11
170 Ezi _ 119.138 34.607 3.56 3 8 17 6 65 24 / 6/1/6 0/130/240 X _ KRS L)% BETRHUFE BBU+RRU 55 |4.5] & [12/1H
171 Ez# W REAIITS R 119.2878 | 34.28112 | 2.16 1 4 17 6 65 30 3 5 50 MR REAITITSHE W BBU+RRU 55 |4.5] g [12/18
172 | Exits iR gk 118.6942 | 34.57602 2.16 3 4 17 6 65 38 / 4/4/5 0/130/240 it 717 4% o L R T BBU+RRU 55 4.5 & 12§11
173 | iz X /i b 119.138375 | 34.496577 | 2.16 2 8 17 6 65 32 / /7 185/290 [ s T D R BV 2T AL 35 35K IS [BBU+RRU 55 4.5 & [12H1H
174 | Exits - kAR ) 118.4742 | 34.50124 2.16 3 4 17 6 65 38 / 5/3/13 0/130/240 [ 3% 5 T A g EL R AR LR AR 3 i = BBU+RRU| Kk 77 55 4.5 & 12§11
175| Ex# | HX BEHTX I SOMGE K 119.093 | 34.80121 | 3.56 2 8 17 6 65 21 / 6/6 190/260 X _IE OGRS R BT BBU+RRU| K4k F 7 55 4.5 i3 12A1H
176 | Ezd | #z8 WEE FERE Bl 119.3219 | 34.39957 2.16 2 4 17 6 65 43 / 5/5 190/290 (EEZBTHE B T EMIEN R 45K = |BBU+RRU 55 4.5 & 12§11
177| iz X2 RSk 119.105309 | 34.536741 | 2.16 2 8 17 6 65 32 / 8/6 190/310 bl 73 SRR B B A BB A5 40KJULIE [ BBU+RRU 55 |4.5] g [12/18
178| iExits R 6 if 15X B 5 b 119.2457 | 34.48921 | 2.1G 4 4 17 6 65 30 3 6/6/6/6 40/160/210/320 | 5483 Zx v 7 it M AR 7 i 1 5 B6 5 HAERE BBU+RRU 55 [4.5 = [12/11H
179| iz 119.306275 | 34.252262 | 2.16 2 4 17 6 65 38 / 6/8 190/330 3 s i 2 R SRR R BBU+RRU 55 |4.5] g [12/18
180| Ezits 119.203 34.498 2.16 3 4 17 6 65 40 / 6/9/8 0/130/240 L2524 i 7= HE Tl i DX B K 42 40 BBU+RRU 55 [4.5 = [12/11H
181 | iz | WAL B FFEAN | 119.626 34.4 2.16 3 4 17 6 65 40 / 3/3/4 0/130/240 Wz BT FE AN BBU+RRU 55 |4.5] g [12/11
182 x| BMX i X _ A T O P kb 119.176661 | 35.008512 | 2.1G 3 4 17 6 65 36 / 8/5/5 0/130/245 oy i [ B (A BBU+RRU 55 4.5 & 12/J1H
183| iz | AL Wz R A 119.1826 | 34.25469 | 2.1G 3 4 17 6 65 38 / 8/6/6 0/130/250 3 = s T i EL T B BBU+RRU 55 |4.5] g [12/18
184 | Ezmit | AilgE ZRiE R UK SRR BE 118.65483 | 34.58721 | 2.1 3 4 17 6 65 48 / 5/3/4 0/130/260 R USRS R B2 L BBU+RRU 55 4.5 =2 12/11H
185| x| X kX 0N LR 119.044 34.759 2.16 3 4 17 6 65 45 / 6/6/6 0/130/265 ARG SR A A 4320 K] BBU+RRU 55 4.5 R 12H1H
186 | iEzits | dEdE R SRR y 119.215 34.123 2.16 3 4 17 6 65 45 / 6/6/4 0/130/315 i T il LA R P A M R 4 BBU+RRU| RZK 7 55 |4.5 & [12)11H
187| #z# | ERKX fE 43 5 hE 119.343 | 34.74897 | 3.56 2 8 17 6 65 38 3 3/3 195/265 11734 22 (X b 1L #2005 s A8 [ N K] A BBU+RRU| K4 F 7 55 4.5 & [12H1H
188| it | WEE NN T RIERLS 119.2999 | 34.36036 2.16 2 4 17 6 65 40 / 5/5 20/150 (GEZBTHZE TR TN AR 4Tk BBU+RRU 55 4.5 & 12§11
189 | iz | WErgL ERTEL S ST T2 A 119.2653 | 34.04527 | 2.16 2 4 17 6 65 27 / 3/3 20/165 PR Z I T LR BT ST SOKEEHE  |BBURRU 55 |4.5] g [12/18
190 | x| R R | HEEE BRI RS2 119.3058 | 34.14876 2.16 2 4 17 6 65 35 / 3/3 20/240 Vi s T R L R R L IO A 40K = BBU+RRU 55 4.5 & 12§11
101 | iz | WX M TLAHL xS B 119.1879 | 34.61891 | 2.1G 2 4 17 6 65 20 / 10/10 20/330 T L xS b BETIAT BBU+RRU 55 |4.5] g [12/18
192 Ezis | s HEE R R AE L bR 119.2681 34.0514 2.16 2 4 17 6 65 35 / 3/3 200/335 Vi T R LR SR 40K SIS | BBU+RRU 55 4.5 & 12§11
193 | x| Ailpll AL R A 118.693 34.5102 2.16 2 4 17 6 65 22 / 5/5 210/250 g Bl g e HFF BBU+RRU 55 4.5 R 12H1H
194| Ex=H | KR HibEE BhbRE A giub R 118.5021 34.5337 2.16 3 4 17 6 65 45 / 3/3/3 0/135/240 i s T A i EL B AR 2 B e LS| = BBU+RRU 55 4.5 & 12§11
195| iz | AL JREEL SRR A [ 118.5805 | 34.4915 | 2.16 3 4 17 6 65 46 / 5/6/5 0/135/250 AREE R GHuAENIE | BBUHRRU 55 4.5 & [12H1H
196 | Ezits | R EEIX_EHE 119.3597 34.7089 3.56 3 8 17 6 65 31 / 5/5/5 0/140/240 EZIX TSNS BBU+RRU 55 4.5 & 12/J1H
197 | iz | Wil HERIEL SKRERI L i 119.2402 | 34.19728 | 2.16 3 4 17 6 65 45 / 5/5/7 0/140/240 LAz il S0k =% |BBU+RRU 55 4.5 & [12H1H
198| izt | HHiIX 119.042 34.865 2.16 3 4 17 6 65 47 / 7/6/6 0/140/240 X _ IR0 0 A A = BBU+RRU| Kk FJ7 55 4.5 =2 12/]1H
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199| iz | X X770 VR ) 119.1014 | 34.78201 | 2.1G 3 4 17 6 65 40 / 13/11/13 0/140/245 X _7F 0 VR i |BBURRY| KA FJT 55 4.5 & [12H1H
200 Ezis | 8 | B _ONL-CEAN T REEL5-2 %% | 119.3054 | 34.28791 2.16 2 4 17 6 65 38 / 7/9 210/300 [zt z B R = 35K BBU+RRU| K4k 77 55 4.5 & 12310
201| iz | WAL Wz E T AT R %03 119.299464 | 34.396114 | 2.16 2 4 17 6 65 38 / /8 210/310 VI Z I PSR 2] 44k BUUE  [BBUsRRU| KT 55 4.5 & [12H1H
202| Enit | #nE HERE RS 2 119.2908 | 34.43678 | 2.1 3 4 17 6 65 40 / 4/6/6 0/140/250 s T i 25 B RS R A DS = BBU+RRU| KZk FJ7 55 4.5 =2 12/11H
203 | =i WERTEL_ Gk E D S Pk 119.316724 | 34.186521 | 2.1G 2 8 17 6 65 38 / 3/3 210/315 FEERIETTHERLLKIE D S 78] 40KXUEE SIS | BBU+RRU 13 55 4.5 2 12H1H
204 | Exit AP NN S 119.1888 | 34.58355 | 2.1G 3 4 17 6 65 32 3 3/3/3 0/140/255/ HEIH 25 i XK HEUE SR [BBU+RRY 55 [4.5 = [12/11H
205| iz 3 118.692379 | 34.440892 | 2.16 3 4 17 6 65 40 / 13/7/5 0/150/200 it £ BB Wi = |BBU+RRU 55 4.5 & [12H1H
206 | Exits 118.749 | 34.46733 | 2.16 3 4 17 6 65 38 / 13/5/10 0/150/245 [ i T AR e Bl B P TR 2R =B BBU+RRU 55 [4.5 = (12111
207 | iz 119.162 34.615 2.16 3 4 17 6 65 18 / 7/10/6 0/150/250 IX_HESIDE R vk BETifsks | BBURRU 55 |4.5] g [12/11
208| Ezi 118.9067 | 34.84341 | 2.16 3 4 17 6 65 38 / 6/6/6 0/150/250 Ve Z s T B b | TNV Sk R 2000 50KT% ML =535 | BBURRU 55 |4.5] & |12/01H
209| iz 118.85 34.692 2.16 3 4 17 6 65 55 / 6/8/6 0/150/250 AR R TR g fiiNSE | BBU+RRU 55 4.5 & [12H1H
210 Exits HEER 119.3054 | 34.31752 2.16 2 4 17 6 65 35 / 5/5 210/330 Vi S T s B R B 40K FIE BBU+RRU 55 4.5 & 12§11
211 #Ez# [ SN 119.3056 | 34.26787 | 2.1G 2 4 17 6 65 37 / 10/6 210/340 7T 7 SR FAR AL AT R A0KTEIL =S [ BBU+RRU 55 |4.5] g [12/18
212 | Exits R R AR A6 gk AL 119.3087 | 34.24354 2.16 2 4 17 6 65 42 / 5/7 230/325 s T E 5 EL 4 AR BT S BEAR 5 4TRSS BBU+RRU 55 4.5 & 12§11
213| iz ALl SR o 118.57692 | 34.519271 | 2.16 3 4 17 6 65 30 / 4/4/5 0/150/270 AiE B BLERE g % | BBU+RRU 55 4.5 & [12H1H
214 | Exni ERX_ B R 119.5838 | 34.54098 | 3.56 3 8 17 6 65 35 / 7117 0/160/240 ERX_ Ve BBU+RRU 55 4.5 =2 12/11H
215| Ex# | X X 119.071 34.754 2.16 3 4 17 6 65 45 / 6/6/6 0/160/240 HEF TR B AR BBU+RRU 55  |4.5 2 |12H1H
216| Exnit | #E W FERLE 119.3572 | 34.38393 | 2.16 3 4 17 6 65 38 / 11/5/6 0/160/260 SRR = B FEBURIER26Q  40K¥E P | BBURRU| RZE T 55 4.5 =2 12/11H
217 x| X HIX_iifi KT y 119.1571 | 34.67333 2.16 3 4 17 6 65 35 / 10/9/9 0/165/270 F A = T TN X R KT AR T BBU+RRU| K4k F 77 55 4.5 2 12H1H
218 | Exits X IX_Je il Jai_tid)s 119.1851 34.6011 3.56 3 8 17 6 65 17 3 10/10/10 0/170/255 Xl fe B A BBU+RRU 55 4.5 & 12§10
219| #Ez# | WX IX_fi N % 119.145209 | 34.488543 | 2.16 3 8 17 6 65 40 / 10/7/7 0/170/285 [HIXHUH BT 54 B R AT i P 40K [BBU+RRY 55 4.5 & [12H1H
220 x| EhX | X % S kR 229 _giui AL 119.1714 35.0055 2.16 3 4 17 6 65 28 / 5/5/5 0/180/250 [E Z5 i T A X A BT 1K) 7560 30K BBU+RRU 55 4.5 & 12§11
221| iz | X i X AR 216 S b 119.1351 | 34.8351 | 2.1G 3 4 17 6 65 51 / 20/20/20 0/180/325 X ZE 023165 # ST BBU+RRU 55 |45 g [12/18
222| Exit | AKX R RITIRITIR S X PETT 119.504 | 34.58587 | 2.1G 3 4 17 6 65 18 / 3/3/3 0/210/280 DX I 2 B 5 PR AR 28 S 1K AT ST BBU+RRU 55 [4.5 = (12111
223 | iz | WAL iz B EE S 119.285 | 34.28848 | 3.56 3 8 17 6 65 54 3 20/3/3/3 0/60/130/220 W54 34 Z il 25 L 45 s BBU+RRU 55 |4.5] g [12/18
224 | ETH | #HEE B Mg A 119.207 34.3667 2.16 3 4 17 6 65 45 / 5/9/7 0/80/180 P T 2 B/ MM R B E P 110 50K HL =S | BBU+RRU 55 4.5 & 12§11
225| iz | il 34 S 1 119.3115 | 34.08162 | 2.1G 4 4 17 6 65 33 / 10/10/20/20 340/50/130/190 T34 S R BBU+RRU 55 |45 g [12/18
226 | HEnit X % Eh Bk E 120_% kAL 119.1119 34.5936 3.56 2 8 17 6 65 28 / 5/8 285/70 N X DA St R T 1120 LY BBU+RRU 55 4.5 & 12§11
227 iz 119.622 34.25 2.16 3 4 17 6 65 30 / 5/3/5 0/80/190 MERE M iR BBU+RRU 55 4.5 & [12H1H
228| iExits 119.1618 | 34.47243 | 2.1 2 8 17 6 65 35 / 5/7 307110 H BTV A4 FE 7 26 3SR BBU+RRU| RZK 7 55 [4.5 = [12/11H
229| iz 119.114457 | 34.517662 | 2.16 2 8 17 6 65 40 / /7 30/120 iGN X BT ILRA 4572 40k [BBURRU| Kk FT 55 |4.5] g [12/18
230 Ez# | ERKX 119.601402 | 34.582037 | 3.56 3 64 8 25 90 23 / 6/6/6 0/80/240 ZHE TS Z AR PR M2 SAAIT BBU+RRU 35 7 e [12/11H
231| iz XL 118.895262 | 34.925017 | 2.16 3 4 17 6 65 50 / 5/4/6 0/80/240 LI S P ) BBU+RRU 55 |4.5] g [12/11
232 | Enits WEE REHEAM A 119.38463 | 34.25206 2.16 3 4 17 6 65 41 / 3/3/3 0/80/270 WEE REEAMY BBU+RRU 55 4.5 & 12/J1H
233| iz W i 118.71407 | 34.36763 | 2.1G 3 4 17 6 65 43 / 5/6/6 0/80/285 BBU+RRU 55 |4.5] g [12/11
234| Exits RIEAEE N X8 B 118.7755 | 34.52581 | 2.1G 3 4 17 6 65 23 3 5/5/5 0/80/300 JRIEAETE N X85 b BBU+RRU 55 [4.5 = [12/11H
235| it M X 55 b 119.1958 34.596 3.56 2 8 17 6 65 54 / 10/10 30/120 M X 55 b T KLE | BBU+RRU 55 4.5 5 12A1H
236 | iExit 1T WEAEIR23 5 b 119.1605 | 34.57669 | 2.1G 4 4 17 6 65 33 3 5/5/15/15 0/180/230/300 | WEAEIR23 5 bk HAE BBU+RRU 55 [4.5 = [12/11H
237 Ez AL IO 5 119.1621 | 34.57749 | 2.16 4 4 17 6 65 33 / 10/20/10/10 40/150/240/310 HiR[RETEIRO 5 4% ST BBU+RRU 55 |4.5] g [12/18
238 | HEnit kX _PERE KRGk A 118.8476 | 34.86779 2.16 3 4 17 6 65 38 / 6/6/6 0/85/230 ST RMYE R T = BBU+RRU 55 4.5 & 12§10
239 | kit ERX_ME R, B 119.4715 | 34.72637 | 3.5 3 8 17 6 65 28 / 3/3/3 0/90/180 ERX_ME SR eI BBU+RRU 55 4.5 i3 12H1H
240| &zt HWEE_ FEBUT 119.298182  34.376846 | 2.1G 2 4 17 6 65 40 / 6/1 30/130 I8 T = B R 2R AT LS 45K BBU+RRU| Kk FJ7 55 4.5 =2 12/11H
241| iz 119.5457 | 34.45367 | 2.1G 3 4 17 6 65 30 / 3/3/3 0/90/180 ST E T AT U i BETAT BBU+RRU| K2k F 7 55 |45 g [12/18
242 | &z 119.4327 | 34.34912 | 2.16 3 4 17 6 65 43 / 0/8/5 0/90/190 RIS BB A S| 48RS [BBURRU 55 |4.5] & |12/01H
243| Ex# LBl P 118.8606 | 34.54728 | 2.1 3 4 17 6 65 18 / 6/5/5 0/90/230 [o T At B U BURE ] TR B BBU+RRU 55 |4.5 2 |12H1H
244 | Eni BRI 118.891801 | 34.563424 | 2.1 3 4 17 6 65 18 / 3/3/3 0/90/240 iR AR gAY BBU+RRU 55 4.5 =2 12/11H
245| iz 118.8794 | 34.71273 | 2.16 3 4 17 6 65 45 / 6/5/4 0/90/240 3 ) BBU+RRU 55 |4.5] g [12/18
246 | Ezit | iR 118.784786 | 34.740212 [ 2.16 3 4 17 6 65 43 / 5/4/5 0/90/250 A BBU+RRU 55 [4.5 = [12/11H
247 | iz | R 118.6712 | 34.52364 | 2.1G 3 4 17 6 65 40 / 5/6/6 0/90/260 % AT BBU+RRU 55 |4.5] g [12/11
248| Ezits | R 119.3024 | 34.28259 | 2.16 2 4 17 6 65 30 / 95 307150 [z o 17 38 2 B 5 4 R o 7 35K FAE BBU+RRU 55 [4.5 = [12/11H
249 | iz | WAL HEZEL B ] 119.395 34.309 2.16 3 4 17 6 65 40 / 3/3/3 0/90/270 iz B SR BUR I LAt 45k =% [BBU+RRU 55 |4.5] g [12/18
250 | x| R B X R 119.45 34.728 3.56 3 8 17 6 65 23 / 6/6/6 0/90/280 EEX ERE G HETTHAT BBU+RRU 55 4.5 & 12§11
251| iz | HHX 118.91 34.951 2.16 3 4 17 6 65 45 / 8/5/5 0/95/130 BBU+RRU 55 |4.5] g [12/18
252| Ezits | iR 118.608 34.532 2.16 3 4 17 6 65 40 / 6/4/5 0/95/255 BBU+RRU| ALK 7 55 [4.5 = [12/11H
253| x| X 119.131 34.983 2.16 3 4 17 6 65 40 / 11/8/4 0/95/295 BBU+RRU| K4k F 7 55 [4.5 2 |12H1H
254 | iEzits | EHiIX 119.176278 | 34.958095 [ 2.16 3 4 17 6 65 46 / 3/3/3 10/100/180 ABKVEHIfENE | BBU+RRU 55 [4.5 = [12/11H
255| iz | HifX 119.1155 | 34.84247 | 3.56 3 8 17 6 65 27 2 3/3/3 10/100/220 I oM TR X T W S A-7 S B 2K 1k K 2k | BBU+RRU 55 |4.5] g [12/18
256 | Ezit | #EE w8 FERIE J 119.312 | 34.41822 | 2.1G 3 4 17 6 65 38 / 9/5/9 10/100/230 Zi T = B P EBURYEEER 4R 1640 % £ BBU+RRU 55 4.5 =2 12/11H
257 | iz | HHX S X il T % 118.961 34.703 2.16 3 4 17 6 65 50 / 9/10/10 10/100/245 X i BBU+RRU 55 4.5 & [12H1H
258 | iz | #HEE Wz B TR TR 119.300184 [ 34.334815 | 2.1 2 4 17 6 65 38 / 5/5 30/150 I8 T = B R 2R T A a3 AOK I BBU+RRU 55 4.5 =2 12/11H
259 | iz | il R IR TE 118.7668 | 34.56642 | 2.1G 4 4 17 6 65 35 3 10/10/10/10 20/160/225/300 1154 HAEA BBU+RRU 55 |4.5] g [12/18
260 | Ezits | AR 119.212 34.4432 2.16 3 4 17 6 65 33 / 5/5/5 10/100/250 VR s T < BRI R3] 3TRVE ML | BBURRU 55 [4.5 = [12/11H
261| iz | X 119.171 | 34.4514 | 2.16 3 4 17 6 65 38 / 10/8/5 10/105/250  [AsiE s it X Filpi s SoAklEd| 4k |BBUSRRU 55 |4.5] g [12/18
262| Exnit 4L 5 119.146 34.22 2.16 3 4 17 6 65 58 / 3/3/3 10/110/230 B KA A N BBU+RRU 55 4.5 =2 12/11H
263| iz & i b ad S B 119.2007 | 34.59065 | 3.56 2 8 17 6 65 33 3 5/5 30/290 il 2GR4T B HAUE ALK [ BBU+RRU 55 |4.5] g [12/18
264 | Exit N X _Iki b A 119.1739 | 34.66881 | 2.1G 2 8 17 6 65 35 / 5/4 300/170 (171 DX ST bk S BT 40K B BBU+RRU| KZk FJ7 55 4.5 =2 12/11H
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265| =zt | X i Xt 119.1054 | 35.02508 | 2.1G 3 4 17 6 65 38 / 6/6/6 10/110/250 XA L LA FE50K #it BBU+RRU| RZk I 55 [4.5 2 |12H1H
266 | iExit | #E HERME_EHR 119.500992 [ 34.12557 | 2.16 3 4 17 6 65 40 / 3/3/3 10/110/250 HER B E RN R A e = BBU+RRU| Kk FJ7 55 4.5 =2 12/11H
267 | iz | MR MR KE 119.3132 | 34.22686 | 2.1G 2 4 17 6 65 35 / 3/3 300/210 iz 1 NP Y sk |BBUSRRU| KA FUT 55 4.5 & [12H1H
268 | iEzit | AKX e AR 26T 1 119.2043 | 34.6427 2.16 2 4 17 6 65 42 3 30/30 300/220 S HTHE X R B 28 S HEHE R (67 5] HE TR SR K2R |BBUHRRU| KLk TJ7 55 [4.5 = [12/11H
269 | Exi# | X KB4 119.22762 | 34.61735 | 3.5G 3 8 17 6 65 27 / 4/4/4 10/110/260 3 BT XA A 4Rk ) 25K AT BBU+RRU FJ7 55 [4.5 2 |12H1H
270| Exits de 2 HEm B AN 119.268 34.057 2.16 2 4 17 6 65 40 / 6/6 305/220 HREABNHHAAES £ SOR=H BBU+RRU 55 [4.5 = [12/11H
271| #Exi# X _fi K4 4L 119.2277 | 34.61737 | 3.5G 3 8 17 6 65 30 / 4/4/4 10/110/260 3 HE TR X AE A 8 4 Ak ) ST BBU+RRU 55 [4.5 & |12H1H
272 | Enits B SRRl BN | 119.612787 | 34.461527 | 2.1G 3 4 17 6 65 53 / 5/6/5 10/110/285 i i e AT b N NN TSNS BBU+RRU 55 4.5 & 12§11
273| iz MERIEL RSN ST e 119.2685 | 34.05709 | 2.1G 2 4 17 6 65 40 / 6/6 305/220 SRR LA S 4T B BBU+RRU 55 4.5 & [12H1H
274 | Enit X _FRAR 119.1196 | 34.85195 2.16 2 4 17 6 65 37 3 6/6 310/120 ciﬁmé,ﬁmlx% I \b“‘mu#n&u T BBU+RRU 55 4.5 & 12§11
275| iz ARHEE B 118.967634 | 34.622691 | 2.16 3 4 17 6 65 43 / 5/5/4 10/120/205 i =M |BBU+RRU 55 |4.5] g [12/11
276 | Exit MR R KT 119.3112 | 34.23361 2.16 2 4 17 6 65 35 / 3/3 310/200 58K BBU+RRU 55 4.5 & 12§11
277| iz HERIEL KL ¥ 119.3146 | 34.22039 | 2.16 2 4 17 6 65 35 / 3/3 310/210 I ELAK B, j::“_‘.f’/ % BBU+RRU 55 |4.5] g [12/18
278| Exits #= )zzmw 119.2318 | 34.2881 3.56 2 8 17 6 65 35 3 5/5 310/240 E20 5k (b BT BBU+RRU 55 [4.5 = [12/11H
279| #Exi# 119.1572 | 34.57645 | 2.16G 2 4 17 6 65 20 / 10/10 310740 BT X R A R (X C7 5 B BBU+RRU 55 |4.5 2 |12H1H
280| iEzit 118.6866 | 34.4545 | 2.16 3 4 17 6 65 40 / 7/12/10 10/120/210 /J;;‘ﬁz—_manmwﬁa '/;'jM" BBU+RRU 55 |4.5] & [12]1H
281| iz 119.10029 | 34.546295 | 2.16 2 8 17 6 65 40 / 9/8 315/180 [zt 1 it £ BBU+RRU 55 |4.5] g [12/18
282| iExit | BHiIX 119.114 34.8999 2.16 3 4 17 6 65 43 / 5/5/8 10/120/210 [s s T e X BBU+RRU 55 [4.5 = (12111
283| x| #X 119.0527 | 34.72184 | 2.16 3 4 17 6 65 45 / 6/6/6 10/120/220 Lm&vlﬁﬁﬁﬁlﬁwﬁp £ BBU+RRU 55  |4.5 2 |1201H
284 | iEzits | X 119.1937 | 34.61654 | 2.1G 2 4 17 6 65 35 / 20/20 320/15 AT X AR T 21 T HE BBU+RRU 55 [4.5 = (12111
285| x| WX 119.0308 | 34.88724 | 2.1 3 4 17 6 65 36 / 6/6/6 10/120/240 s T D L U RN R B BBU+RRU 55 [4.5 s |12H1H
286 | iExit | AKX 119.5603 | 34.60305 | 3.56 3 8 17 6 65 38 / 3/9/5 10/120/240 HEZX_HRIT) A BBU+RRU 55 [4.5 = (12111
287| &z | X 119.141 34.9217 2.16 3 4 17 6 65 43 / 6/6/6 10/120/240 Lr,&vh i X ﬁl! WIAL50K BBU+RRU 55  |4.5 2 |12H1H
288 | iExits | ilEE ZRitE R xx 118.528 34.6 2.16 3 4 17 6 65 40 / 3/3/3 10/120/250 AR m M T AR R 4 A BBU+RRU 55 [4.5 = [12/11H
289 | iz | X X _Hh i) A&{ﬁhf 119.19668 | 34.61756 | 3.5 3 8 17 6 65 32 / 3/3/3 10/120/270 i&wh‘ PH DX A4 4071 F150 K4k £ BBU+RRU 55 |4.5 2 |12H1H
290| Ezits | iR JRIEEL A A AL 119.093 34.571 3.56 3 8 17 6 65 40 / 9/8/8 10/120/285 AT R BB N AR EE Y BBU+RRU 55 [4.5 R’ [12/11H
291 | iz | MErgEl PERE NS ESIF (CIFAHGE) 119.2645 | 34.06307 | 2.1G 3 4 17 6 65 40 / 3/3/3 10/125/210 TR R S £ BBU+RRU 55 |4.5] g [12/18
292 | it i#mh wmz_/wx»z E=3F (CHFR#E) 119.2645 | 34.06307 2.16 3 4 17 6 65 40 / 3/3/3 10/125/210 LA E TR BN 2 0 BBU+RRU 55 4.5 & 12§11
293| #Exit HERIEL G # 119.2097 | 34.07806 | 2.1G 3 4 17 6 65 43 / 4/5/6 10/125/250 i s i g AL "F%*‘#ﬁﬂ Ty b BBU+RRU 55 |4.5 2 |12H1H
294 | Erits X _ AT R Bl 119.111113 | 34.526576 | 2.1G 2 8 17 6 65 30 / 6/7 320/165 X 3 5 £16204 5 it 35K BBU+RRU 55 4.5 & 12§11
295| &zt M BT IR iR 119.398 34.285 2.16 3 4 17 6 65 45 / 3/3/3 10/130/220 iz B ATRTEH SRS | BBUFRRU 55  |4.5 2 |12H1H
296 | iExits a?ér‘ _h ﬂh& 119.251 34.3702 2.16 3 4 17 6 65 40 / 3/3/3 10/130/230 itz B /MK AR AR BBU+RRU 55 [4.5 = [12/11H
297 | iz 118.449411 | 34.432252 | 2.16 3 4 17 6 65 40 / 4/5/5 10/130/230 SL MM 2 -Mmuiz\ BBU+RRU 55 |4.5] g [12/18
298| iExits 119.2225 | 34.519% | 2.1 3 4 17 6 65 32 / 7/10/5 10/130/235 LA I 2 T N X 3 T ) A =R BBU+RRU 55 [4.5 R’ (12110
299 | =zt 119.088801 | 34.563562 | 2.1G 3 8 17 6 65 37 / /111 10/130/270 JE it i < 2B AT 25 22 380 4071<$ E BBU+RRU 55 [4.5 s |12H1H
300| Ezi 119.1895 | 34.64557 | 3.56 2 8 17 6 65 35 / 3/3 320/195 T 7 KRB 35K | BBU+RRU 55 |4.5] & [12/]1H
301 iz 118.88312 | 34.57288 | 2.1G 2 4 17 6 65 12 / 3/3 320/240 ity L EUSHT H AT BBU+RRU 55 4.5 & [12H1H
302| =zt IR 3T 119.1966 | 34.61511 | 2.1G 2 4 17 6 65 33 / 10/10 320/40 AT X R4 73 5 b ST BBU+RRU 55 [4.5 = [12/11H
303| iz *»zmr KA 119.097 34.942 2.16 3 4 17 6 65 51 / 5/6/1 10/140/255 L C PN ) =1 [BBURRU 55 |4.5] g [12/11
304 | Ezi i 119.158 | 34.57685 | 2.1G 2 4 17 6 65 20 / 10/10 320/50 ZUS T X B 1E I M (X D2 BB ST BBU+RRU 55 |4.5] & [12/]1H
305 iz 118.742 | 34.54941 | 2.16 2 4 17 6 65 18 3 8/8 320/60 AR I G851 HE BBU+RRU 55 |4.5] g [12/18
306 | iEzit | EEHiIX 119.1489 | 34.75331 | 2.1 3 4 17 6 65 41 / 5/8/6 10/140/270 VA 2z s T A (X A FE B4 0K 421500 485K ésnw 1 | BBU+RRU 55 [4.5 = [12/11H
307 iz | Al JiitE B XUE P 118.6143 | 34.56009 | 2.1G 3 4 17 6 65 40 / 5/6/7 10/145/230 R L XUE T BBU+RRU 55 |4.5] g [12/11
308| iExits | AR W B ERLE 119.559 | 34.33941 | 2.1G 3 4 17 6 65 38 / 7/8/10 10/150/245 [z o 17 8 2 B R R 2 FE A 7 (021 BBU+RRU 55 [4.5 = [12/11H
309 | iz | WL R B3R R P 119.312897 | 34.212327 | 2.16 3 4 17 6 65 38 / 2/2/3 10/150/245 LR T R B R R BBU+RRU 55 |4.5] g [12/18
310| &zt | #E R _fFHETRT 119.256 34.2332 2.16 3 4 17 6 65 40 / 7117 10/150/255 I 2 TR 2 B L P P e 3 BBU+RRU 55 4.5 =2 12/11H
311| x| MR Wz LR 119.205 34.351 2.16 3 4 17 6 65 40 / 3/3/3 10/150/260 Mz LU B BBU+RRU 55 |4.5] g [12/18
312| End | B8 MR R Ml g 119.205 34.351 2.16 3 4 17 6 65 40 / 3/3/3 10/150/260 i Z5 B R R BBU+RRU 55 4.5 & 12§11
313| iz | R BT S B 118.7592 | 34.53425 | 2.16 3 4 17 6 65 20 3 5/5/5 10/160/205 BBU+RRU 55 |4.5] g [12/18
314 Ex | KilgH R I b A 118.672447| 34.391257 | 2.1G 3 4 17 6 65 43 / 5/5/7 10/160/240 = . BBU+RRU 55 4.5 & 12§10
315| iz | Wl HERIEL_MBEAE 119.5875 | 34.24615 | 2.16 3 4 17 6 65 40 / 10/11/6 10/160/250 SR 2 TR L R AR A R BBU+RRU 55 |4.5] g [12/18
316| iExit | BkiIX X T 119.0834 | 34.79035 | 2.1 3 4 17 6 65 40 / 6/6/6 10/160/260 ik < M T B X 77 11 HER AR R L5004 BBU+RRU 55 [4.5 = [12/11H
317| =z | X “»ﬂml’ wa\w 119.0241 | 34.93148 | 2.1 3 4 17 6 65 40 / 6/6/6 10/160/270 VA et A DX 5 1L O A A R 504 BBU+RRU 55 |4.5 2 |12H1H
318| izt | AilgE F 118.966687 [ 34.402736 | 2.1G 3 4 17 6 65 38 / 4/4/4 10/170/240 ERS IR PNt BBU+RRU 55 4.5 =2 12/11H
319| #Ez# | WX 119.0513 | 34.66791 | 2.16 3 4 17 6 65 39 / 7/5/5 10/175/260 YL 2 M X A FEA b BBU+RRU 55 |4.5] g [12/18
320| iEzits | EEkiIX 119.298399 | 35.035669 [ 3.56 3 8 17 6 65 12 2 3/3/3 10/190/270 Mﬁ‘]x kﬁ‘ﬁé]xmﬁédﬁ SUJJJ"W‘ BBU+RRU 55 [4.5 = [12/11H
321 | x| i 119.3181 | 34.6173 | 2.16 3 4 17 6 65 40 / 7/1/6 10/80/210 BBU+RRU 55 |4.5] g [12/18
322| iz L 118.782 34.35 2.16 3 4 17 6 65 24 / 5/7/4 10/90/220 _ BBU+RRU 55 4.5 & |12/01H
323| iz | WAl 119.2813 | 34.15981 | 2.1G 3 4 17 6 65 38 / 4/6/7 10/90/275 I T R L A BBU+RRU 55 |4.5] g [12/18
324 | Exits | MR 119.2531 | 34.1722 2.16 3 4 17 6 65 38 / 5/4/5 100/185/335 I 7 T P LR I BUINIR FER BBU+RRU 55 [4.5 = [12/11H
325| iz | KL 119.086 | 34.59174 | 3.56 3 8 17 6 65 43 / 6/6/6 100/200/300 iz itk iy ELi%E 25k e 24t A BBU+RRU 55 |4.5] g [12/18
326| Exits | R 119.1154 | 34.31415 | 2.1 3 4 17 6 65 48 / 5/5/7 100/210/340 i T 2 LT BT WA A BBU+RRU 55 [4.5 = [12/11H
327 | x| WEELL | R Hlkﬁ L\rk*rﬁw u) HK s 119.5656 | 34.24717 | 2.1 3 4 17 6 65 38 / 9/7/9 100/220/330 L5 34 2 1 i LT = P P A=A BBU+RRU 55 |4.5 2 |12H1H
328| Exits | R b Pae = S LY W ) 119.38 34.347 2.16 3 4 17 6 65 47 / 6/9/12 100/225/335 i BT BB N R 274 A BBU+RRU 55 [4.5 = [12/11H
329| izt | WxL R /LI A S ) 119.4427 | 34.26587 | 2.1G 3 4 17 6 65 38 / 8/1/5 100/230/350  pE mitkiliiil = LU AL HUE A 4300 BBU+RRU 55 |4.5 2 |12H1H
330 Ez | #EE HERE_FXGS R B 119.365 34.427 2.16 3 4 17 6 65 40 / 5/1/4 100/240/315 ZTTHEE B R DRI K TR BBU+RRU| KZk FJ7 55 4.5 =2 12/11H
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331| izt | WxL Mz PHl T 119.2002 | 34.31668 | 2.1G 3 4 17 6 65 45 / 10/8/10 100/270/350 ZHETTHE LTIl BT A S it BBU+RRU| K% FJ7 55 [4.5 2 |12H1H
332| x| B8 B TEANWRT S J 119.305654 | 34.352751 | 2.16 3 4 17 6 65 40 / 6/9/8 105/220/320 ZIETTHE B PR R R | S0KIEHL =15 | BBU+RRU| KL T 55 4.5 & 12§11
333| iz | AL % Wi — A2 S hE 118.7887 | 34.50455 | 2.16 3 4 17 6 65 102 / 60/60/60 110/140/170 IR 1 — WA S B ST BBU+RRU| Kk F 7 55 |45 g [12/18
334| Exits | R MR T2 119.308 34.397 2.16 3 4 17 6 65 40 / 7/9/11 110/190/290 Tz B AT NN AR B =R BBU+RRU| RZK 7 55 [4.5 = [12/11H
335| iz | HHX X RIS 119.126849 | 34.769148 | 2.16 3 4 17 6 65 43 / 9/7/7 110/200/295 i X R A i %ifiiRis  [BBU+RRU FJi 55 |4.5] g [12/18
336 | HEzits | s e SNt NG 119.193 34.085 2.16 3 4 17 6 65 45 / 6/6/9 110/210/335 PGl R PN PNL DR i ff i BBU+RRU 55 4.5 & 12§11
337| izt | WLl HERTEL YRR 119.393 34.1226 2.16 3 4 17 6 65 40 / 6/8/5 110/210/340 Wik misiidr LU TITRN 2] B BBU+RRU 55 |4.5 2 |12H1H
338 it | W SRR KR b 4 119.26911 | 34.08949 3.56 3 8 17 6 65 30 / 3/3/3 110/230/350 (L5483 = T E g L R E R 35K UM% | BBU+RRU 55 4.5 & 12§11
339| izt | WLl AR e A D | R 3L 119.2691 | 34.08949 | 3.56 3 8 17 6 65 30 / 3/3/3 110/230/350 LOREE 2 TR SR SRR | 3SR XU SULE | BBUHRRU 55 |4.5 2 |12H1H
340| Ezits | R MR T AN 119.3758 | 34.30772 | 2.1 3 4 17 6 65 18 / 3/3 110/245 T B A BUEN 1 30 f&#\k’/L BBU+RRU 55 [4.5 = (12111
341| Ex | #xL WEZ LA B W 119.1061 | 34.31466 | 2.1G 3 4 17 6 65 40 / 6/6/1 115/220/330 |8zl SL 4 BBV AL BBU+RRU 55 |4.5 2 |12H1H
342| Exit | XX HERRIT BT %EJIW.M&HI 119.578 34.54 3.56 3 8 17 6 65 50 / 3/3/3 120/190/250 3 BT 2 (X AR A A X A BBU+RRU 55 [4.5 = [12/11H
343| xR | MR HEZEL PURAY 119.4787 | 34.43885 | 2.16 3 4 17 6 65 40 / 5/8/6 120/220/320 b= ity 5 ELPUBA RN AR 41 BBU+RRU 55 |4.5] g [12/18
344 | Exnit | R W B Ui 119.23 34.289 3.56 3 8 17 6 65 39 3 6/6/8 120/230/320 Z?FT‘ n)m % BBU+RRU 55 [4.5 = (12111
345| iz | WL I r&m LrF 119.7781 | 34.40333 | 2.16 3 4 17 6 65 45 / 5/5/5 120/230/350 BBU+RRU 55 |4.5] g [12/18
346 | Enit | #E W 119.25 34.24998 | 2.16 3 4 17 6 65 38 / 5/5/1 120/240/330 5 uxiﬁmﬁ#xﬂm FEHE R 100 BBU+RRU 55 4.5 =2 12/11H
347| Ex | #xL Wz R ﬁﬁ, 119.1979 | 34.21523 | 2.16 3 4 17 6 65 37 / 6/8/6 120/240/350 |zttt < ELAF EBURIE AT [RZE 52 BBU+RRU 55 |4.5 2 |12H1H
348 | i | Hma HERE PR 119.3873 | 34.04658 2.16 3 4 17 6 65 40 / 5/6/5 120/270/355 [543 2 i i g EL i 4 BBU+RRU 55 4.5 & 12§11
349| iz | WL HERIEL MEVIHRER 119.785 | 34.3935 | 2.16 3 4 17 6 65 38 / 5/5/6 125/210/330 P sk i g ELALR B T 74 BBU+RRU 55 4.5 & [12H1H
350| izt | e R SRR 119.318719 [ 34.204118 | 2.1 3 4 17 6 65 40 / 4/3/4 130/195/315 P = T R L K B A BBU+RRU 55 4.5 =2 12/11H
351| =z | X RIX P = 118.8691 | 34.87296 | 2.1 3 4 17 6 65 38 / 6/6/6 130/205/300 VT P B P A P BBU+RRU 55  |4.5 2 |12H1H
352| Enit | #nE B MPE B 119.221 34.458 2.16 3 4 17 6 65 40 / 6/6/6 130/210/335 HErsE s BT SR | 55KV BBU+RRU 55 [4.5 = [12/11H
353| izt | Wxll Wb FEAWE 119.3302 | 34.30829 | 2.1 3 4 17 6 65 45 / 7/1/6 130/240/340  pEx#EinE A M FAEBUHAAE300K BBU+RRU 55 |4.5 2 |12H1H
354 | ExH | #EE WEB FEEE 119.29752 | 34.40755 2.16 3 8 17 6 65 38 / 5/5/10 130/260/310 8 =TT = B N R R R3] S0KE = BBU+RRU 55 4.5 & 12§11
355| iz | WEAgLL | MERELL KGR TR 119.313773| 34.19558 | 2.16 3 4 17 6 65 38 / 3/3/3 135/230/50 Loz Bk R P 40k BBU+RRU 55 |4.5] g [12/18
356 | iEzit | AKX ur]x i um ik 119.1874 | 34.65137 | 3.56 3 8 17 6 65 30 / 9/9/9 14072307350 |zt X IR Y 2R 30K M‘A BBU+RRU 55 [4.5 = (12111
357 iz | WL 119.376 34.088 3.56 3 8 17 6 65 42 / 6/10/10 140/260/340 gLr,&yljy&ﬁﬁ” PR E—FY ¥ BBU+RRU 55 |4.5] g [12/18
358| iEzi X 119.133 34.601 3.56 3 8 17 6 65 35 / 5/9/7 15/100/190 PG BRI 1T 7 BBU+RRU 55 |4.5] & |12/01H
359 | iz | WAL B FEEIRE i 119.288128 | 34.407005 | 2.16 3 8 17 6 65 38 / 6/7/8 15/100/240 T3 ZEL R4 U R k2 BBU+RRU 55 |4.5] g [12/18
360| Exits | AR HEm B TR L) 119.2881 | 34.40701 | 2.1G 3 4 17 6 65 38 / 6/7/8 15/100/240 A i T 2 B R R A R BBU+RRU 55 [4.5 = [12/11H
361| Exi# | X X izdcﬁfwwﬁﬁ # 119.0363 | 34.87421 | 2.1 3 4 17 6 65 38 / 6/6/6 15/105/210 P 2 A DX 907G 0D B 3004 BBU+RRU 55 |4.5 2 |12H1H
362| Exit | X X B4 118.9602 | 34.7935 2.16 3 4 17 6 65 50 / 4/4/4 15/110/210 X _I R BBU+RRU 55 4.5 =2 12/11H
363| izt | ezl AKX Joli ik (D) s (WD) | 119241678 | 34.722662 | 3.50 3 8 17 6 65 39 / 3/3/3 15/110/250 [z X AL |5 3t KOt As B | BBU+RRU 55 |4.5] g [12/18
364 | iExit | BHiIX %;mlx'_wmumm 118.857 34.88 2.16 3 4 17 6 65 43 / 6/6/6 15/110/250 T%ﬂfm&g“mw X BBU+RRU 55 [4.5 = (12111
365 | izt | X 110.1174 | 34.77484 | 2.16 3 4 17 6 65 40 / 8/8/6 15/120/190 BBU+RRU 55 |4.5] g [12/11
366 | Ezxit | X 118.862451 [ 34.969816 | 2.1G 3 4 17 6 65 38 / 6/6/5 15/120/210 | BBU+RRU 55 4.5 =2 12/11H
367 iz | X 119.238 34.529 2.16 3 4 17 6 65 53 / 3/3/3 15/120/220 '1;2204[&' 2 nJ 55k fiiiE  [BBU+RRU 55 4.5 & [12H1H
368 | iExits | il 119.090769 | 34.580052 [ 3.56 2 8 17 6 65 40 / 6/6 325/220 TR RO N SOR=EH BBU+RRU 55 [4.5 = [12/11H
369 | izt | X 118.9228 | 34.86528 | 2.1 3 4 17 6 65 40 / 6/6/6 15/120/240 | it T A OB TS A< 711 50 BBU+RRU 55 |4.5 2 |12H1H
370| Exits | dEEE 119.2725 | 34.17679 | 2.1 3 4 17 6 65 49 / Y 15/120/240 5 7 i T L S K P BBU+RRU 55 [4.5 = [12/11H
371 iz | WL ﬁw 119.525 | 34.2256 | 2.1G 3 4 17 6 65 40 / 3/3/3 15/120/260 R = O BBU+RRU 55 |4.5] g [12/11
372| Exits | MR a?é S 119.305 34.163 2.16 3 4 17 6 65 45 / 7/6/6 15/125/195 LARERME TR BBU+RRU 55 [4.5 = [12/11H
373| iz 118.7768 | 34.59549 | 2.1G 3 4 17 6 65 35 / 8/6/6 15/125/230 [z Al B AR B BBU+RRU 55 |4.5] g [12/18
374 &z 119.344 | 34.74656 | 3.56 1 8 17 6 65 38 3 4 200 AR R X 205 4% BBU+RRU 55 |4.5] & |12/01H
375| #Exi# 119.0908 | 34.58005 | 3.5G 2 8 17 6 65 40 / 6/6 325/220 o T AR LR Y E N TN | BBU+RRU 55 |4.5 2 |12H1H
376| Exits MR HEA 119.109 34.261 2.16 3 4 17 6 65 40 / 9/8/8 15/130/270 VA i 2 T 2 L T P OO FE T2 BBU+RRU 55 [4.5 = [12/11H
377| Ex# | X X _A T 119.123 35.024 2.16 3 4 17 6 65 40 / 6/6/6 15/135/250 ST TR X & LR ARA BBU+RRU 55  |4.5 2 |1201H
378| x| kX kX _ Gl 119.05485 | 34.985226 | 2.1G 3 4 17 6 65 45 / 3/3/3 15/140/210 (4 3% 5 T i X L O P /N6 ATRIEHBAIANIE | BBU+RRU 55 4.5 & 12§11
379| =zt HEM Xl AL 119.0393 | 34.6385 2.16 3 4 17 6 65 53 / 3/3/3 15/150/270 R i 3 A=A BBU+RRU 55  |4.5 2 |1201H
380| izt HEIHIX I FETTH_ 25 119.0332 | 34.63993 | 2.1G 3 4 17 6 65 53 / 13/14/12 15/150/270 J5 A 75 T DX A VL B 7 L AR BBU+RRU 55 [4.5 = [12/11H
381| E=it HIX AR5 119.106 | 34.51299 | 2.1G 3 4 17 6 65 32 / 10/9/4 15/170/235 HERHEATEM X H b BUTILE A TR | 40K BBU+RRU 55  |4.5 2 |12H1H
382| izt X _Hiv A 119.180875 [ 34.458883 | 2.1G 2 8 17 6 65 30 / 8/6 330/100 it Tl P DRV PR /N AR 30Kt BBU+RRU 55 4.5 =2 12/11H
383| =zt e SRl 119.09 34.548 2.16 2 4 17 6 65 40 / 8/8 330/190 PRI s T A L A U AT LS| S5KIEMLM RIS | BBU+RRU 55 |4.5 2 |12H1H
384 | iExits AT (Rah) A 119.162 | 34.67343 | 2.1G 2 4 17 6 65 43 / 6/6 330/200 TN X AT R d A BBU+RRU 55 [4.5 = [12/11H
385| iz iz B R A R Al 119.305571 | 34.326224 | 2.16 2 4 17 6 65 38 / 5/5 330/210 (AL L FERUR SITAI 40K IS [BBU+RRU 55 |4.5] g [12/18
386 | iEzitt | HEHIX H2% A€ [l [X BS 5 b 119.1546 | 34.57646 | 2.1G 2 4 17 6 65 20 / 10/10 330/30 ZHE TR (X 3 1 9 (X BS 5 bE | ST BBU+RRU 55 [4.5 = [12/11H
387| =zt | WX X s T y 118.9565 | 34.92173 | 2.1 3 4 17 6 65 45 / 6/6/6 15/70/270 PE it T AR DX L BUS T PG5000K v fi BRI BBU+RRU 55 |4.5 2 |12H1H
388| izt | WS HER R A IPM A 2R 119.266219 [ 34.06756 | 2.1 3 4 17 6 65 45 / 3/3/3 150/220/305 PR B AR TN A AOK I BBU+RRU 55 4.5 =2 12/11H
389| iz | ERKX Sz AR 119.382697 | 34.609733 | 2.16 2 4 17 6 65 43 / 3/3 330/40 B z<1ﬁiir5%,1\HTwr#§m ;su A4 =l [BBURRU 55 4.5 & [12H1H
390 Ezits | KilgH iR UK AR 118.8846 | 34.57406 | 2.1 2 4 17 6 65 13 / 4/4 340/220 ur«ﬁ‘m\ 15K IEFF BBU+RRU 55 4.5 =2 12/11H
301 | iz | WX ) 119.1909 34.61 2.16 3 4 17 6 65 66 3 20/15/10 170/90/270 HE BBU+RRU 55 |4.5] g [12/18
392| iExits | AilEH b 118.89001 | 34.66821 | 2.1G 3 4 17 6 65 41 / 8/8/8 20/100/250 ] AR BBU+RRU 55 [4.5 R’ [12/11H
393 | iz | AL BT A R 118.7073 | 34.47277 | 2.16 3 4 17 6 65 43 / 8/13/10 20/105/260 it Ll i B T3 A Al =15 [BBU+RRU 55 |4.5] g [12/11
394 | Ex | #EE i () 119.805 34.45923 2.16 2 4 17 6 65 43 / 3/3 340/220 R . (H],ﬁ) b R ARIE BBU+RRU 55 4.5 & 12§11
395| izt | Filgs 118.76 34.49726 | 2.16 3 4 17 6 65 28 / 8/7/9 20/11/230 Byl ML$ (Rid BBU+RRU 55 [4.5 s |12H1H
396| Exits | AR 119.199 34.235 2.16 3 4 17 6 65 45 / 5/5/13 20/115/200 Vi m T B A mamumms IR BBU+RRU| RZK 7 55 [4.5 = [12/11H
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397 Exit | #mLl iﬁiﬁ‘:l’f‘%f’ﬂf‘r‘éﬂﬁ' 160 119.28088 | 34.10937 3.56 2 8 17 6 65 25 / 5/5 340/230 LA E R LA R 30K BBU+RRU| KZk K77 55 4.5 i3 12/1H
398 | iExits | WEkiIX 119.042 34.739 2.16 3 4 17 6 65 47 / 6/6/6 20/115/230 JE 2z 8 T A X 4905 B P £ 75450 IR BBU+RRU| RZK T 7 55 [4.5 = (12111
399 | =z | HX 118.967146 | 34.712212 [ 2.16 3 4 17 6 65 48 / 3/3/3 20/120/200 B Z s TR X Vi SO A 2 2] SORVEMUN RIS [BBU+RRU| R T 55 [4.5 2 |12H1H
400| ExiE | e 119.3716 | 34.0947 3.56 3 8 17 6 65 30 / 7/8/8 20/120/210 [L25 4 i 2 T EL BT AN T BOK LAY BBU+RRU| RZK 7 55 [4.5 = [12/11H
401 | Ex# | X 119.186229 | 34.454438 | 2.16 3 8 17 6 65 35 / 5/5/13 20/120/210 [ i 17t H DOPT LRI A 25 £ 2 4071<$ H BBU+RRU FJ7 55 [4.5 2 |12H1H
402 | ExE | X 118.9421 | 34.82388 | 2.1G 1 4 17 6 65 38 / 3 90 U4 i 7 T A X D9 S A AR (=8 BBU+RRU 55 [4.5 = [12/11H
403| Ezik | AL L, R 118.8151 | 34.50504 | 2.16 3 4 17 6 65 48 / 3/3/3 20/120/225 AL, FOEEE R BBU+RRU 55 |4.5] g [12/11
404 | Em | HERR HERE AR 119.272 34.242 2.16 3 4 17 6 65 45 / 3/3/3 20/120/230 = B EADE S BBU+RRU 55 4.5 & 12§10
405| #ziE e 118.8506 | 34.44354 | 2.1G 3 4 17 6 65 40 / 5/8/11 20/120/260 AL BLEFE % BBU+RRU 55 4.5 & [12H1H
406| #zxi 118.7746 | 34.5158 | 3.56 3 8 17 6 65 13 3 8/4/6 20/120/270 ARHEE N BBU+RRU 55 4.5 & |12/01H
407 | &z | X 119.0273 | 34.87917 | 2.16 3 4 17 6 65 40 / 6/6/6 20/120/305 i’Lrw‘%vIJtﬁ‘FlkmfﬁJr i #E200K BBU+RRU 55 |4.5 2 |12H1H
408| Exi | AR 119.4712 34.474 2.16 3 4 17 6 65 50 / 5/5/5 20/125/240 s T i 25 LUV SRR & 2218 BBU+RRU 55 [4.5 = [12/11H
409| Ezi | AL 119.0953 | 34.51963 | 2.1G 3 4 17 6 65 43 / 7/6/8 20/130/220 [k mitkili4 U B 1E240K BBU+RRU 55 |4.5] g [12/18
410| ExiE | dEEE R N X 119.3115 | 34.08162 | 2.1 3 4 17 6 65 23 / 3/3/3/ 2071307230/ Vil i g L A RS A S AR 25 1 f&#\kf& BBU+RRU 55 |4.5 = (1211
411 R Al EM28 S B 118.8361 | 34.54951 | 2.1G 3 4 17 6 65 20 3 5/5/5 20/130/240 A28 5 1 BBU+RRU 55 |4.5] g [12/11
412 | u.ﬂx R IR X P2 AL 119.579138 [ 34.513863 | 3.56 3 8 17 6 65 33 / 9/12/10 20/130/240 ERX_ARXRIT R T X g A BBU+RRU 55 4.5 =2 12/11H
413 | Ex# IX_ifiF /e e} 119.0988 | 34.61459 | 3.5G 3 8 17 6 65 38 / 7/1/9 20/130/240 L5 34 2 W T U H DX /N M L) BBU+RRU 55 |4.5 2 |12H1H
414| &R WnB R L) 119.3583 | 34.32685 | 2.1 3 4 17 6 65 38 / 6/3/6 20/130/260 Tz B L AR R R 1ES0) BBU+RRU 55 [4.5 = (12111
415 | &z | X BRX S 118.9723 | 34.92216 | 2.1 3 4 17 6 65 30 / 6/6/6 20/130/280 s i e DX KO A AL 15, BBU+RRU 55 |4.5 2 |12H1H
416 | &z | Kilgh Rl R RO/ X445 R iR 118.751046 [ 34.538986 | 2.1G 3 4 17 6 65 38 2 3/3/3 20/130/290 (L9578 3 25 M T it LR /N [X 445 2K BBU+RRU 55 4.5 =2 12/11H
417| R | WERD WEE BRATH 119.1584 | 34.23851 | 2.1G 3 4 17 6 65 47 / 6/8/6 20/135/250 ki = BRI U TASERE R 3 BBU+RRU 55 |4.5] g [12/18
418 x| RS HRAEE A Z RS 118.515278 | 34.566389 | 2.1G 3 4 17 6 65 38 / 7/6/9 20/140/230 HREE A RS BBU+RRU 55 4.5 & 12§10
419| ExE | i 118.7882 | 34.5446 | 2.1G 4 4 17 6 65 39 3 6/6/10/10 320/40/130/220 BBU+RRU 55 |4.5] g [12/18
420 | ERE | X 119.098 34.98 2.16 3 4 17 6 65 40 / 6/6/6 20/140/240 L AR BBU+RRU 55 [4.5 = [12/11H
421| Exk | wEm i 119.428 34.21 2.16 3 4 17 6 65 45 / 3/3/5 20/150/245 i BBU+RRU 55 |4.5] g [12/11
422 | EXE | X 119.0321 | 34.80036 | 2.1 3 4 17 6 65 43 / 6/2/4 20/150/260 S0KEH =% | BBU+RRU 55 [4.5 = (12111
423 sz | A i 118.7493 | 34.41412 | 2.16 3 4 17 6 65 48 / 6/6/8 20/150/270 1l &it, ) NS | BBURRU 55 |4.5] 2 |12H1H
424 | ERE | AR Wz 119.3307 | 34.39382 | 2.1G 3 4 17 6 65 48 / 8/5/5 20/150/275 i AT 2 B AR TN R3] SOKIEHL =TS | BBUHRRY 55 [4.5 = [12/11H
425 | Ex# | X X ,% SREHE 119.1145 | 34.91611 | 2.16 3 4 17 6 65 45 / 6/6/6 20/150/280 HEZ T 5 UM FE A 4R100K 47*«511'_!(1'?%1& BBU+RRU 55  |4.5 2 |12H1H
426 | x| Rilgh JRIEEL B 118.985 34.66 2.16 3 4 17 6 65 47 / 3/3/3 20/150/280 LA Em AR AN PEs0N i R BBU+RRU 55 [4.5 = [12/11H
427| R | WRL Wz E RESTTH 119.3013 | 34.27636 | 2.16 3 4 17 6 65 29 / 5/5/5 20/155/260 PRI s il 2 B AR E UL IR 401&;,1&1% BBU+RRU 55 |4.5] g [12/18
428| Exik | A R AR 119.2615 | 34.0476 2.16 3 4 17 6 65 50 / Yl 20/160/250 ﬂgmr e L 48K BBU+RRU 55 [4.5 = (1211
429| it | s [ N N 119.199 34.441 2.16 3 4 17 6 65 50 / 5/10/6 20/160/260 LU/ HE 20K 19*«5110_!(%1& BBU+RRU 55 4.5 & [12H1H
430| izl | #ERR WRE BT 119.462 34.431 2.16 3 4 17 6 65 52 / 3/3/3 20/160/270 Al BBU+RRU 55 4.5 & 12§10
431 ERE | B X3k B 118.9818 | 34.86112 | 2.1G 3 4 17 6 65 40 / 6/4/4 20/170/215 X3k I B BBU+RRU 55 |4.5] g [12/18
432| Eni | ERK H TARAT BT e 28 0 S A 1 119.576748 | 34.543863 | 3.56 3 8 17 6 65 55 / 3/3/3 20/170/250 3 MBI 2 (X AR A A X A BBU+RRU 55 [4.5 = [12/11H
433| Exik | Wi ERE L FRK IO 119.5854 | 34.23225 | 2.16 3 4 17 6 65 40 / 7/6/10 20/170/260 L35 i 2 i T Vit BBU+RRU 55 |4.5] g [12/18
434 | ERE | EHX XA 172287 1 B kI8 _Zii 119.200428 | 34.982656 | 2.1G 3 4 17 6 65 38 / 3/3/3 20/170/270 A i 7 T A X Sk RN PO 4R AOK 1 BBU+RRU 55 [4.5 = [12/11H
435| &zt | HERLL L SR/ X Y] 119.2626 | 34.07532 | 3.5G 3 8 17 6 65 45 / 7/1/8 20/170/270 PR A R LR BRI N 45K = BBU+RRU 55 |4.5 2 |12H1H
436 | ExiE | 3 AR AKX A 119.2625 | 34.07513 | 3.5 3 8 17 6 65 45 / /178 20/170/270 RERP ARk i 1.0 N | Lo e BBU+RRU 55 [4.5 = [12/11H
437 | EzE W AR X CASbE 119.1566 | 34.57619 | 2.1 2 4 17 6 65 20 / 10/10 340/70 BT X AR AL (X C4 5 BB SHT BBU+RRU 55 [4.5 2 |12H1H
438 Exi 7 X _ BRI A Gk R 119.58424 | 34.5509 3.56 3 8 17 6 65 28 3 3/3/3 20/170/330 JEZ X _ BT P A Gk R e BBU+RRU 55 4.5 & 12§10
439 | &zt R ARIT BRI A0 37 ORI AT 119.564 | 34.55023 | 3.5G 3 8 17 6 65 10 3 6/6/6 20/180/270 V2 X it B R R AL S 1 A X ﬁr A J\M: J# | BBU+RRU 55 |4.5 2 |12H1H
440 = B LN EY 119.0039 | 34.90085 2.16 3 4 17 6 65 41 / 6/6/6 20/180/270 [E 75 T A X5 1L BN R 9 150 8 BBU+RRU 55 4.5 & 12§11
441| R Mz 119.506 34.457 2.16 3 4 17 6 65 45 / 4/4/3 20/180/290 L R R BBU+RRU 55 4.5 & [12H1H
442 | ExiE ARt 118.9974 | 34.67299 | 2.1 3 4 17 6 65 33 / 3/3/3 20/200/290 LA T s T A RS 4504 BBU+RRU 55 [4.5 = [12/11H
443 | ExE 118.5291 | 34.44709 | 2.16 3 4 17 6 65 45 / 6/6/5 20/200/300 ARG BRARER GE] il BBU+RRU 55 4.5 3 12A1H
444 | EnE R E_‘P‘im )\“’ FEFG LI 119.3024 | 34.14415 2.16 3 4 17 6 65 35 / 3/3/3 20/235/135 Vi T e L AR B SO 40K SIS | BBU+RRU 55 4.5 & 12§11
445| R Wz B TR 119.5937 | 34.37237 | 2.16 3 4 17 6 65 25 / 3/3/3 20/270/290 PRI s il 2 B TR M ik 0 | BETIHURT BBU+RRU 55 |4.5] g [12/18
446 | R | ERKX ERAIFI3GHE 119.328 34.7408 2.16 3 4 17 6 65 60 3 6/3/3 20/275/320 X T il H)\tﬁl”}?ﬁxxmm ERCES HAH BBU+RRU 55 [4.5 = [12/11H
447 | Emit | R Wz B R AL 110.4883 | 34.47034 | 2.16 3 4 17 6 65 38 / 7/5/5 20/75/260 ZHE T ELPUBBUR AR AALTE80) A —4FHE | BBU+RRU 55 |4.5] g [12/18
448 | ExiE | A R R R 119.2557 | 34.14349 | 2.1 3 8 17 6 65 55 / A17/4 20/80/225 LARE U TR 0 [oRE SR BBU+RRU 55 [4.5 R’ [12/11H
449 | ExME | X X D R A 118.905226 | 34.743356 | 2.1G 3 4 17 6 65 40 / 3/3/3 20/90/190 3 =T X b A3KTE M = [ BBU+RRU 55 4.5 R 12H1H
450 | i | S HER R MR 119.693 34.353 2.16 3 4 17 6 65 40 / 3/3/3 20/90/220 [ 3% 2z B TIT 3 Tl B M AR /N o ATK AN BBU+RRU 55 4.5 & 12§11
451| ERiE CEEL B L/ 5L 118.8289 | 34.37311 | 2.16 3 4 17 6 65 43 / 6/4/5 20/95/240 FAECE T ARG BN =1 [BBURRY 55 4.5 & [12H1H
452 | Eni IX_rhiEA 119.2801 | 34.50156 | 2.16 2 4 17 6 65 14 / 3/3 340/80 T M X P MR RRE TR RETTHLAT BBU+RRU 55 4.5 =2 12/11H
453| ERiE ZEIFEAE 119.587 34.421 2.16 3 4 17 6 65 40 / 3/3/3 25/110/240 i oy O s e o MRS |BBUHRRU 55 |4.5] g [12/11
454 | it iR _pl 118.901 34.40803 2.16 3 4 17 6 65 43 / 5/4/5 25/120/240 Vi T A ety BBU+RRU 55 4.5 & 12§11
455 | &z | X X8 DR 119.0777 | 34.914127 | 2.1 3 4 17 6 65 41 / 3/3/3 25/120/280 L&zl BBU+RRU 55 |4.5 2 |12H1H
456 | Exmi | S SRR ALY 119.2767 | 34.12182 2.16 3 4 17 6 65 40 / 5/5/5 25/135/270 3 753 T T L AL P ) 40K = BBU+RRU 55 4.5 & 12§10
457| ERE | ERKX R ARIT LR 119.6246 | 34.62364 | 3.56 3 8 17 6 65 19 / 3/3/3 25/180/250 s ITIE 2 ICERATHE AL Sk A A R ST BBU+RRU 55 |4.5] g [12/18
458 | itz | X i X T 119.0697 | 34.91652 2.16 3 4 17 6 65 40 / 6/6/6 275/110/180 |2 8 i e X S AP R R Pl 10 T = BBU+RRU 55 4.5 7 12/1H
459| EziE | X N X BTG 119.124548 | 34.514133 | 2.16 3 8 17 6 65 39 / 8/1/9 275/90/180 s T X B R 16204\ KB SOKMEFIS [ BBU+RRU 55 |4.5] g [12/18
460 | ExE | X 118.9486 | 34.9887 2.16 3 4 17 6 65 47 / 3/6/4 280/120/195 % s BBU+RRU 55 [4.5 = (1211
461| Ezik | AL 118.671 34.655 2.16 3 4 17 6 65 45 / 5/5/5 285/120/200 BBU+RRU 55 |4.5] g [12/18
462 x| BhX 119.092 34.8139 2.16 3 4 17 6 65 28 / 9/8/6 290/140/220 BBU+RRU| RER 7 55 [4.5 = [12/11H
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463 | Ex# | KilFE ARitgEL Pl F y 118.8888 | 34.38782 | 2.1G 3 4 17 6 65 56 / 5/5/6 290/75/215 s T A L L OO A S R 55 A ERAE BBU+RRU| K% FJ7 55 [4.5 2 |12H1H
464 | Enl | HERR B 2 A 119.7259 | 34.47511 | 2.16 3 4 17 6 65 38 / 3/3/3 290/90/160 B 2 A W g BBU+RRU| Kk FJ7 55 4.5 =2 12/11H
465| izt | ERX | ERRITEIIG X T 119.5615 | 34.5515 3.56 3 8 17 6 65 10 / 6/6/6 295/70/144 V2 IX it B R R AL S 1 A X AT BBU+RRU| RZk I 55 [4.5 2 |12H1H
466 | iz 118.695808 | 34.416086 [ 2.16 3 4 17 6 65 38 / 8/8/6 295/90/200 IR BBU+RRU| RZR 7 55 [4.5 = (12111
467| Rk 118.787 34.503 2.16 3 4 17 6 65 27 / 3/3/3 30/110/260 12K 505 | BBURRU Ko7 55 4.5 & [12H1H
468 | Hxi 118.9565 | 34.3816 | 2.16 3 4 17 6 65 47 / 5/8/6 30/110/280 B i =S | BBURRU 55 |4.5] & |12/01H
469 | &zt 118.955 34.68 2.16 3 4 17 6 65 40 / 3/3/3 30/115/260 & RN AR AR ﬂﬁ’bh Y MR BBU+RRU 55 |4.5 2 |12H1H
470| ExiE 119.1261 | 34.7509 | 2.16 3 4 17 6 65 40 / 12/9/6 30/120/230 X _% 75 IR BBU+RRU 55 4.5 & |12/91H
471| ERE _ ) 119.3055 | 34.1799%6 | 2.1G 3 4 17 6 65 40 / 7/1/6 30/120/255 LRI 2 o g L Wi | BBURRU 55 |4.5] g [12/18
472 | Eni Xl e # 119.2854 | 34.50014 | 2.16 3 4 17 6 65 48 / 3/3/3 30/120/260 Vi s T X G B MR SOKpEr BBU+RRU 55 4.5 =2 12/11H
473 | Ex# <5 LR A # 119.263819 | 34.422506 [ 2.16 3 8 17 6 65 35 / 5/3/3 30/120/270 MR T R LM IR A AR 40K LR BBU+RRU 55 [4.5 2 |12H1H
474 | EnE R ST G 119.479 34.363 2.16 3 4 17 6 65 40 / 17/13/13 30/120/270 FHETT i = B R U T R AT T AR 1 I =S BBU+RRU 55 4.5 & 12§11
475| it XSl kR 119.2013 | 34.58021 | 3.56 3 8 17 6 65 36 / 8/8/8 30/120/280 X33 75 KR i | BBURRU 55 4.5 & [12H1H
476 | Exi X TS aa T iR 119.4293 | 34.69654 | 3.56 3 8 17 6 65 15 / 40/10/10 30/125/220 VE S TITIE 25 (X T R T T L 4 5 ST BBU+RRU 55 [4.5 = [12/11H
477 ExE HEZ R RS S R 119.2772 | 34.28615 | 2.1 3 4 17 6 65 58 3 5/6/5 30/130/220 HEZ R AR S HAE BBU+RRU 55 4.5 5 12/1H
478| Eni HE 2L X 4 51 119.2415 | 34.28831 | 2.1G 3 4 17 6 65 21 3 0/0/0 30/130/230 HER IR XA 5 1 HAH BBU+RRU 55 [4.5 R’ [12/11H
479| it ) R BN X Pl g 119.1399 | 34.56889 | 2.16 3 4 17 6 65 12 3 5/5/5 30/130/240 HEM AN X P B R T HEAUEEAL KL [ BBU+RRU 55 |4.5] g [12/11
480 | &zt M XSk & A 119.2224 | 34.59184 | 3.56 3 8 17 6 65 30 / 4/4/4 30/130/250 N X _G kS 4 A ATHFSE BBU+RRU 55 4.5 =2 12/11H
481| it 118.71 34.4997 | 2.16 3 4 17 6 65 41 / 7/8/8 30/130/290 LTk Wi = |BBURRU 55 4.5 & [12H1H
482 | Exik 118.9788 | 35.0115 2.16 3 4 17 6 65 49 / 7/6/5 30/140/220 L AR BBU+RRU 55 [4.5 = [12/11H
483 | izt | X X Y 118.8768 | 34.82761 | 2.1G 3 4 17 6 65 30 / 6/6/6 30/140/230 { n@nmsw 3OKERITAT BBU+RRU 55 [4.5 2 |12H1H
484 | ERiE | ERKX HErX_EENX2T T 119.357 | 34.71309 | 3.5G 3 8 17 6 65 38 3 6/6/6 30/140/260 ik = X = #5995 R X2 HAHE BBU+RRU 55 [4.5 = [12/11H
485| &zt | WAL HEZ AL FPOMN TR 119.448 34.414 2.16 3 4 17 6 65 38 / 5/5/5 30/140/280 s 1 i 2 L DU AN T 76 725 6 i = BBU+RRU 55 |4.5 2 |12H1H
486 | Gl | Rl HilEE SKBHGE % 118.7273 | 34.49998 2.16 3 4 17 6 65 41 / 3/3/3 30/140/290 [ % 5 T A g L i B BN s A \bz R BBU+RRU 55 4.5 & 12§11
487 | iz | MpIX HIX_RE frih y 119.1879 | 34.63791 | 3.5 3 8 17 6 65 40 / 3/10/7 30/150/230 s TV DX S B R 5 ik 4 ) AOK T BBU+RRU 55 |4.5 2 |12H1H
488| Enik | AR = DAL b 119.2832 | 34.29013 | 3.56 3 8 17 6 65 35 3 3/3/3 30/150/250 [Lo A i = i = BT R 1L T U SR | BBURRU 55 [4.5 = (12111
489| HziE | X | [X_HEBILENRT 4 119.2107 | 34.63096 | 3.56 3 8 17 6 65 20 / 4/4/4 30/150/260 X _ BT 4R BT RL  [BBU+RRU 55 |4.5] g [12/18
490 | &z | KifgH FRiGE AR 2R 118.540566 [ 34.675814 | 2.1 3 4 17 6 65 38 / 5/5/5 30/150/260 ARifg B AR 2 AL BBU+RRU 55 4.5 =2 12/11H
491 | x| X X it T 5 119.1721 | 34.72033 | 2.16G 3 8 17 6 65 53 / 10/6/11 30/150/260 e i e DX A FE BT AT 975 A BBU+RRU 55 |4.5 2 |12H1H
492| ExiE | AR MR ,\Tﬁr-gr“ 119.252476 | 34.427317 | 2.16 3 8 17 6 65 38 / 9/5/5 30/150/270 Lz T s BN D BBU+RRU 55 [4.5 = [12/11H
493| Exi | AL AL RIS E 118.946112| 34.62191 | 2.16 3 4 17 6 65 33 / 6/8/4 30/150/305 ARMEEL IR R BBU+RRU 55 |45 g [12/18
494 | iExi | HkX X _ G e 118.864 34.817 2.16 3 4 17 6 65 40 / 6/6/6 30/155/245 S T U AR R R B 10K BBU+RRU 55 4.5 & 12§11
495 | x| X X DIl 118.8967 | 34.76263 | 2.16G 3 4 17 6 65 38 / 6/6/6 30/160/260 AT A B0 5 16100k BBU+RRU 55  |4.5 2 |12H1H
496 | &zt | KifgH FRitg L2 NI 118.764 | 34.41526 | 2.1G 3 4 17 6 65 38 / 3/3/3 30/165/300 V53 2 o T AR i L S A b 1S BBU+RRU 55 [4.5 = (12111
497| ERE | X 119.0196 | 34.66335 | 2.1G 3 4 17 6 65 44 / 6/6/7 30/175/270 BBU+RRU 55 |4.5] g [12/11
498| Exi | Righ 118.8641 | 34.41279 | 2.16 3 4 17 6 65 40 / 4/1/6 30/180/295 BBU+RRU 55 |4.5 R’ [12/11H
499| Hzik | Wi 119.3566 | 34.10604 | 3.56 3 8 17 6 65 54 3 6/6/6 30/200/300 BBU+RRU 55 |4.5] g [12/11
500 Ezits | EkiIX 119.1747 | 34.84665 | 3.56 3 8 17 6 65 33 3 3/3/3 30/210/300 BBU+RRU| RZK 7 55 [4.5 = [12/11H
501| =z | ERKX 119.5931 | 34.53907 | 3.5G 3 64 8 25 90 38 / 3/3/3 300/110/200 i&vlJiizW%fﬂWLEHYMIMM:T BBU+RRU| fERR %L 35 7 2 |12H1H
502| Ezits | ilEH 118.676 34.567 2.16 3 4 17 6 65 45 / 3/3/3 300/115/190 AR LRSI A BBU+RRU| ALK 7 55 [4.5 R’ [12/11H
503| iz | AL 119.074 34.402 2.16 3 4 17 6 65 45 / 3/3/3 300/120/210 Wl RHBITEE BBU+RRU Ko7 55 4.5 & [12H1H
504 | &z | X 118.917412 [ 34.921293 | 2.16 3 4 17 6 65 38 / 5/5/5 300/130/225 W X3 SR A BBU+RRU 55 4.5 =2 12/11H
505 | iz | X 119.097256 | 34.916463 | 2.16 3 4 17 6 65 40 / 4/5/7 300/30/170 X i T BBU+RRU 55 |4.5] g [12/11
506 | iEzits | X 119.2441 | 34.6591 3.56 3 8 17 6 65 20 3 5/5/5 300/35/140 HEIHIX /AN BBU+RRU 55 [4.5 = [12/11H
507 | it | #X 119.082757 [ 34.929835 | 2.1 3 4 17 6 65 43 / 6/7/5 300/65/170 X85 iR BBU+RRU 55 4.5 5 12/1H
508 | iEzits | WEkiX 119.0604 | 34.84892 | 2.1G 3 4 17 6 65 38 / 6/6/6 300/70/170 Ve 2 T A X 76 - L1130 BBU+RRU 55 [4.5 = [12/11H
509 | iz | X y 119.1803 | 34.62452 | 3.5 3 8 17 6 65 35 / 7/8/10 300/70/220 Pz T P XA MG A X AL AOK BBU+RRU 55 |4.5 2 |12H1H
510| Exits | dEdE WMM)&M\ﬁﬂze S 119.36001 | 34.10952 | 2.1G 2 4 17 6 65 54 3 20/20 350/170 i RUELAR 26 5 bk HAH BBU+RRU 55 [4.5 = [12/11H
511| iz | #X HX_BE 7 i 118.881 34.935 2.16 3 4 17 6 65 45 / 6/6/6 300/70/240 X _JEE T =15 [BBU+RRU 55 |4.5] g [12/11
512 Ezits | KilgH HEE QUL IbE_g k% 118.549653 | 34.597107 | 2.1G 3 4 17 6 65 48 / 6/8/4 300/80/190 FiEE UL R BBU+RRU 55 4.5 & 12J11H
513| iz | BiX X kR 118.934246 | 34.791129 | 2.16 3 4 17 6 65 45 / 4/4/6 300/80/210 X ik KT BBU+RRU 55 |4.5] g [12/11
514 | Exi | HliX XK 118.920766 [ 34.771962 | 2.1G 3 4 17 6 65 38 / 5/2/4 300/80/250 X _ ISR 4 BBU+RRU 55 4.5 =2 12/11H
515| =z | HX *»mr i IBEU_LI/) 119.0661 | 34.77644 | 2.1G 3 4 17 6 65 48 / 8/13/10 300/90/170 Bl T B X 75 1 0081 4 412004 BBU+RRU 55 |4.5 2 |12H1H
516 | Exits | HilEH AT 34.57711 | 118.9133 | 2.16 3 4 17 6 65 38 / 7/6/5 300/90/180 |z s T R B (B R K Y ) ) BBU+RRU| RZK 7 55 [4.5 = [12/11H
517 iz | X P X 1 Bl 45 119.313491 | 34.580697 | 3.56 3 64 8 25 90 33 / 3/3/3 305/110/180 X[ i 7okt BBU+RRU| 41 Ktk 35 7 & [12H1H
518 | Ezits | BMX % “MX_fa‘MEEm 118.9876 | 34.91085 2.16 3 4 17 6 65 39 / 6/6/6 305/120/225 T Eh X L S VR ARk 50 BBU+RRU G 55 4.5 & 12§11
519 | iz | i 119.053077 | 34.587072 | 2.16 1 4 17 6 65 40 / 9 20 X _ {6 ] BBU+RRU 55 |4.5] g [12/18
520 Ezi g 119.51749 | 34.622025 | 3.56 3 8 17 6 65 66 / 10/10/10 305/120/240 ST 7 XK RICIMARIF R BETH AT BBU+RRU 55 |4.5] & [12/]1H
521| iz BT A BT 119.158325 | 34.312902 | 2.16 3 4 17 6 65 40 / 3/3/3 310/100/240 Wz EL AN bR ST ! it BBU+RRU 55 |4.5] g [12/18
522 | it X _ AR AR 119.128 34.7603 2.16 3 8 17 6 65 38 / 10/7/8 310/130/190 u.r,ﬁ‘r%ﬂmx RIEHPE R 21000 40KIE LTS | BBU+RRU 55 4.5 & 12§11
523| iz 2SN | 119.2726 | 34.13368 | 2.16 3 4 17 6 65 45 / 7/12/11 310/200/105 i T A L R A 45% BBU+RRU 55 |4.5] g [12/18
524 | Exits HEIHERAE P (XF5 5 B 119.1568 | 34.57814 | 2.1G 4 4 17 6 65 20 / 10/10/10/10 310/30/110/180 |z lvifi (X 5 B 1 7 9 [X F5 5 be | ST BBU+RRU 55 [4.5 = [12/11H
525| iz X b R RGE 118.9208 | 35.00568 | 2.1G 3 4 17 6 65 18 / 5/4/3 310/60/160 X i REHGE_ ) g% | BBU+RRU 55 4.5 & [12H1H
526| iEnit | #nE HERE_HRKIBEE T R 119.111 34.328 2.16 3 4 17 6 65 45 / 3/3/3 310/65/190 P =TT 25 B R e T BBU+RRU 55 4.5 =2 12/11H
527| =it RSB e} 118.6581 | 34.61237 | 2.1G 3 4 17 6 65 40 / 3/6/15 310/70/200 JE 2 it T 4 L 7 7 S R A BBU+RRU 55 |4.5 2 |12H1H
528| izt X _KARIE 119.2217 | 34.59682 | 3.56 3 8 17 6 65 30 / 4/4/4 310/80/250 N X KA [l | BBU+RRU| KZk FJ7 55 4.5 =2 12/11H
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529| iz | ERKX ERX_ERADKT-35 119.4449 | 34.77455 | 3.56 3 64 8 25 90 53 / 3/3/3 310/90/195 KT BBU+RRU 35 7 & [12H1H
530| izt | AilgE iR R 118.845 34.729 2.16 3 4 17 6 65 40 / 9/9/9 310/90/210 R BBU+RRU 55 4.5 =2 12/11H
531| iz | MR WEzE T4 119.345 | 34.3852 | 2.16 3 4 17 6 65 48 / 5/6/10 310/90/220 50Ki% i =) [BBU+RRU 55 |4.5] g [12/18
532 Ezi 119.2524 | 34.57348 | 2.16 3 4 17 6 65 41 / 7/6/9 315/60/160 48K RIS | BBU+RRU 55 |4.5] & |12/01H
533| iz 119.3507 | 34.1107 | 2.16 2 4 17 6 65 54 / 20/20 350/170 95 14 2% W T ST BBU+RRU 55 |4.5] g [12/18
534 | Ezi _ ) 118.974 34.909 2.16 3 4 17 6 65 40 / 5/5/7 315/90/270 i mx _tb‘m 5% 5% [BBU+RRU 55 4.5 & |12/01H
535| iz } ﬁﬁi%mi’:d\!— 195 4% 119.3595 | 34.1112 | 2.16 2 4 17 6 65 54 / 20/20 350/170 ST BBU+RRU 55 |4.5] g [12/11
536 | iExit £ IR 119.1832 | 34.59301 | 3.56 2 8 17 6 65 24 3 8/8 350/220 HEUE SR [BBU+RRY 55 [4.5 R’ [12/11H
537 iz Wz R R SR 119.206569 | 34.270926 | 2.16 3 4 17 6 65 35 / 3/3/3 320/110/230 BBU+RRU 55 |4.5] g [12/18
538| #Exits FiEE KA % J 118.911563 | 34.667075 | 2.1G 3 4 17 6 65 30 / 4/4/4 320/115/245 . BBU+RRU 55 4.5 & 12§11
539 | iz R 4 524 SRS (TRIIMGAT) 119.149 | 34.58724 | 2.16 2 4 17 6 65 15 / 3/3 40/110 VP 2 24 PRI BURFE L BBU+RRU 55 |4.5] g [12/11
540| &zt HIX_ 95 25 By 2 119.1802 | 34.62164 | 3.56 2 8 17 6 65 26 / 5/5 40/130 B3 = M T X 5 25 BT R 9 ) RETTHLAT BBU+RRU 55 4.5 =2 12/11H
541| iz | X HIX_BiRI7ER 119.20749 | 34.59769 | 3.56 3 ] 17 6 65 28 / 4/4/4 320/130/215 T X A AR BRBURIERE3 S 40 30K 3N [BBU+RRU 55 |4.5] g [12/18
542 | x| KilgH JRMEE IRk % 118.6666 | 34.48392 2.16 3 4 17 6 65 38 / 5/6/7 320/130/240 P58 3 25 s T 2 L K% R A4 2 I =S BBU+RRU 55 4.5 & 12§11
543 | iz | MR ez B PR 4 119.3004 | 34.30839 | 2.16 2 4 17 6 65 35 / 6/6 40/130 [HE i SO U RERER S AOKEEE  [BBUYRRU 55 |4.5] g [12/18
544 | Exi | HIX 119.166448 [ 34.848049 | 3.56 3 64 8 25 90 20 / 6/6/6 320/140/260 X 0B A AL BBU+RRU 35 7 =2 12/11H
545| iz | g I 119.16418 | 34.10436 | 2.16 2 4 17 6 65 38 / 3/3 40/135 E_gini Wi = |BBU+RRU 55 4.5 & [12H1H
546 | i | X X b 119.087539 | 34.80534 2.16 3 4 17 6 65 53 / 3/3/3 320/155/235 PE T mmm, B 55K % il f 495 | BBU+RRU 55 4.5 & 12§11
547 | x| HiX X e 119.08754 | 34.80534 | 2.1G 3 4 17 6 65 53 / 3/3/3 320/155/235 S m N X R geh ] S5KIEMERE [BBU+RRU 55 |4.5 2 |12H1H
548 | iExits | EHiIX X A 2L T 119.1341 | 34.83554 | 3.56 3 8 17 6 65 39 3 3/3/3 320/170/230 X Fe R T b HAH BBU+RRU 55 [4.5 = (12111
549 | iz Wz FAET I RIEE07_in Y 119.2927 | 34.40217 | 2.16 2 4 17 6 65 42 / 6/7 40/140 T = SRR 4] 4TRSS [BBUHRRU 55 |4.5] g [12/18
550 | iEzits I T OB S AR 8 b 119.1543 | 34.59857 | 3.56 3 8 17 6 65 45 3 3/3/3 320/20/150 NI SOHTE S A58 T HAH BBU+RRU 55 [4.5 = [12/11H
551| =zt g p TR S 1 119.2194 | 34.58886 | 3.5 3 8 17 6 65 55 / 15/15/15 320/20/170 HE ZHE AT X PR AEATB3 S B SHT BBU+RRU 55 [4.5 2 |1201H
552 | iEzits | X «ﬂ Hx vrhm wwm% 119.1048 | 34.65537 | 2.1G 3 4 17 6 65 30 / 6/6/6 320/25/230 HAE RN X SR AL)  SOK M BBU+RRU 55 [4.5 = (12111
553| izt | WX 119.045259 | 34.901436 [ 2.16 3 4 17 6 65 50 / 3/3/3 320/45/220 [T e DR L =R Se RS . S2KIEML =% | BBU+RRU 55 [4.5 s |12H1H
554 | Exits | AR 119.2963 | 34.38581 | 2.1G 2 4 17 6 65 42 / 6/7 40/140 pETTHE 2 B R e R IR S ] ATRSRULE BBU+RRU 55 [4.5 = (12111
555| iz | il 118.74459 | 34.53183 | 3.56 3 8 17 6 65 32 / 3/3/3 320/50/140 45 7% W T A LR D b 35K ETIE | BBURRY 55 |4.5] g [12/18
556 | izt A 118.750565 | 34.604767 [ 2.16 3 4 17 6 65 33 / 3/3/3 320/50/170 AR AR L R BBU+RRU 55 [4.5 = [12/11H
557 | iz X J&iﬁklmim& i 119.193 | 34.50313 | 3.56 3 64 8 25 90 24 / 3/3/3 320/50/190 D SIRH 48RO 5 i s 1 24 22 s KT BBU+RRU g;hk 35 7 & [12H1H
558 | izt //Nﬂ B YR R14 T R 118.7535 | 34.54531 | 3.56 3 8 17 6 65 27 3 45/45/45 320/65/220 VR M T AR BT R 5214 5 1R HAHE BBU+RRU 55 [4.5 = [12/11H
559 | =zt M PR LR S 119.3031 | 34.36916 | 2.1 2 4 17 6 65 42 / 6/7 40/140 [Tz L R U ATK G BBU+RRU 55 |4.5 2 |12H1H
560 | Ezits Hx_m,mm IERH ) 119.318 34.4938 2.16 3 4 17 6 65 38 / 3/3/3 320/70/215 T N X AR R mmum IR BBU+RRU 55 [4.5 = (1211
561 | iz HERIEL SR UMERHLYS_ i 119.324765 | 34.092947 | 3.56 3 8 17 6 65 17 / 3/3/3 320/80/225 iR ST R BETIAT BBU+RRU 55 |4.5] g [12/18
562 | it PR VS 118.870316 | 34.609044 | 2.16 3 4 17 6 65 39 / 6/5/5 320/80/235 FiEE TR IR Gt TS BBU+RRU 55 4.5 & 12§10
563 | iz g X253 167 76 7 S 119.2205 | 34.58332 | 3.56 3 8 17 6 65 30 / 4/4/4 320/80/250 X2 A6 76 7 S JTHES BBU+RRU 55 4.5 & [12H1H
564 | kit B R E AR k37 _Jiu R 119.3055 | 34.23886 | 2.1 2 4 17 6 65 42 / 6/5 40/150 RS B R AR BT A BBU+RRU 55 4.5 =2 12/11H
565| iz AiEEL IR T4 118.548 34.69 2.16 3 4 17 6 65 45 / 4/4/4 320/80/250 ARMEEL BT M R BBU+RRU 55 |4.5] g [12/11
566 | it | iR ,mtl 7 Ei@f«méﬂ#r 118.6829 | 34.57443 | 2.1G 3 4 17 6 65 40 / 5/8/7 320/85/230 Ui 7 T AR g EL R AR A 412 BBU+RRU 55 [4.5 = [12/11H
567 | iz 119.52 34.1886 | 2.16 3 4 17 6 65 48 / 3/3/3 320/90/220 HEREEL =R R BBU+RRU 55 |4.5] g [12/11
568 | iExit 119.254 34.5653 2.16 3 4 17 6 65 38 / 9/6/7 320/90/225 (4 i 7= T I X }‘UM Pi450 K211 ASK S BBU+RRU 55 [4.5 = [12/11H
569 | iz L im; 118.693 34.369 2.16 3 4 17 6 65 47 / 4/1/4 320/90/255 u,w g fi iR | BBU+RRU 55 |4.5] g [12/11
570| Ezit | BHiIX 119.1214 | 34.90302 | 2.1 3 4 17 6 65 36 / 5/5/5 325/125/220 BBU+RRU 55 [4.5 = [12/11H
571| iz | X 119.1796 | 34.70175 | 2.1G 3 8 17 6 65 48 / 8/9/6 325/60/150 BBU+RRU 55 |4.5] g [12/18
572| Ez | WX 119.309011 | 34.570895 | 3.56 3 64 8 25 90 33 / 3/3/3 330/100/200 SO BBU+RRU %E}Zkﬂc 35 7 2 |12/11f
573| Exit | HilX X R RE 119.008 34.872 2.16 3 4 17 6 65 45 / 6/6/4 330/100/200 BBU+RRU 55 |4.5 2 |1201H
574| Exit | MR iR =0 m]h‘ g 119.505 34.227 2.16 3 4 17 6 65 40 / 4/4/4 330/100/230 BBU+RRU 55 [4.5 = [12/11H
575| iz | MR L M%d\. ] 119.4687 | 34.33377 | 2.16 3 4 17 6 65 45 / 6/6/7 330/100/230__|TI2 1 il il 2 S A T I BBU+RRU 55 |4.5] g [12/18
576 | Exit | AR i) 119.6221 | 34.49779 | 2.16 3 4 17 6 65 45 / 3/3/3 330/100/260 Wit 75 B M 1 228 3 I P Y BBU+RRU 55 [4.5 R’ [12/11H
577| x| #xL 119.3791 | 34.36956 | 2.1 3 4 17 6 65 41 / 4/5/4 330/105/240  [mitsilii s B R AR A SRS | BBU+RRU 55 |4.5 2 |12H1H
578| Exits | iR : 118.8243 | 34.53791 | 2.1G 3 4 17 6 65 16 / 6/5/3 330/110/210 L3R iz sl it EL Wi A 791004 BBU+RRU 55 [4.5 = [12/11H
579| #Ez# | BiX XD KA L 119.1254 | 34.91824 | 2.16 3 4 17 6 65 38 / 5/5/6 330/110/220 LIRS CPNAY | W) BBU+RRU 55 |45 g [12/18
580 | iEzit | WEkiX X IR P ¥ 119.0233 | 34.85498 | 2.16 3 4 17 6 65 39 / 6/6/6 330/120/230 R X Wu%am Pk 50K BBU+RRU 55 [4.5 = [12/11H
581| iz | KL 119.0399 | 34.50854 | 2.1G 3 4 17 6 65 36 / 13/7/7 330/120/240 5 BBU+RRU 55 |4.5] g [12/18
582| iExit | kX 119.1531 | 34.9705 2.16 3 4 17 6 65 38 / /178 330/120/240 P b B X gL LR A wsso% 40K ML 1 | BBU+RRU 55 [4.5 = [12/11H
583 | iz | il 118.516254 | 34.66512 | 2.16 3 4 17 6 65 38 / 8/6/6 330/135/205 AREEL BT R g fiiNSE | BBU+RRU 55 4.5 & [12H1H
584 | kit | WS 119.2912 | 34.0829 3.56 3 8 17 6 65 25 / 11/10/8 330/140/220 iR s TITHE R ELUEIT RSB0 A A P] SOKAUEL SIS [BBU+RRU 55 4.5 =2 12/11H
585 | Mzt | Filgil B ATk 118.9451 | 34.55807 | 2.1 3 4 17 6 65 41 / 7/1/5 330/150/235 kT 4l L 2R IR B AU IR A = BBU+RRU 55 |4.5 2 |12H1H
586 | iExit | AKX TP RAER T 53L T 119.3245 | 34.72721 | 2.1 3 4 17 6 65 54 3 3/3/3 330/150/270 AT I 5 2 5 S R R i HAHE BBU+RRU 55 [4.5 = [12/11H
587 izt | Filgs R IR RIE 118.6686 | 34.61306 | 2.1G 3 4 17 6 65 43 / 7/6/6 330/225/135 izt ity i bR SR B BES TR 1) L BBU+RRU 55 |4.5 2 |12H1H
588 | Exit | AR B K 119.4157 | 34.35269 | 2.1 3 4 17 6 65 45 / 13/7/8 330/240/90 [LA5 A ik 7 T i SRR I 50K = BBU+RRU 55 [4.5 = [12/11H
589 | szt | MRK | ARITMRIEFHA IR A 725 B[ 119.550455 [ 34.517172 [ 3.56 3 64 8 25 90 21 / 6/6/6 330/40/100 |73 2 DX 7 2 S T R A b 2.5 BT RETIHAT BBU+RRU 35 7 2 |12H1H
590 | x| kX kX _yniE s o 119.0867 | 34.82193 2.16 3 4 17 6 65 30 / 6/8/6 330/50/190 VL9545 3 2 A T (X 300 v A 14 30K BBU+RRU| K%k | i 55 4.5 & 12310
591 | izt | HX X7 A A 118.993 34.978 2.16 3 4 17 6 65 50 / 6/9/3 330/50/225 X3 EE AR Y i = BBU+RRU| K4k F 7 55 4.5 3 12A1H
592| x| KilkR JRHEE BRARVEA 118.464077 | 34.486555 | 2.1G 3 4 17 6 65 44 / 5/5/5 330/50/250 R AR A A R ARIE BBU+RRU| Kk 77 55 4.5 & 12310
593| izt | WX X PR 118.8709 | 34.85997 | 2.1 3 4 17 6 65 35 / 6/6/6 330/50/280 [ it st YL A AT = BBU+RRU| RZk I 55 [4.5 2 |12H1H
594 | iEzits | X HEITEIRAR T74 5 b 119.1978 | 34.61569 | 2.1G 1 4 17 6 65 42 3 3 320 TN X R4 T4 5 b HEUE SR [BBURRU) RER T 55 [4.5 = (1211
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595| =i AL AR A LR ST 119.2853 | 34.12344 2.16 2 8 17 6 65 40 / 3/3 40/180 Lz HAEER AN 4771<$ ﬁ-i& BBU+RRU| K%k F 77 55 4.5 2 12H1H
596 | it HEN X 7 AR Bk B 9129 gl 119.1451 | 34.60341 3.56 2 8 17 6 65 20 / 6/6 40/240 Sz M TITHE A X Ik T ki) BBU+RRU| Kk 7 55 4.5 2 12310
597 | x| ERKX JEZX_ TP X (D) s 119.5595 34.5191 3.56 3 8 17 6 65 45 / 6/8/9 330/60/230 Ex X RIS TX (D BBU+RRU| K4k F 7 55 4.5 2 12H1H
598 | Mzt | HX R X _D Il | gAY 118.973 34.732 2.16 3 4 17 6 65 45 / 3/3/3 330/70/230 L5574 1 2 W T 0 451 A 1504 BBU+RRU| KZk FJ7 55 4.5 =2 12/11H
599 | =it | HilX i X _ AR S AR 119.1331 | 35.03757 | 2.16G 3 4 17 6 65 38 / 6/6/6 330/70/270 JE 2zt A DX B U RV 1 45100 I BBU+RRU| K4k F 7 55 |4.5 2 |12H1H
600 | =it | AKX ERARITALH 119.5805 | 34.55198 | 3.5 3 64 8 25 90 42 / 3/3/3 330/80/180 ezt i = X AL EX T T BBU+RRU| AL 35 7 = (1211
601 | iz | i 118.478 34.648 2.16 3 4 17 6 65 45 / 5/8/5 330/80/200 AR I TTE A EHfiiNds  |BBURRU| R4 FJT 55 4.5 & [12H1H
602 | iEzits | dEdE 119.382 34.154 2.16 3 4 17 6 65 45 / 3/3/3 330/80/220 P s s B e B 4t go| SER = BBU+RRU 3 55 [4.5 = (12111
603 | iz 119.168862 | 34.616072 | 3.56 2 8 17 6 65 22 / /7 40/260 ez T KA TR B 4 AL 30K5ULE  [BBU+RRU 55 |4.5] g [12/18
604 | iz 119.159958 | 34.610406 | 3.56 2 8 17 6 65 31 / 7/9 40/280 I UK ALRE BT SAAT BBU+RRU 55 |4.5] & [12/]1H
605 | iz 119.1035 | 34.59236 | 3.56 2 8 17 6 65 28 / 6/6 45/280 40k =1 [BBU+RRU 55 |4.5] g [12/18
606 | izt 118.851868 | 34.572784 | 2.16 2 4 17 6 65 33 / 5/4 50/150 VEHL = [BBURRU 55 4.5 & |12/01H
607 | iz | WX 119.2408 | 34.48638 | 2.1G 2 4 17 6 65 20 / 10/10 50/170 ST BBU+RRU 55 |4.5] g [12/18
608 | HEzits | AKilgH RN H[zm_/,_'ﬁwﬂ 118.8112 | 34.45612 2.16 3 4 17 6 65 46 / 6/6/8 330/80/220 T =S BBU+RRU 55 4.5 & 12§10
609 | iz | WAL ez B R MR 119.3648 | 34.37666 | 2.1G 3 4 17 6 65 38 / 6/6/9 330/90/210 40KE =% [BBU+RRY 55 4.5 & [12H1H
610| HEz=H | kX Bk IO IR 118.927811| 34.909908 | 2.1G 3 4 17 6 65 28 / 4/5/4 330/90/220 BBU+RRU 55 4.5 & 12§10
611| iz | WAL iz AT A 119.532799 | 34.483129 | 2.16 3 4 17 6 65 43 / 3/3/3 330/90/235 BBU+RRU 55 |4.5] g [12/18
612| iExit | AKX 119.6 34.499 3.56 3 8 17 6 65 40 / 8/11/10 330/90/240 BBU+RRU 55 [4.5 R’ (12110
613| iz | MR 119.419 | 34.26101 | 2.16 3 4 17 6 65 43 / 3/3/3 330/90/250 i 2 b %%«hjt%ﬁﬁ W= |BBURRU 55 |4.5] g [12/18
614 | Exits | dEHE 119.3072 | 34.15472 | 2.1 2 4 17 6 65 32 / 3/3 50/180 [ 2524 i 2= HE T i ‘\,mgia 255 | 0D S BBU+RRU 55 [4.5 = [12/11H
615| Exit 119.13897 | 34.600371 | 3.5G 2 8 17 6 65 28 / 6/6 50/255 A TR X 2 485t AE I 3OKERITAT BBU+RRU 55 [4.5 2 |1201H
616| Exit 118.91 34.386 2.16 3 4 17 6 65 40 / 5/5/6 335/100/245 ERSWIIPN i g N BBU+RRU 55 4.5 =2 12/11H
617 | iExit 119.2121 | 34.62355 | 3.5 3 8 17 6 65 25 / 4/4/4 335/110/260 N X _A LR K HTAEEE BBU+RRU 55 4.5 i3 12H1H
618 | iExits 119.2198 | 34.49329 | 2.1 3 4 17 6 65 43 / 7/4/10 335/115/250 HEE RN XBE X LG A ) ¥ = BBU+RRU 55 [4.5 = (12111
619| Exit | ¥R 119.4029 | 34.56098 | 2.1 3 4 17 6 65 45 / 6/6/6 335/140/240 | ER KA AL BE A A A BBU+RRU 55 |4.5 2 |12H1H
620 | iEzit | EEHiIX Anu\x ;‘é,ﬁmﬁm /,_JM‘J 119.1723 | 34.73408 | 2.16 3 8 17 6 65 48 / 9/9/10 335/150/240 ERET X AREEIRIT XA | 55K AN | BBU+RRU 55 [4.5 R’ [12/11H
621| Exi# | WX BEIX SR B 7 119.0819 | 34.8475 2.16 3 4 17 6 65 42 / 6/6 335/260 [z T A X 35 1L V] 5 < R 25 BBU+RRU 55 |4.5 2 |12H1H
622 | iEnit | AilgE FRifgE_ PR SRIE_ 2R 118.673 34.427 2.16 3 4 17 6 65 47 / 3/3/3 335/75/245 LA =T R E SIS  y BBU+RRU 55 4.5 =2 12/11H
623 | it | HX X, mw 1073 118.774644 [ 34.84612 | 2.1 3 4 17 6 65 38 / 8/7/9 335/80/240 X W )k BBU+RRU 55 4.5 s 12/1H
624 | iExit | AKX [ER1RIT226 119.5748 | 34.53405 | 3.5 3 8 17 6 65 28 3 3/3/3 34071007220 |ii ¥z [X 22841 LML i 22 S 117 BBU+RRU 55 [4.5 = [12/11H
625| Exi | HX X IR 119.088 | 34.84572 | 2.1 3 4 17 6 65 40 / 10/6/8 340/100/220 T AR N X AR H 0 | 40KREM =45 |BBU+RRU 55  |4.5 2 |12H1H
626| izt | X Anu\x o] ILr‘jr“ B 119.165 34.983 2.16 3 4 17 6 65 42 / 13/9/10 340/100/220 W X _ iR A H BBU+RRU 55 4.5 =2 12/11H
627 | iz | WAL 119.556 34.405 2.16 3 4 17 6 65 47 / 3/3/3 340/100/230 Mz E U= = g iin\‘ BBU+RRU 55 4.5 & [12H1H
628 | iEzit | WEkiIX 119.0903 | 34.85201 | 2.1G 3 4 17 6 65 40 / 6/6/8 340/105/240  |L75A i 2 i T ik (X 6 40K i1 BBU+RRU 55 [4.5 = (12111
629 | iz | WX 119.1191 | 34.49619 | 2.16 3 4 17 6 65 28 / 6/5/5 340/110/230 301&;,1&1% BBU+RRU 55 |4.5] g [12/18
630 | iEzits | X 119.1187 | 34.59657 | 3.56 3 8 17 6 65 32 / 7/8/10 340/115/230 rﬂé‘rﬁ)w]xcsuu Btk 1L mm& IR BBU+RRU 55 [4.5 = [12/11H
631| Exit | HIX 119.139186 | 35.011134 [ 2.16 3 4 17 6 65 48 / 3/3/3 340/120/195 i 2 T A5 XA B e | ;. BBU+RRU 55 |4.5 2 |12H1H
632 | iExits | HilEE 118.578 34.505 2.16 3 4 17 6 65 40 / 6/6/6 340/120/205 BBU+RRU 55 [4.5 = [12/11H
633 | iz 118.7873 | 34.49172 | 2.16 3 4 17 6 65 47 / 4/5/6 340/120/220 BBU+RRU 55 |4.5] g [12/18
634 | Ezits | KilgH 118.779642 [ 34.686111 | 2.1 3 4 17 6 65 35 / 5/5/8 340/120/230 EA BBU+RRU 55 4.5 =2 12/11H
635 iz wu)u X 119.121 34.566 3.56 3 8 17 6 65 14 3 6/3/6 340/120/240 AE X i 95 ot ) BBU+RRU 55 |4.5] g [12/18
636 | iExit 119.1773 | 34.59476 | 3.56 3 8 17 6 65 21 / 3/3/3 340/120/240 M X _HRE S RETTHLT BBU+RRU 55 4.5 =2 12/11H
637 iz 119.614 34.306 2.16 3 4 17 6 65 45 / 5/3/5 340/120/240 ERELL MBELIT R ,w_fu-ﬁmzx BBU+RRU )\/JQ FJi 55 4.5 & [12H1H
638 | iEzit | X 119.1435 | 34.48044 | 2.1 3 4 17 6 65 30 / 5/5/8 340/120/245 ZitET ) BBU+RRU| RZK T 55 [4.5 = [12/11H
639| iz | ERKX 119.5961 | 34.53428 | 3.56 3 64 8 25 90 38 / 3/3/3 340/120/250 34 2% (X AT A X BBU+RRU| Sk 35 7 2 |12/1H
640 | iExits | iR 118.7464 | 34.54702 | 3.5 3 8 17 6 65 26 / Y 34071207270 D543 il AR i B ik BBU+RRU 55 [4.5 = [12/11H
641| iz 118.969 34.421 2.16 3 4 17 6 65 40 / 5/6/3 340/130/210 Rt L BBU+RRU 55 |4.5] g [12/11
642 | Exit | HX rﬁmx’_wwgm_ 119.131 34.836 3.56 3 8 17 6 65 18 / 6/6/6 340/130/225 X _thIp B RETHLAT BBU+RRU 55 4.5 =2 12/11H
643 | Exits | HX X 7 119.111 34.7852 2.16 3 4 17 6 65 33 / 6/6/8 340/130/230 X T 0 iR M BBU+RRU 55 4.5 s 12/1H
644 | Exi | X itr)~\~HX_ﬁ%‘.»¢k i 119.1553 | 34.46753 | 2.16 3 4 17 6 65 38 / 6/6/8 340/130/240  [LH5AE I 5 s DORT WUBUSUE LI 40K P it BBU+RRU 55 4.5 =2 12/11H
645 | Ex# | X 119.2199 | 34.59078 | 3.5G 2 8 17 6 65 10 / 20/20 55/280 3 2 TP DX ARV T SHT BBU+RRU 55 [4.5 2 |12H1H
646 | it | BHiIX 119.13 34.9285 2.16 3 4 17 6 65 55 / 5/8/5 340/130/250 )i ’éu.rﬁé‘r X S U TE /N SRV =S | BBU+RRU 55 [4.5 = [12/11H
647 | izt | Filgs 118.543 34.53 2.16 3 4 17 6 65 45 / 3/3/3 340/130/270 RN 4 AR BBU+RRU 55  |4.5 2 |12H1H
648 | iEzits | AR 119.2552 | 34.28124 | 2.1 3 4 17 6 65 54 3 6/6/6 34071407240 Pk miiid m B4R HEUE SR [BBU+RRY 55 [4.5 = [12/11H
649 | =it | kX X S 119.070403 | 34.907836 | 2.1G 3 4 17 6 65 50 / 3/3/3 340/140/260 |44 iz sl ki X “:'Fﬁﬁa ZIENA| 52K = |BBU+RRU 55 |4.5 2 |12H1H
650 | iEzits | EEkiX X _P kA 119.122 | 34.72589 | 2.1G 3 4 17 6 65 38 / 6/6/6 340/150/240 I 7 T A 2 P 9k A P50 K =B BBU+RRU 55 [4.5 R’ [12/11H
651| Exit | X 119.137 34.8631 3.56 3 8 17 6 65 28 / 6/6/6 340/170/250 VA it gl X i 1 BN fi A 4k 204 R BBU+RRU 55 |4.5 2 |12H1H
652 | iEzits i 118.738 34.659 2.16 3 4 17 6 65 45 / 8/1/7 340/30/235 AR SRS A 1l F B BBU+RRU 55 [4.5 = (1211
653| Exit 1 118.863 34.652 2.16 3 4 17 6 65 50 / 5/5/5 340/60/220 s HE T 45 Ll?;.iﬂﬁwﬂ FEREARSH) A =R BBU+RRU 55 |4.5 2 |12H1H
654 | kit ZRitg il BHS ‘mwa_ 4 118.6746 | 34.4661 2.16 3 4 17 6 65 43 / 6/9/5 340/60/240 1&174\@'? PR A SEBER 55 R BBU+RRU 55 4.5 =2 12/11H
655 | it Aty EL_Ei )\ # 118.873889 [ 34.550528 | 2.1G 3 4 17 6 65 18 / 2/6/6 340/65/250 AL AN B MW BBU+RRU 55 4.5 3 12H1H
656 | iEzits X S S AL 119.1109 34.763 2.16 1 4 17 6 65 43 / 8 140 A I T XA R A P20 50K RS [BBU+RRU 55 [4.5 = [12/11H
657 | iz | HiHX X _PEE T 118.8807 | 34.85169 | 2.1G 1 4 17 6 65 43 / 3 265 A4 A T i X S T ; BBU+RRU 55 |4.5] g [12/18
658 | iExits | AR W8 TE 119.279 34.4071 2.16 3 4 17 6 65 40 / 10/12/7 340/70/180 itz B A A B EE P 190 BBU+RRU 55 [4.5 = [12/11H
659 | izt | WX z 119.1239 | 34.90846 | 2.1G 3 4 17 6 65 39 / 7/8/7 340/70/230 X A Sk BBU+RRU 55 |4.5] g [12/11
660 | it | AilEE 119.0904 | 34.58821 | 3.5 2 8 17 6 65 30 / 6/7 60/140 ERWT R ENE N DX 45K PR BBU+RRU| RZK 7 55 [4.5 = [12/11H
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661| Exits | WLl ERTEL_ALRAE Fik 119.3769 | 34.20055 2.16 3 4 17 6 65 43 / 3/3/3 340/70/240 T ‘y&ﬁﬂutm% Fibh Bt R 50KIEHM RIS | BBUHRRU| KEZK FJ7 55 4.5 2 12H1H
662 | iEnit | AilgE FRifgE_ ST _Z AL 118.579 34.559 2.16 3 4 17 6 65 40 / 5/5/5 340/70/270 = BBU+RRU| Kk FJ7 55 4.5 =2 12/11H
663 | iExM | HiHX XKW 774 ] 118.8941 | 34.74689 | 2.1G 3 4 17 6 65 36 / 6/6/6 340/80/170 mmﬂm BBU+RRU| Kk F 7 55 4.5 & [12H1H
664 | Enit | ERX [ERX_ bl O M{ﬁ;lﬁn{) kv 119.363695 | 34.708947 | 3.56 3 8 17 6 65 28 / 3/3/3 340/80/260 % BBU+RRU| RZK 7 55 [4.5 = [12/11H
665 | iEzi LZ‘]— i 119.4426 | 34.63808 | 2.1G 3 4 17 6 65 34 3 6/6/6 340/90/180 HE BBU+RRU Ko7 55 |4.5] g [12/11
666 | izt 119.0815 | 34.62162 | 2.16 3 4 17 6 65 43 / 5/1/5 340/90/190 50K = 3% | BBU+RRU 55 |4.5] & |12/01H
667 | iz 119.1507 | 34.66251 | 2.1G 3 4 17 6 65 22 / 6/7/6 340/90/210 iu X _iifi i TS A ] BETIAT BBU+RRU 55 |4.5] g [12/11
668 | it _ 119.2007 | 34.5152 2.16 3 4 17 6 65 38 / 10/11/9 340/90/210 HEER NI X THHRITA 4D ;. BBU+RRU 55 [4.5 = (12111
669 | itz ‘yitﬁﬂljf;ﬁhﬁﬁﬂd\muﬂgszt 119.2949 | 34.14027 | 2.16 2 8 17 6 65 40 / 3/3 60/190 93 7 T 7 LA B A A BBU+RRU 55 |4.5] g [12/18
670| E=its i TR A B BT 119.2211 | 34.30135 | 3.56 4 8 17 6 65 45 / 3/3/3/3 320/30/120/190  pits itk 2 B s s b S ) B BBU+RRU 55 [4.5 = (12111
671| Exit S 118.741 34.582 2.16 3 4 17 6 65 40 / 8/9/8 340/90/240 o 34 2 i T At B A e A BBU+RRU 55 |4.5 2 |12H1H
672 &zt 118.576983 | 34.688728 | 2.16 3 4 17 6 65 38 / 5/5/5 340/95/210 iR S5 Sk ZUEEHE | BBUARRU 55 4.5 & |12/01H
673| iz 119.2064 | 34.41508 | 2.1G 3 4 17 6 65 38 / 6/5/7 340/95/210 034 7 s i 2% S T 40* ahL% 1% [BBU+RRU 55 |4.5] g [12/18
674 | Exit R HMAS 118.5984 34.6903 2.16 3 4 17 6 65 38 / 3/3/3 340/95/240 IIAEERSTREE SRR TSNS BBU+RRU 55 4.5 2 12310
675 iz s X i A A 119.0943 | 34.86255 | 2.1G 3 4 17 6 65 45 / 6/7/7 345/105/240 i i el X a5t 4 A SRS | BBURRU 55 |4.5] g [12/18
676 | iExit i 119.18841 | 34.62973 | 3.5 3 8 17 6 65 40 / 10/10/9 345/110/240 L{xﬁéﬁimw il H.’Mﬁﬁ AOK S BBU+RRU 55 [4.5 = (1211
677 izt 119.237817 | 34.354127 | 2.16 3 4 17 6 65 40 / 3/3/3 345/120/240 ez E 7 BBU+RRU 55 |4.5] g [12/18
678 izt 119.2767 | 34.4626 | 2.16 3 4 17 6 65 46 / 3/3/3 345/120/240 HEEE BBU+RRU 55 4.5 & |12/01H
679 | Exit 118.8313 | 34.55548 | 2.1 3 4 17 6 65 40 / 7/1/6 345/145/220 it AR P 2 P B R A SR AT BBU+RRU 55 |4.5 2 |12H1H
680 izt 119.551 34.486 2.16 3 4 17 6 65 40 / 5/3/3 345/150/260 WEE FERT BBU+RRU 55 4.5 & |12/01H
681 | iz | il 118.51 34.474 2.16 3 4 17 6 65 45 / 6/8/6 345/170/220 BBU+RRU 55 |4.5] g [12/18
682 | iEzit | WEkiIX 118.7884722)34.79659722) 2.16 3 4 17 6 65 45 / 5/8/4 345/170/270 BBU+RRU 55 [4.5 = [12/11H
683 | itz | Ailil 119.031598 | 34.426866 | 2.16 3 4 17 6 65 41 / 7/6/6 345/75/250 BBU+RRU 55 |4.5] g [12/18
684 | it | BHiIX 119.0601 | 34.88887 | 2.1G 3 4 17 6 65 38 / 6/6/6 35/120/220 BBU+RRU 55 [4.5 = (12111
685 | iz | WAL 119.717 34.426 2.16 3 4 17 6 65 42 / 3/3/3 35/120/230 BBU+RRU 55 |4.5] g [12/18
686 | it | KilgH R BRI 119.0802 | 34.58684 3.56 3 8 17 6 65 53 / /177 35/140/290 Lr«ﬁﬂm,ﬁﬁ RIS $ 45 1k558: 60/}(,&114#;&&11& BBU+RRU 55 4.5 & 12§11
687 | izt | X X% rémm“/k 119.08 34.726 2.16 3 4 17 6 65 42 / 6/6/6 35/160/260 E Z TR BTN Z5700K | 47k =4s [ BBUHRRU 55 |4.5] g [12/18
688| izt | ¥ 119.12719 | 34.595705 | 3.56 2 8 17 6 65 25 / 6/6 60/310 L X %2 G R R A BBU+RRU 55 |4.5] & |12/01H
689 | iz 118.753 34.48 2.16 3 4 17 6 65 38 / 6/9/5 35/160/270 PR s i Al L 4R 5 [X 465 BBU+RRU 55 |4.5] g [12/18
690 izt 119.1882 | 34.65882 | 3.56 3 8 17 6 65 40 / 6/6/6 35/190/270  [RIEZMSIIFRKITI#AIGTASE|  ASKRREE  [BBURRU 55 |4.5] & [12/1H
691 | iz 119.218 | 34.5412 | 2.16 3 4 17 6 65 43 / 9/15/13 35/240/300 ikt X 5 i L A K = BBU+RRU 55 |4.5] g [12/18
692 | izt 118.7104 | 34.68679 | 2.1G 3 4 17 6 65 52 / 7/10/4 350/100/195 BBU+RRU 55 4.5 & |12/01H
693 | iz 119.22588 | 34.37453 | 2.16 3 4 17 6 65 43 / 3/3/3 350/100/240 MR AT B 2B BBU+RRU 55 |4.5] g [12/18
694 | &zt 119.2615 | 34.52199 | 2.16 3 4 17 6 65 45 / 3/3/3 350/100/250 T B S BBU+RRU 55 4.5 & |12/01H
695 | iz 119.15633 | 34.60866 | 3.5 3 8 17 6 65 30 / 6/5/13 350/100/280 I A R T RE5 S 2R G BBU+RRU 55 4.5 & [12H1H
696 | iExit 118.4429 | 34.60484 | 2.16 3 4 17 6 65 43 / 5/5/5 350/100/280 MUVARED T N ) i BBU+RRU 55 [4.5 = (12111
697 | iz 119.3647 | 34.09114 | 2.16 3 4 17 6 65 55 / 10/10/10 350/105/170 e ST BBU+RRU 55 |4.5] g [12/18
698 | iExit FitgE m i) tz]x 118.841 34.4425 2.16 3 4 17 6 65 40 / 8/5/5 350/105/220 AR m i) Az]x A L AR BBU+RRU 55 [4.5 = (12111
699 | iz | HiHX WM A ) 119.035 35.006 2.16 3 4 17 6 65 45 / 5/5/7 350/110/200 X5 7 g fi NS | BBU+RRU 55 4.5 & [12H1H
700 Ez | #sE W E NS R 119.2651 | 34.41193 2.16 3 4 17 6 65 45 / 5/6/4 350/110/220 sz R T +’:atumwmvu1 30K AL BBU+RRU 55 4.5 & 12§11
701| iz | L MR i P4FE SR 119.264 34.163 2.16 3 4 17 6 65 48 / 3/3/4 350/110/220 ] NS | BBURRU 55 |4.5] 2 |12H1H
702| Ezits | R TR RIEAT 119.2515 | 34.1823 2.16 3 4 17 6 65 45 / 3/3/3 350/110/225 #w k) L.a;m N Y2 =y BBU+RRU 55 [4.5 = [12/11H
703 | iz | WL EELL SKIELRT 119.2515 | 34.1823 | 2.16 3 4 17 6 65 45 / 3/3/3 350/110/225 | VL9548t iEmg Lk R VL A 4 BBU+RRU 55 |4.5] g [12/11
704 | EziE | MK | BOX % i kRS 5 59205 119.1168 | 34.8942 2.16 3 4 17 6 65 35 / 5/6/8 350/110/240  [ihiIX i 2o iiid #h ik B 4 19205 _ BBU+RRU 55 4.5 =2 12/11H
705| Ezit | X Mg IX BT AR 119.13123 | 34.57869 | 3.5G 3 8 17 6 65 32 / 3/3/3 350/120/220 34 T P X B T A e B 3071<$ E BBU+RRU 55  |4.5 2 |12H1H
706 | Ezit | X X AR 119.086 | 34.83571 | 2.1G 3 4 17 6 65 40 / Y 350/120/220 [T XIS 0] 40K LTS BBU+RRU 55 [4.5 = [12/11H
707 | Exi | X A X3 A L] 118.983 34.8371 2.16 3 4 17 6 65 38 / 4/5/1 350/120/230 X 3G S A o A A 7 BBU+RRU 55 4.5 5 12/1H
708| izt | X WX _ i gk Al 119.2845 | 34.52354 | 2.16 3 4 17 6 65 37 / 3/3/3 350/120/240 TN XU BT I b = BBU+RRU 55 4.5 =2 12/11H
709| #Ez# | ERKX EZAIT IR 119.5681 | 34.52919 | 3.56 3 8 17 6 65 15 / 3/3/3 350/120/260 R AETEX HIAT BBU+RRU 55 |4.5] g [12/18
710 Ez | KilgH RS A O bR A 118.534387 | 34.573947 | 2.16 3 4 17 6 65 41 / 8/5/6 350/125/210 R A O AR A I =S BBU+RRU 55 4.5 & 12§10
711| Ex# | BEX 119.0608 | 35.0277 2.16 3 4 17 6 65 45 / 6/6/6 350/130/250 [E itk it IX & 1L BT T4 45100 = BBU+RRU 55 |4.5 2 |12H1H
712| Eni | i 119.0257 | 34.583123 | 2.16 1 4 17 6 65 45 / 7 20 XA e fR R BBU+RRU 55 4.5 =2 12/11H
713| iz 118.887 34.647 2.16 3 4 17 6 65 47 / 7/5/4 350/130/250 i g fiiNSE | BBU+RRU 55 4.5 & [12H1H
714| EZ 119.262348 | 34.722942 | 3.56 3 32 8 25 90 38 / 3/3/3 350/135/230 APPEPEALf|  4OKILETHE  |BBU+RRU 35 7 e [12/11H
715| #Exi# 119.2213 | 34.5903 3.56 3 8 17 6 65 55 / 20/20/20 350/140/230 HE ZHE AT X PR AEATAR S B AT BBU+RRU 55 [4.5 2 |12H1H
716| Ezi 118.651762 | 34.686053 | 2.16 3 4 17 6 65 35 / 12/7/11 350/140/235 JRUEE IRk BBU+RRU 55 4.5 & |12/01H
717 iz 118.890553 | 34.619252 | 2.16 3 4 17 6 65 18 / 3/3/5 350/140/240 JRELL DR L&Jij BBU+RRU 55 |4.5] g [12/11
718| iz 119.144 34.415 2.16 3 4 17 6 65 40 / 3/3/3 350/140/240 BBU+RRU 55 |4.5] & |12/01H
719| iz 118.7533 | 34.3415 | 2.16 3 4 17 6 65 45 / 4/5/4 350/145/270 BBU+RRU 55 |4.5] g [12/11
720| Ezit | HilER 119.0901 | 34.53365 | 2.1G 3 4 17 6 65 35 / 5/5/5 350/150/240 |zl s it LK BT m/kmlk A BBU+RRU 55 [4.5 = [12/11H
721 | R | R JRMEEL B LB TR 118.792 34.429 2.16 3 4 17 6 65 45 / 7/1/7 350/160/240 ARHEE B R TR BBU+RRU 55 |4.5] g [12/11
722| Ezit | R Wz B fGHIE RN 119.2145 | 34.33953 | 2.16 3 4 17 6 65 50 / 4/3/5 350/170/240 A Tz BN BBU+RRU 55 [4.5 = [12/11H
723| EzRM | ERKX A 118 119.3422 | 34.71936 | 2.16 3 4 17 6 65 38 3 10/13/13/ 350/175/260/ A 18R BBU+RRU 55 [4.5] & [12/1H
724 | Eni | KilgE RS e _%k 118.8346 | 34.48342 | 2.16 3 4 17 6 65 40 / 6/1/5 350/190/290 AT AR BN A b= BBU+RRU 55 4.5 =2 12/11H
725| Ezx# | X PRI 516 S 4R 119.1825 | 34.8478 2.16 3 4 17 6 65 54 / 20/20/180 350/30/180 A I 2 T A X S T P 516 5 4 AHT BBU+RRU 55 [4.5 2 |12H1H
726 HEzis | R | WRE S PR ILIEE6S 119.2668 | 34.08115 | 3.56 3 8 17 6 65 40 / 7/3/5 350/60/210 LRI RS TN ATRIE BBU+RRU| KZk FJ7 55 4.5 =2 12/11H
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727 x| wErLL | WML RS TG 119.2668 | 34.08115 | 3.5G 3 8 17 6 65 40 / 7/3/5 350/60/210 HEERBIEREEES I  aPRRER BBU+RRU| K4k F 7 55 [4.5 2 |12H1H
728| Exits < HEINIX K P 119.2395 | 34.62274 | 2.16 3 4 17 6 65 9 3 2/2/2 350/70/270 2 M T X 24 7K 7 i HAHE BBU+RRU| RZK T 7 55 [4.5 & |12/11H
729| x| Wl HERIEL KIS R AT A AT 119.3161 | 34.17736 | 2.1G 3 8 17 6 65 35 / 3/3/3 350/80/195 L3540 3 7= e 17 R LK RS R A 40*%1%;&&1& BBU+RRU| K4k F 7 55  |4.5 2 |12H1H
730 | Ezit | KX Sz X i i 1 A 119.4076 | 34.70343 2.16 3 4 17 6 65 20 / 6/6/6 350/80/240 SEZ X _fE il BBU+RRU| KZk 77 55 4.5 & 12§10
731 iz | R BRI BRA 2 5 B g 118.7454 | 34.54961 | 3.56 4 8 17 6 65 60 3 36/30/38/36 350/90/120/160 B RIE PR A 25 | BBU+RRU Ko7 55 |4.5] g [12/11
732| Eni | MR 2 X il i 1 119.177 34.661 3.56 3 8 17 6 65 40 / 6/7/9 350/90/180 65518 T Ik 40K B BBU+RRU 55 4.5 =2 12/11H
733| it | #xL Mz B MR 119.189 34.412 2.16 3 4 17 6 65 20 / 4/9/4 350/90/240 Paviclith: Pev s YN ia S LN V=R BBU+RRU 55 |4.5 2 |12H1H
734 EZ mlx BERIX IR 119.0491 | 34.89223 | 2.16 3 4 17 6 65 43 / 6/6/6 350/90/250 T S TR M X L1 SR FE A 50K =44 [BBU+RRU 55 4.5 & |12/71H
735| iz A B AR 118.9304 | 34.6086 | 2.1G 3 4 17 6 65 47 / 4/5/4 355/105/200 Al BB ki) %ifiiRis  [BBU+RRU 55 |4.5] 2 |12H1H
736 | Exit Fifg AT 118.947832 | 34.602206 [ 2.16 3 4 17 6 65 50 / 6/5/5 355/130/235 AR BRI R L AR BBU+RRU 55 [4.5 & 12110
737| HEPH XS5 RS 119.24 34.48367 | 3.56 3 8 17 6 65 25 3 3/3/3 355/150/245 3 ZHE TR DB B TR T U S RER | BBURRU 55  |4.5 2 |12H1H
738| iExits iz B AR 2043 119.3786 | 34.28216 | 2.1 3 4 17 6 65 45 / 3/3/3 360/115/240 |5 ik 2 Tl it 2 EL AR AR ST 4: ) 63*«%1%1&!415 BBU+RRU 55 [4.5 = [12/11H
739| x| X Lk Ve 119.1474 | 34.85114 | 2.16 4 4 17 6 65 45 3 3/5/3/3 40/140/210/330 | 3z it i [X 480 76 5106 5 HEAR I BBU+RRU 55  |4.5 2 |1201H
740| Ezit | AR R HRAERT X 2 5 b 119.2391 | 34.28628 | 3.56 4 8 17 6 65 53 3 3/3/15/15 40/110/180/220 |4 ¥ 7 sl itk 2= ELH SR AE IR A X 2 1 BBU+RRU 55 [4.5 = [12/11H
741| Ezi | Kl At AT 118.691 34.5645 2.16 3 4 17 6 65 45 / 6/7/6 40/120/240 &zt T A L R T BT A T BBU+RRU 55 |4.5 2 |12H1H
742| Ezni | R WRB_EW S ERTE_ 119.301354 | 34.343581 [ 2.16 3 4 17 6 65 50 / 175 40/120/280 b A i Z T 2 B R A 3 BBU+RRU 55 [4.5 = (12111
743| R | WAL iz L mw\m ; 119.098 34.228 2.16 3 4 17 6 65 40 / 3/3/3 40/130/270 PN ) BBU+RRU 55 |4.5] g [12/11
744 | ERi | dEEE 119.2699 | 34.09615 | 3.56 2 8 17 6 65 30 / 3/3 70/185 Zts i R B AR SS L BBU+RRU 55 [4.5 = [12/11H
745 | ExiE | BX X5 bR 118.8913 | 34.84531 | 2.1G 3 4 17 6 65 38 / 6/6/6 40/130/280 AT R EE FUS MR RI100K BBU+RRU 55 [4.5 & |12H1H
746 | Ezit | BHIX X _ Wi 118.8176 | 34.84347 | 2.1 3 4 17 6 65 40 / 6/6/6 40/130/280 3 T T B A AR A 450K BBU+RRU 55 [4.5 = [12/11H
74T | R | WL EEEEL SRIEX] 119.3398 | 34.1905 | 2.16 3 4 17 6 65 45 / 5/6/5 40/135/255 |3 Z VT MR L3I A HL /Y BBU+RRU 55 |4.5] g [12/18
748 | Eznit | R a?ér‘ AN 119.1357 | 34.33466 | 2.1 3 4 17 6 65 53 / 5/7/6 40/140/245 T BRI SR BBU+RRU 55 [4.5 = [12/11H
749 | R | R 118.589383 | 34.707149 | 2.16 3 4 17 6 65 28 / 4/4/4 40/145/245 ARER 2 y STFFI BBU+RRU 55 |4.5] g [12/11
750| Ezit | R 119.532 34.303 2.16 3 4 17 6 65 45 / 3/3/3 40/145/300 P i 7 T i 2 ELPE R T b 40 BBU+RRU 55 [4.5 = (12111
751| iz | X 119.0808 | 34.69387 | 2.16 1 4 17 6 65 45 / 3 90 A T A X A U 4750 BBU+RRU 55 |4.5] g [12/18
752 | Ezit | X 118.8657 | 34.85468 | 2.1G 1 4 17 6 65 45 / 3 55 34 Z= s T b X U S A 4 i A BBU+RRU 55 [4.5 = (12111
753| Ezit | Wxl 119.532 34.303 2.16 3 4 17 6 65 45 / 3/3/3 40/145/300 LU i 40 BBU+RRU 55 |4.5 2 |12H1H
754 | Ezit | BX 118.9775 | 34.70205 | 2.1G 3 4 17 6 65 39 / 6/6/6 40/150/240 BBU+RRU 55 [4.5 R’ [12/11H
755| iz | AL ‘yﬁtxu rwtélvm:;;, 119.283851 | 34.415559 | 2.16 3 8 17 6 65 38 / 6/6/6 40/150/270 R Z T .#7;‘41 F2E 40 FE A 74 BBU+RRU 55 |4.5] g [12/18
756 | Exi | EX W X _ ki B 119.0836 | 34.82936 | 2.1 3 4 17 6 65 44 / 10/10/11 40/150/270 3 2 S T A X 35 R 5 0 g e ) 454’%;111;&&11A BBU+RRU 55 4.5 =2 12/11H
757 | iz | gL HERTEL RS i 119.2409 | 34.0831 | 2.16 3 4 17 6 65 45 / 3/3/3 40/150/270 5463 iR LRI RITRI| S5k = [BBUARRU 55 |4.5] g [12/18
758 | izt | X MR 1T 119.1985 | 34.61501 | 3.5G 3 8 17 6 65 20 3 5/5/5 40/160/260 PHISRA T LS b Gl AR AR HE U S5 R4 [BBU+RRU 55 [4.5 = (12111
759 | x| ERKX ERRIT R 119.591921 | 34.546896 | 3.5G 3 8 17 6 65 50 / 3/3/3 40/165/300 I R 2 DR £ ] X BRI kT BBU+RRU 55 |4.5 2 |12H1H
760 | i | #Ema HERE Y EW R 119.188 34.166 2.16 3 4 17 6 65 40 / 3/3/3 40/170/260 [CHEEZBTRER RGN ERRR ATk BBU+RRU 55 4.5 & 12§11
761 | R | HHX X IR Y 118.914 34.811 2.16 3 4 17 6 65 40 / 5/8/5 40/170/270 X IR Y AR [BBURRU 55 |4.5] g [12/11
762 | Ezis | X EEhin X _PEERT R gl 118.8015 | 34.87848 2.16 3 4 17 6 65 40 / 5/5/5 40/180/240 i TIT 8 A X B B B S A L BBU+RRU 55 4.5 & 12§11
763 | iz | X X _fi B 119.1918 | 35.03674 | 2.1G 3 4 17 6 65 43 / 9/9/9 40/180/280 Wi e X DR L5 SIS K &tk 55T BBU+RRU 55 |4.5] g [12/18
764 | Exit | BHX 119.1894 | 35.02895 | 2.1G 3 4 17 6 65 38 / 8/5/6 40/185/230 JE 2z Tl A X B R B P 370 BBU+RRU 55 [4.5 = [12/11H
765 | iz | _ = 119.3454 | 34.10062 | 3.56 3 8 17 6 65 10 3 6/6/5 40/190/280 TLHA T R £ BBU+RRU 55 |4.5] g [12/18
766 | Enit | KilgH i T IR A 118.855 34.6197 2.16 3 4 17 6 65 45 / 4/8/6 45/120/210 R SR RIS AR 2R BBU+RRU 55 4.5 =2 12/11H
767 | iz | X Hip SR RFC3 S 119.2212 | 34.5888 | 3.56 3 8 17 6 65 56 3 0/0/0/ 45/120/230/ R SRAERFC3 ! BBU+RRU 55 |4.5] g [12/11
768| Enit | #nE WEE_ RS 119.5935 | 34.37362 | 2.16 3 4 17 6 65 25 / 3/3/3 45/140/260 P =TT 2 B R RS 2 RETTHLAT BBU+RRU 55 4.5 =2 12/11H
769| x| X X L KE 119.0142 | 34.89606 2.16 3 4 17 6 65 35 / 6/6/6 45/145/305 2 T R X I L UG E 3R 7 kS0 I = BBU+RRU 55 4.5 R 12H1H
770 i | dEmE R R R 119.569 34.2656 2.16 3 4 17 6 65 45 / 10/7/7 45/150/265 [ %z e T L T R K - i b 50K = BBU+RRU 55 4.5 7 12/1H
771 iz iir]— HEZX T R AR A TR 119.1604 | 34.74921 | 2.16 3 4 17 6 65 43 / 9/5/10 45/150/280 i’tm‘%ymrrxﬂw S 690K 50K AT | BBURRU 55 |4.5] g [12/18
772| Exit T FE s 119.007 35.035 2.16 3 4 17 6 65 47 / /473 45/160/270 L AR BBU+RRU 55 [4.5 = [12/11H
773| iz % XU 118.624 34.632 2.16 3 4 17 6 65 40 / 5/5/6 5/100/220 BBU+RRU 55 |4.5] g [12/18
774\ EEH R ST 118.769 34.49541 2.16 3 4 17 6 65 45 / 12/10/13 5/100/270 BBU+RRU 55 4.5 & 12§11
775| Ez# MEREEL BT R 119.397 | 34.0704 | 2.16 3 4 17 6 65 35 / 6/6/4 5/125/260 LA éLr,&mmmHﬁr; e vnsnimis  [BBURRU[ K4 U7 55 4.5 & [12H1H
776| Exit BRI RS, /\H‘ 119.5619 | 34.53214 | 3.56 3 64 8 25 90 32 / 3/3/3 5/130/220 =X AR U SR 25 4| T BBU+RRU| AL 35 7 = [12/11H
T77| ERE | ERKX X R R | 119.241678 | 34.722662 | 3.56 3 64 8 25 90 50 / 6/6/6 5/150/250 S 7 X B 4 BBU+RRU| 4Kk 35 7 & [12H1H
778| Enit | R E WEE MERB_ R 119.4952 | 34.34951 | 2.16 3 4*80 4 17 6 65 41 / 9/8/9 5/75/220 T = B HUE R R R 2 b A BBU+RRU| Kk FJ7 55 4.5 =2 12/11H
779| R | i AL, IR 118.77206 | 34.32958 | 2.1G 3 4*80 4 17 6 65 41 / 6/8/7 5/80/220 SR B SR BBU+RRU FJi 55 |4.5] g [12/11
780| Exits | AR R B Y 119.213 34.428 2.16 3 4*80 4 17 6 65 39 / 6/5/8 5/90/210 = T i 2 BN A AO/KmiMfA BBU+RRU 55 [4.5 = [12/11H
781 | iz | AL Wz Bl B 119.2749 | 34.32145 | 2.16 3 4*80 4 17 6 65 13 / 2/5/7 50/110/230 G BET BBU+RRU 55 4.5 & [12H1H
782| Exit | BHiIX SRS S 119.1828 | 34.84707 | 3.56 3 8*50 8 17 6 65 54 3 6/6/6 50/120/180 BT AL TR HAH BBU+RRU 55 [4.5 = [12/11H
783| iz | X g H A W8 5 1 119.1392 | 34.58009 | 2.1 3 4*80 4 17 6 65 36 3 9/8/8/ 50/120/230/ EEx e X H A Y8 S BT | T e REL | BBU+RRU 55 |4.5 2 |12H1H
784 | En | HEE R B R R 119.415 34.347 2.16 3 4*80 4 17 6 65 45 / 11/11/6 50/125/260 EZHE T = B B BI50 K| I = BBU+RRU 55 4.5 & 12§10
785| iz | X FIR I AR G f#oE) 119.12567 | 34.56655 | 3.5G 3 8*50 8 17 6 65 25 / 3/3/3 50/130/240 ERHEATEM X AP AR EFAN 30K EIE BBU+RRU 55  |4.5 2 |12H1H
786 | Ezits | ERX L/inﬁ_)l & fklu’r"ﬁ I 119.2493 34.7016 2.16 3 4*80 4 17 6 65 30 3 3/3/3/ 50/140/210/ u.rﬁé R mmmmsu e BBU+RRU 55 4.5 & 12§10
787 | iz | i 118.7519 | 34.7825 | 2.16 2 4*80 4 17 6 65 40 / 3/3 70/200 : i | g SRS | BBU+RRU 55 |4.5] g [12/18
788| Ezi | HERA 119.3042 | 34.36588 | 2.16 3 4*80 4 17 6 65 38 / 5/6/4 50/140/265 [0k stttz B b SR 7] AOKTE A= 0% | BBUTRRU 55 |4.5] & |12/01H
789 | iz | X 118.879909 | 34.982195 | 2.16 3 4*80 4 17 6 65 43 / 5/5/5 50/140/300 X _SEARIE TSk B 7 BBU+RRU 55 |4.5] g [12/11
790 | Mz | HHIX 119.095 34.593 3.56 4 8*50 8 17 6 65 50 / 7/7/6/11 50/150/230/295 |17 i H (X 311 [l 15 4 4 42 WLt 117 BBU+RRU 55 |4.5] & |12/01H
791| x| BX 119.0266 | 34.86664 | 2.1G 3 4*80 4 17 6 65 40 / 6/6/6 50/150/240 P 2 A DX i O A 3004 BBU+RRU 55 |4.5 2 |12H1H
792| Ezits | X 119.2181 | 34.58655 | 3.56 3 8*50 8 17 6 65 25 / 3/3/3 50/150/280 HEPHX it T I B T BBU+RRU| REK 7 55 [4.5 = (1211
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793| iz | WX 119.2208 | 34.65178 | 3.56 3 8 17 6 65 21 3 5/5/10 50/150/310 HE BBU+RRU| K2k F 7 55 |45 g [12/10
794 | Ezit | BHIX 119.149768 | 34.981165 [ 2.16 3 4 17 6 65 45 / 3/3/3 50/155/295 SUKVEHIMNS | BBU+RRU[ K2k T 55 [4.5 = (12111
795| iz | X 119.14977 | 34.98117 | 2.16 3 4 17 6 65 45 / 3/3/3 50/155/295 sUKiE A iRSE [ BBURRU| Kk R 7 55 4.5 & [12H1H
796 | izt | dEER 119.28 34.115 3.56 3 8 17 6 65 40 / 5/5/5 50/160/210 A—Mf,\éaw#\k ATR BBU+RRU| RZK 7 55 [4.5 R’ [12/11H
797 | R | WAL 119.68319 | 34.50759 | 2.16 3 4 17 6 65 46 / 3/3/4 50/160/270 HEA T i g fiiNSE | BBURRU Ko7 55 4.5 & [12H1H
798| Ezits | EHiIX 119.128 34.956 2.16 3 4 17 6 65 45 / 6/10/8 50/160/290 b BBU+RRU 55 [4.5 = [12/11H
799| EzM | ERKX HEZX_ ARl 119.545661 | 34.49967 | 3.56 3 8 17 6 65 55 / 9/8/8 50/180/265 BBU+RRU 55 |4.5] g [12/11
800| x| KilkR R R LR 118.852 34.498 2.16 3 4 17 6 65 40 / 5/7/5 50/200/300 BBU+RRU 55 4.5 & 12§11
801 | k=it | HikiX X AT 119.1643 | 34.99903 | 2.1 3 4 17 6 65 38 / 5/5/5 50/200/310 [zl *ﬁﬁ‘m i Wﬁilf A rﬁlﬁﬁ\GS BBU+RRU 55 |4.5 2 |12H1H
802 | Mzt | BMIX | BOMIX % 5% B kR N 180_%iui AL 119.1144 | 34.7797 2.16 3 4 17 6 65 36 / 5/5/5 50/240/300 RIS ur@u f*%%\xx 180_%:uki BBU+RRU 55 4.5 =2 12/11H
803 | iz | WigL EEELL BB 119.659 34.276 2.16 3 4 17 6 65 53 / 3/3/3 55/155/245 ; BBU+RRU 55 |4.5] g [12/11
804 | x| kX MX B DA Ay 119.077 34.9592 2.16 3 4 17 6 65 41 / 9/8/2 55/175/310 T4 BBU+RRU 55 4.5 & 12/J1H
805 | iz | WL PONG| i 119.4333 | 34.0448 | 2.16 3 4 17 6 65 45 / 4/4/7 60/110/260 ; 3 ;)\@ﬂﬁ% =4 BBU+RRU 55 4.5 & [12H1H
806| HExits | xR Wz E_ Kl 119.2377 | 34.30903 2.16 3 4 17 6 65 30 / 4/14/7 60/110/275 s R MN lx [OBRER AT 30T FF BBU+RRU 55 4.5 & 12§11
807 k=it | kX X _ 2 B AL 119.1091 | 34.73758 | 2.1 3 4 17 6 65 42 / 6/6/6 60/120/240 iiz:ii‘_rvlJ T B R 43100k AR BBU+RRU 55  |4.5 2 |12H1H
808 | iEzits | HiHIX i 119.2737 | 34.55215 | 2.1 3 4 17 6 65 43 / 9/6/8 60/120/300 P I 7 T I DX R R 2 i ) BBU+RRU 55 [4.5 = (12111
809 | izt | Wz M P RN 119.267747| 34.41684 | 2.1G 3 8 17 6 65 41 / 5/5/10 60/135/260 n%w ML r+ﬁuﬂﬂﬂi‘cmh%+‘ ARSI HIRE | BBUFRRU 55 |4.5 2 |12H1H
810 Mzt | =X EEX_BLEI 119.463 34.721 2.16 2 4 17 6 65 40 / 6/6 70/265 _ T S BBU+RRU 55 4.5 & 12§10
811| izt | Wx L MR FEMT 119.2677 | 34.41684 | 2.1G 3 4 17 6 65 41 / 5/5/10 60/135/260 s U T RBUTR SRR ST 48K A HIEE | BBURRU 55 |4.5 2 |12H1H
812| i | HEHE MR RS 119.227598 | 34.434246 | 2.16 3 8 17 6 65 38 / 10/3/3 60/135/270 (EE BT S B/ E R TEREY 40K¥E L= | BBU+RRU 55 4.5 & 12§11
813| izt | WX X _ i R 119.112 | 34.74819 | 2.1G 3 4 17 6 65 38 / 6/6/6 60/140/250 P ZHE AT B LI PHL00K s A BBU+RRU 55 [4.5 2 |12H1H
814 | izt | ilgE KR KSR 119.0836 | 34.5639 2.16 3 4 17 6 65 52 / 9/6/6 60/140/250 ERBT AR KISEARR LKA 52KEL =15 [BBU+RRU 55 4.5 =2 12/11H
815| k=it | HikiX X I i 118.8914 | 34.8287 2.16 3 4 17 6 65 48 / 6/6/6 60/145/300 B = TR S B | ViR A PES0K 7 BBU+RRU 55 |4.5 2 |12H1H
816 | HEzits | KilgH HbEE AR T gk 118.7912 | 34.56947 2.16 3 4 17 6 65 40 / 8/8/8 60/150/240 Wi 5 T AR B I T R R BBU+RRU 55 4.5 & 12§11
817 iz | #ihix N E RS 119.1423 | 34.8197 | 3.56 3 8 17 6 65 54 3 6/6/6 60/150/250 A EAEELS % BBU+RRU 55 |4.5] g [12/18
818| iExit | WEkiX X _E D L 119.0582 | 34.87718 | 2.1 3 4 17 6 65 38 / 6/6/6 60/150/300 JE 2z T e [ 8 T B b 9 100 BBU+RRU 55 [4.5 = (12111
819| izt | X %mr AUPN I 118.946 34.773 2.16 3 4 17 6 65 40 / 3/3/3 60/155/230 i i T DX B 2L BBU+RRU 55 |4.5 2 |12H1H
820 it | s HE_FERXG_ 119.3145 | 34.40444 | 2.16 3 4 17 6 65 43 / 7/6/6 60/155/260 I8 T = B R RN 2 BBU+RRU 55 4.5 = 12/]1H
821| iz AL UG 119.738 | 34.34771 | 2.16 3 4 17 6 65 40 / 5/5/5 60/155/320 R ELJUBAME R0 BBU+RRU 55 |4.5] g [12/18
822| iExits X_BiHUINBUE 119.155665 | 34.48198 | 2.16 3 8 17 6 65 40 / 9/8/1 60/170/285 b B TR X TN B 136K 40K BT BBU+RRU 55 [4.5 = [12/11H
823| izt ; 118.423072 | 34.444282 | 2.16 3 4 17 6 65 38 / 4/5/6 60/175/275 AREEL Bk L W= |BBU+RRU 55 4.5 & [12H1H
824 | izt 119.1561 | 34.99017 | 2.16 3 4 17 6 65 43 / 5/5/12 60/180/270 [E Zs S T X P Sk PG WA 4306240 50KVEIL =1 [BBU+RRU 55 4.5 =2 12/11H
825| izt 119.015308 | 35.050414 | 2.16 3 4 17 6 65 63 / 10/9/5 60/180/310 X R () _udm| iR |BBURRU 55 |4.5] g [12/11
826| iExits Anu\x %‘f%ffhilﬁkxt y 119.1059 | 34.88303 | 2.1G 3 4 17 6 65 30 / 8/8/10 60/180/320 A L AR BBU+RRU 55 [4.5 = [12/11H
827 iz i 135 —iB23 5 4% 118.7906 | 34.50027 | 2.16 4 4 17 6 65 51 / 20/20/20/20 305/0/100/135 ST BBU+RRU 55 |4.5] g [12/11
828| izt 118.7484 | 34.5192 | 2.16 4 4 17 6 65 51 3 12/12/12/12 330/50/140/180 HEE BBU+RRU 55 4.5 & |12/01H
829| iz 118.7705 | 34.48476 | 2.1G 3 4 17 6 65 43 / 6/6/11 60/185/285 BBU+RRU 55 |4.5] g [12/11
830| izt 119.1681 | 34.57308 | 2.16 5 4 17 6 65 51 3 30/10/10/-15/30 | 5/85/270/310/310 BBU+RRU 55 4.5 & |12/01H
831| iz 119.553063 | 34.613967 | 3.56 3 8 17 6 65 23 / 9/9/7 60/190/300 T BBU+RRU 55 |4.5] g [12/11
832| iExit | WkiX % 118.931 35.034 2.16 3 4 17 6 65 45 / 7/6/7 60/200/315 i AR BBU+RRU 55 [4.5 R’ [12/11H
833| Mzt | WRL | ML fHl I “ﬁitul’r;ze # 119.3053 | 34.30112 | 2.1 3 4 17 6 65 35 / 5/5/5 60/210/320 @i’tm&d i rzwmrﬁﬁz%“ ﬂmt AR BBU+RRU 55 |4.5 2 |12H1H
834| iExits | AR W E Gl CER TR 119.3057 | 34.29206 | 2.16 3 4 17 6 65 33 / 6/10/6 60/210/325 Tz FL04L 2 L P 200K 35K BBU+RRU 55 [4.5 R’ [12/11H
835| iz | WirgL EEEEL BB KRR 119.5902 | 34.22777 | 2.16 3 4 17 6 65 40 / 8/7/8 60/250/350 LA éLr,&vmmH Ko ) ,ﬁhmuiz\ BBU+RRU 55 4.5 & [12H1H
836 | iExits | MR i 119.2781 | 34.0595 2.16 3 4 17 6 65 38 / 8/5/9 65/160/300/ i s TR B ST AR BBU+RRU 55 [4.5 R’ [12/11H
837 iz 119.167 34.46 2.16 3 4 17 6 65 40 / 13/7/6 65/180/290  [Aik mitkili \Faﬂuyumﬂﬁém BBU+RRU 55 4.5 & [12H1H
838| izt 118.8378 | 34.55009 | 2.16 3 4 17 6 65 33 3 5/5/5 70/130/220 TR SE15/1 TR BBU+RRU 55 4.5 & |12/71H
839| iz HIEL YY" 119.34 34.082 3.56 3 8 17 6 65 45 / 8/9/11 70/140/300 TLHR A T T AR BBU+RRU 55 |4.5] g [12/11
840 | it HEE Frilidg 118.8252 | 34.41661 2.16 3 4 17 6 65 40 / 5/5/5 70/140/310 HHEE PRl Gk BBU+RRU 55 4.5 & 12§11
841| iz | #ihiX A X_BE FE 118.8104 | 34.8624 | 2.1G 3 4 17 6 65 40 / 15/10/5 70/150/230 X PR bl BBU+RRU 55 |4.5] g [12/18
842 | x| X X _ kM 119.0336 | 34.75069 2.16 3 4 17 6 65 43 / 6/6/6 70/155/270 i 75 6 T A L 5 DO ) 200K BBU+RRU 55 4.5 & 12§11
843 | iz | ERX [ERK_RITHX Tk T 119.528532 | 34.562664 | 3.56 3 8 17 6 65 50 3 3/3/3 70/160/250 734 7 KRR X Tk AR L0215 BBU+RRU 55 |4.5] g [12/18
844 | x| KilgH R LR 118.8301 | 34.50038 2.16 3 4 17 6 65 48 / 5/7/8 70/170/270 [ 3% 25 T A B 55 1L BN 3 7 BBU+RRU 55 4.5 & 12§11
845| izt | WX %’%ﬁ‘r %mma 5 119.058 35.047 2.16 3 4 17 6 65 45 / 6/4/4 70/175/265 X _ il s BBU+RRU 55 |4.5 2 |1201H
846 | iExit | HkiIX 119.1109 | 34.89007 | 2.1 1 4 17 6 65 53 / 9 240 7 W T e X B S L A 4k BBU+RRU 55 [4.5 = [12/11H
847 iz | X 119.1667 | 34.47594 | 2.16 3 4 17 6 65 38 / 6/9/6 70/180/280 P i AT X B A R BBU+RRU 55 4.5 & [12H1H
848| iExits X mrle k* 119.1951 | 34.61627 | 2.16 4 4 17 6 65 54 / 20/20/20/20 315/20/150/230 R4 7165 4 BBU+RRU 55 [4.5 R’ [12/11H
849 | iz | KL o 5 5 JUIB3 S 4% 118.79001 | 34.50195 | 2.16 4 4 17 6 65 54 3 12/12/10/12 0/110/180/310 % M1 B3 B BBU+RRU 55 |4.5] g [12/18
850 | iEzits | WEkiX AT S 119.1398 | 34.83972 | 2.1G 3 4 17 6 65 24 3 3/3/3 70/180/310 T B X AR S R T BBU+RRU 55 [4.5 = [12/11H
851 | iz | WL MERIE BRI 119.276084 | 34.105623 | 3.56 3 8 17 6 65 35 / 2/2/4 70/190/210 TLHAE TR LB E S RITH|  SOK=11%  |BBU+RRU 55 4.5 & [12H1H
852| iExits | MR MR NS 5 119.294683 | 34.130875 [ 2.16 3 8 17 6 65 40 / 3/3/3 70/240/340 HAE RN S PR S] S5KIEIMAENEE [BBU+RRY 55 [4.5 = [12/11H
853| izt | Wx L ey O N L e 119.3194 | 34.33196 | 2.1 2 4 17 6 65 18 / 3/12 70/290 [ HE T i 25 B R O/ 6 BRRZ BBU+RRU 55 |4.5 2 |12H1H
854 | iExits | dEH R UL S 119.3605 | 34.10771 | 3.5 4 8 17 6 65 54 3 10/10/10/10 310/30/120/210 AR TR HAH BBU+RRU 55 [4.5 = [12/11H
855 | x| X | X i s kR T 202_%3 AL 119.1037 | 34.88047 2.16 2 4 17 6 65 36 / 3/3 75/140 Bkt X%z il h Bk B 1 11202_% BBU+RRU 55 4.5 R 12H1H
856 | izt | #nE W E_ G R 119.4816 | 34.48618 | 2.1 3 4 17 6 65 38 / 9/5/5 75/190/280 ST % B U A B T LA BBU+RRU 55 4.5 =2 12/11H
857 | iz 118.8856 | 34.68875 | 2.1G 3 4 17 6 65 40 / 3/3/3 75/190/280 L35 7 T 4% 1R BBU+RRU 55 4.5 & [12H1H
858| izt 119.3227 | 34.72582 | 2.1G 4 4 17 6 65 54 3 15/3/3/3 20/90/200/280 AT I 5 2 5 S R i H BBU+RRU| RZK 7 55 [4.5 = [12/11H
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859 | izt | MR T BTG 119.408084 | 34.623213 | 2.1 2 4 17 6 65 40 / 3/3 80/130 b M T 3 25 (X A — A LK g i = BBU+RRU| K% FJ7 55 [4.5 2 |12H1H
860 | HEzit | =X HERIX_ & XL E A A 119.363722 [ 34.737295 | 2.1 2 4 17 6 65 85 3 3/3/3 80/165 R XBEXELTER HAUE LR [BBUHRRU| KZE T J7 55 4.5 =2 12/11H
861| iz | AKX L7654 IR AT 119.3562 | 34.76268 | 3.56 3 8 17 6 65 62 3 6/6/6 75/200/310 LB A 11 A X 76 A BBU+RRU| K4 FJ7 55 |4.5] g [12/18
862| izt UL 125 1 119.1599 | 34.57737 | 2.1G 4 4 17 6 65 54 / 30/30/40/30 0/40/130/170 PN REAE 12 5 b, AT BBU+RRU| RZK 7 55 [4.5 R’ [12/11H
863| =i | il X _ ] 7 119.1747 | 34.62095 | 3.5G 2 8 17 6 65 35 / 8/6 85/195 i PH DXFT A 15t KA ARG 3SR BBU+RRU K7 55 |4.5 2 |12H1H
864 | iExit | HkiX ki 119.118 | 34.85642 | 2.1G 2 4 17 6 65 18 3 3/3 907180 SRR SR HUE LR | BBUHRRY 55 [4.5 = [12/11H
865 | iz | il 119.0625 | 34.445 2.16 3 4 17 6 65 50 / 5/6/5 75/210/270 PR LN ) g fiiNSE | BBU+RRU 55 4.5 & [12H1H
866 | Exit | AR 119.2002 | 34.43067 | 2.1 3 4 17 6 65 37 / 4/5/7 80/145/270 anxiﬁma‘#xﬂwma ANSERARAE] 40K RS [BBU+RRU 55 [4.5 = (12111
867 | iz urr ?mu/w A 119.1907 | 34.63618 | 3.5 3 8 17 6 65 35 / 9/11/6 80/150/210 g A sk BBU+RRU 55 |4.5] g [12/18
868 | iExit HEINIX_p IRy st 119.03 34.683 2.16 3 4 17 6 65 40 / 3/3/3 80/150/240 T X miﬁ Bk i BBU+RRU 55 [4.5 = [12/11H
869 | iz LS SR 119.2194 | 34.58837 | 3.56 4 8 17 6 65 55 / 15/15/15/15 340/45/100/170 i LB S B BTk BBU+RRU 55 |4.5] g [12/11
870 it Bk X R 119.07 34.8199 2.16 3 4 17 6 65 37 / 6/6/6 80/160/280 Vi 75 o 717 55 M X 777 1B 340 g ) 7 201 Vit =S BBU+RRU 55 4.5 7 12/1H
871| iz | Bl XA ] 119.1791 | 35.01441 | 2.16 3 4 17 6 65 35 / 11/11/8 80/170/300 X b 1 bl GHLUEUIE | BBUHRRU 55 4.5 & [12H1H
872 it | Wm HERE R AUBRIE M g A 119.3899 34.2205 2.16 3 4 17 6 65 35 / 3/3/4 80/175/270 HERE R AUBRIEMEH_ g A Vet = BBU+RRU 55 4.5 7 12/1H
873| izt | WxL iemy 2 O 7 X1 119.455 | 34.33723 | 2.1G 3 4 17 6 65 40 / 5/6/1 80/190/340 HEm i = SR A< 40*-751“_ % |BBU+RRU 55  |4.5 2 |12H1H
874 | Exit | iR AR AE AR O 118.8914 | 34.55545 | 2.1G 2 4 17 6 65 18 / 6/6 907240 ZME T AR B AR B DA R A BBU+RRU 55 [4.5 = (12111
875| x| X *ﬁﬁ‘]’ S LBRAR/NRATIR 119.079566 | 35.05484 2.16 2 4 17 6 65 30 / 6/10 90/240 kX _ G LR NI BBU+RRU 55 4.5 R 12H1H
876| Exits | xR 119.56 34.357 2.16 3 4 17 6 65 40 / 6/10/6 80/230/300 s T i 25 ELPE T BBU+RRU 55 [4.5 = (12111
877| iz | MERL 119.6121 | 34.37474 | 2.16 3 4 17 6 65 40 / 10/7/8 80/230/350 [l £ kL P‘T.njfﬁ/\@nﬂﬁm %4 BBU+RRU 55 4.5 & [12H1H
878| iExits | AR y 119.2768 | 34.25714 | 2.1 3 4 17 6 65 40 / 6/9/10 80/240/330 T i B R EAR UL 4 BBU+RRU 55 [4.5 = [12/11H
870 izt | Mzih | Mzl Al kB £H0T9_k 119.2093 | 34.43887 | 2.1G 3 8 17 6 65 25 / 5/6/8 80/240/345 i Z T 7 MU S 3071<p W% |BBU+RRU 55 |4.5] g [12/18
880| HExits | xR | MERE ERBEBEEM079 119.2093 | 34.43887 2.16 3 4 17 6 65 25 / 5/6/8 80/240/345 8 i =TT = B M ST S 30K ML BBU+RRU 55 4.5 & 12§11
881| iz | AKX R A2 119.3291 | 34.74176 | 2.16 4 4 17 6 65 57 3 6/6/6/6 40/120/220/330 | X1 3 55 IS B % X1 75 AL A 4 s BBU+RRU 55 |4.5] g [12/18
882| iExits | AR MBI =AY 119.4052 | 34.3612 2.16 3 4 17 6 65 43 / A11/5 85/210/280 WHRERET R BRI Eh =R BBU+RRU 55 [4.5 = (1211
883 | itz | #ihiX I DR e 118.9003 | 34.83028 | 2.1G 3 4 17 6 65 43 / 6/6/6 90/150/260 sk kB TR A DR R4 dMmEREE [BBURRU 55 |4.5] g [12/18
884 | kit | HnE R B ARG 119.23736 | 34.42555 | 2.1G 3 8 17 6 65 49 / 6/3/6 90/150/340 |z it < ENPHUI SRR 55 P SRS 4NEE [ BBU+RRU 55 [4.5 = (12111
885 | izt | Wzt L MR 119.2374 | 34.4256 2.16 3 4 17 6 65 49 / 6/3/6 90/150/340 (s 2 BN U FE SEREAR S h ) SLKIE A HREE | BBUHRRU 55 [4.5 2 |12H1H
886 | it | xS B RHRR bR 119.0842 | 34.34806 2.16 3 4 17 6 65 41 / 7/6/6 90/155/340 ST = B FUR IR R AR 25 BBU+RRU 55 4.5 & 12§11
887 | izt | Wzl M 119.0697 | 34.37488 | 2.1 3 4 17 6 65 53 / 5/5/5 90/160/270 s T i 2 B R A< 4 BBU+RRU 55 |4.5 2 |12H1H
888| iExit | AKX TIX_ KN 119.376099 | 34.489601 | 2.1G 3 4 17 6 65 43 / 5/5/5 90/180/270 ERX ARG R BBU+RRU 55 [4.5 = (12111
889 | izt | WErLl EPEE AR 119.1903 | 34.17878 | 2.1 3 4 17 6 65 41 / 4/1/5 90/185/260 TR 2 R 2L 1 R A 7 00 BBU+RRU 55  |4.5 2 |12H1H
890| iExits | AilgE 4 inml‘?}f% k* 118.7501 | 34.51865 | 2.1G 4 4 17 6 65 72 / 30/50/20/40 0/0/180/180 ARG 5126 S 1k BBU+RRU 55 [4.5 = [12/11H
891| iz 119.1561 | 34.59748 | 2.1G 4 4 17 6 65 72 / 15/30/15/30 40/40/320/320 BBU+RRU 55 |4.5] g [12/18
892| iExits | AilEE 118.7435 | 34.54952 | 2.16 6 4 17 6 65 78 / 20/40/20/40/-10/40|0/0/180/180/310/310) BBU+RRU 55 |4.5 = (12110
893| izt | WX Lt PNiEN, ] 119.1171 | 34.8609 2.16 2 4 17 6 65 10 / 3/3 90/275 T X S SUCRGIN Py BBU+RRU 55  |4.5 2 |12H1H
894 | iExits | ilEH IR AL 118.7859 | 34.54385 | 2.1G 4 4 17 6 65 87 / -10/40/30/50 0/0/180/180 IR AL THE BBU+RRU 55 [4.5 = [12/11H
895| iz i 119.1577 | 34.59797 | 2.16 4 4 17 6 65 90 / 15/30/15/30 0/0/180/180 BBU+RRU 55 |4.5] g [12/18
896 | izt 119.1566 | 34.59801 | 2.16 4 4 17 6 65 90 / 15/15/15/20 20/160/210/330 BBU+RRU 55 |4.5] & |12/11H
897 | iz RIS 5\{2%@ 118.7909 | 34.54371 | 2.16 4 4 17 6 65 93 / 15/50/20/50 0/0/180/180 RIFERS 5\{2%& BBU+RRU 55 |4.5] g [12/11
898| izt R I &\:’3 5 FE 118.7909 | 34.54418 | 2.1 6 4 17 6 65 99 / 20/50/30/50/70 0/0/180/180/310 R AT BBU+RRU 55 [4.5 = [12/11H
899 | iz 118.7909 | 34.54489 | 2.16 4 4 17 6 65 99 / 20/50/20/50 0/0/180/180 B s A5 S B BBU+RRU 55 |4.5] g [12/18
900| izt 118.7859 | 34.5449 | 2.16 4 4 17 6 65 99 / 20/50/20/50 0/0/180/180 TS LT SR BBU+RRU 55 4.5 & |12/11H
901 | iz 118.7859 | 34.54443 | 2.16 4 4 17 6 65 99 / 20/50/30/50 0/0/180/180 G 4 A8 S B BBU+RRU 55 |4.5] g [12/18
902 | &zt 118.7451 | 34.55381 | 2.16 4 4 17 6 65 102 / 30/50/30/50 0/0/180/180 TR R4S B BBU+RRU 55 |4.5] & |12/01H
903 | iz 118.7451 | 34.55427 | 2.16 6 4 17 6 65 102 / 30/50/30/50/30/50 | 0/0/45/45/180/180 ARMEH R LR 7 S 1 BBU+RRU 55 |4.5] g [12/18
904 | Exits it H*H S MlO THE 118.7459 | 34.55472 | 2.16 4 4 17 6 65 102 / 30/50/40/70 0/0/35/180 SRR 10 5 1, BBU+RRU 55 [4.5 R’ (12111
905 | iz ARSI R AL 21 B 118.7489 | 34.55453 | 2.1G 4 4 17 6 65 102 / 30/50/30/50 0/0/230/230 MR AR 215 B BBU+RRU 55 |45 g [12/18
906 | iEzits JRIEHE IR #5235 H‘ 118.7491 | 34.55509 | 2.1G 5 4 17 6 65 102 / 40/30/50/50/30 | 305/340/340/0/180 RIS 23 5 b BBU+RRU 55 [4.5 R’ (12111
907 | E=it HEZ AL R PRRE) 119.2645 | 34.43139 | 2.1G 3 4 17 6 65 45 / 5/13/6 90/190/330 [ it T HE 2 B RS BLER ] 4RI 100, BBU+RRU 55 |4.5 2 |12H1H
908 | izt ERuES S e 118.7477 | 34.51559 | 2.1G 4 4 17 6 65 102 / 20/50/20/50 0/120/240/300 ERUESS e BBU+RRU 55 [4.5 = [12/11H
909 | iz AR I S 118.7475 | 34.51756 | 2.1G 5 4 17 6 65 102 / 20/50/20/50/70 0/0/0/0/210 IR S 516 b BBU+RRU 55 |4.5] g [12/11
910 it WEE FEAN 110.3496 | 34.33312 2.16 3 4 17 6 65 40 / 7/8/8 90/250/350 YoLs| /J\ + L = BBU+RRU 55 4.5 & 12§11
911| iz 3 5 119.157 | 34.59859 | 2.1G 4 4 17 6 65 102 / 20/40/20/40 50/50/130/130 i BBU+RRU 55 |45 g [12/18
912| E=its R SRIE BT 5 bR 118.7646 | 34.54481 | 2.1G 4 4 17 6 65 102 / 20/50/20/50 20/20/180/180 [543 it i R i L A [E B 7 5 R ST BBU+RRU| RZK 7 55 [4.5 = [12/11H




